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TG HIIT- |

forgatfcTiaa arqanier & 3MeR W YW 90 YAl & 3Tk UAP COldl 20 QM@ &
ferrau |

&2 J9T AR AEcT 3R f99uee 9lg &bt IIRAT 3T FAAfel W o5 A Bl
IR 3BT & | Sl off & AT 8t B UAT 8l 8 | 3alal fotdiell 31T 37Ue Allecd el feba,
3qe & oRA qer faeel & Mgy Pnfl | 3R FAIT JFAT-JIAT W 31fdre Faelt siifer
ol EU 3@l HTST i IAIRAT TelT Il W dga ac (e | facer wnera & 3o fear off
Pice SIGi Bl Hede BIC-aTelR dlell faal & B $ IR A U I8 AT | 3H W Ida]
STt gd faRTSd 1 | JeTdhT PaaT ol fob 3ol BT SHedIe FTOIR IR B feal A AT faal B
AT 3T H & | STa-od [eal 3ialoll & AR db 3oal Bl P Bt & df 3 W god
3 T Ol & o6 a8 et 3R et 2 3R o1@ 98 3 gaRIaRe 31fy AeAaT Bt 3R
STt & ar 3A 3URudd &E fe oA €1 ade Sit o 37ue ot iR UgH el # & U
ez, Joled 3R AT &l BT YT IR I8 9@ BT 0T (5 NaATDd B AR
3P B 3R bl &t oft BT 3R cAibiornd &l Al 2 |

(@) ¢ BTe~aToIR arcit &<t @1 3merT B-
(%) 3T’ 3 lel- AT 3TJ & ?

(o1) et STt o521 U bt &t @ foRieft o 2
() AP AP TN [E<T b1 &Il b e fare et (@) 3ferd ofioep el |

IGIRT HTIN-2

~

FART qga® oidel &N T &1 I JRa o &, ar 3eel ues 3hd |
Pl folpa AHFS TN | I FHRNY GGz oitdel Bl Yorld B Al Yoo bl



2| W B JAID FH, IAB FAENT Bd FAT b BT IddA acd
IHIBT 3T & | O, T90e, oF1el, FAANdee ool UIedl b o1 &1 QA H 3Moih
Ty IE fen <t & 5 Agw Silaa @ & Refod Sien AR 7 JeEE 34
gld W 3AG JAGE $ U A | off Ak [ofqell IaREIIAyUl BRI HIoM, 3l
gl 3d ARG JAWIU MU 3R 3 uRUeT & & 3FD! Felerar Bl foreriom
fepa i |

3l FAEWYUl deF WRUMNT E-Ucdd AT 30 AT I BT 3Tl & | YD
dod & ol F fao fofda &t €1 weRa el SR AegIW B Sigwal
forapd @z 2 16 Ao I e 3erar WA R & aAifed T uRaniod daft
gl 3 sifedae &, Ao -gd & Yidghd & 3R U [Gbrd Bl SEaedd U
A T Bl &1 Y 0, 3, J6-Hbeu 3R 3cAE U4 ABA & A FAY
Ut [doI-3 W 9¢ WU 3R 37Ue Sildel & (i @l aensi Hul st W
ferr yra sl |

(@) AT BT SI9oaH Ha IHT BT AT AT 8-

(@SR

(@) Terfdeer & faene -

(or) Y 3Mel WR AT R Rz & 9
(@) ‘Taorr &1 ferar wal &ian & (@)3Fd ofides faRau |

3T HToT- 1 (9TeT H08)

-1 ( $5g)

ONON [aY ([N

Yool 1. YIS Bl ATGIcAD dT HIRT fdAeaTan Bl T d U 3! Pl Bl

3eeT DU |

god 2. ¢ 3% o1 WA b A 3T W oA of L, T5 AR T qeH &l
S0 I'Sd BT Bl 3T T BIfoTU |

Yod 3. ‘SCINE’ PeTell & Tedl B A Yo B AR F & d% B FRVMT § 3 B
10T 3 FEHA & ? AP SIoiC |

Yo 4. @l A oed U TH-GAL A 30T [oIhet o1l bt 818 B ANI-A1 fefosetam

oft FASIE Bl B | BTl A PIF < AT IoT B ZA A B Yide BifoTw |

Yool 5. SRR &g




(@) T B T ARA.......oo GRIFSIRIERNY
(&) TE BICTATCITCT v T S0 R A6 2
UIG-2 (GIUee &1 Hiord)

[oel1. © 3(AIDIA YA dlerdlel B HIA Bl YA BId & oA Belell b Jdeal
3HT BT 37 Oldl & 1 UL B Hiolel’ Bealel B 3R U FIE PIAT |

JoeT2. 3MUB IR [Tgedd & o Al A A HIY DA & 3HUel I&T # IR
el

YoeT3. « 3 U WA HE H ;M 3R IT o AGIA Bal A 3B 3MHAT A Tyey
3G ol 1 17 T B B MR TR [Tgea! Bt e JAITS |

[oeT4. 39T TIC PITOIT :
() a8 FAqdTe! Bl a8 33 3T IR A dlel ¥R UTell b IS TGl IS |

(@) et off o Tt & arell @t 3R 3 et 3 gfdeura fovem ot 3ot aTdld
Bl aTet Bl |

UTe-3 (erd srrel are)

Yool 1. BRI UATSD oildel Bl AaTd URTT < U 3efd! Alfelcad fareant
ferfm |

Y912, ¢ T/ Sl AT’ el & YATolel 3N &0 &l 31Ul 91adl & foilaw |

YoeT3. He Y0 of Hal - T8l 3PN &, T8 | U1 & 17 AP a1 arcdd & 2

U9eT4. 31T 3 T PITeIE-

(@) “ 3MToTheT AT SOTE 37ERT BT AT & Id 988 BIoll il & | 37Tell & e ol
(37) “eierm aEr ddam, ATelt erd AN | TH Bt JacT &l &7

ure-4 (1)

ea 1. 9fol & HAT 3, Sefafld & 3 & AI -BeTell b AR U 31 AT Bl
frdgen @ifor |




Y912, ‘Y PETell Pl UGhT 3MUD Fel & Ble-blel A HIT IToel &l & 3T = ?

Y3, T B HHON B AT 3AB i JoIuet Bt Yferesra & r-derelt &
B Bl qddle ATATGID URAYT & JeH & Te P |

G914 ToldelioliRad areolich! Aes Afed TR=T Bifov |

(@)@Bx0T o JqD!....off SIef g 28T & |
(@) 3T A ... ifes T 3rreet E |
Ure-5 (GATferaT G

JoeT1. JaT 3RS & Sildal Bl AL URTT qd gU 3! a3l 3R Afelcad
ferereTatt &1 3ecr Biforv |

yoeT2. ST el I Widuied 3meel URaR 9o 3Mue faar! & aneel uRar A
Hel JTaT & ? vet-fauer 7 IR o |

T9eT3. 3RYLYT RN & 3celTel & AR 3 SATTCdT of &Il 3T fohuy 2

Y94, AYHI ITSIT BIToTU |
(@) e wofaar Ger o auf, oifd 3R qof-wr@Rend feifgq ov-ufser @

el A Ve | | A 3MIeIeTel dHell AMeC |

TG~ 6 (STeTTae 1T

G9el1. ‘WTelEeIor barell & 9ficd bt ATeddhdr U 31Uel faaR e Bifev |
U912, 9SS pi forcon Bl off 2

U913, ‘TTATACI9T PBealell F 3ol B AATST Bl {cbol-lchel JAITIN Bl IHTTchd Thearl

IRAT B | ST N3N B Ulel BaTell BR B GIeabIvT Bl T BT |
Y9eT4. 3M9RT TE BT |
(@) 3ruet 391 @5t M AL oft TR B UebaTel A 3 Bl B |
() Fuelt B Bia B 317w F fpApT B 2 |
1e-7
qoeT 1. ‘mﬁqﬁﬁaﬁaﬁwwa@n%rsﬂmwmmwﬁﬁﬁaﬁﬁ4




RIT BE<TT A8l & ?
[9eT2. SfadIe st UT A Uebs Bbal off 8T & ?

[9eT3. fdrd of 9T 3 3TehY JATST 3N TR & a1 H ol faae T, 3JA 31T Bal
dd JA&Hd © ?

Yoot 4. IR g |

(@) 3B T TDR.....ooovvrvrrrrrrrs FERIA AT ¢ |
(&) cfchel A Moo, SHBR & BT AT |
UT6-8 (3D )

Yo 1. TP BETelt 3 Sefad! of al QAel-a & JHet 3 & o fary &, g o
3T g H &l et T3 afed Pparet Bl ot Tar feT | It ?

yeeT2. ¢ fR-dlY s B} q%E FAR < BT et , YIOT 3R &1l AT Foft o & & |
I A YOTTeH! I”’elTel & AR b 57 el A 31U Pal ddb A&d & ?

Y9eT3. 3MRT TS BT |

(@) ferar arct dadt.... d-efi¥ egetren frerem 7

(&) aram Sff, <f9c & e .. AE eTait Bt A B |
TI6-9 ( HRAdS P oAl B 81 Feball & ?)

Yol 1. HRAg eR¥ds @ oildd Ud ey &1 Afdra uRawr ¢d gu 3ofast amem-et
U2 GebTel SIfeTU |

YoeT2. GAN 29 H BT 3MeR TR ARG of AT PaT & ?

T3, 31Uc 9T & 3rUell o1 & Ioolfdd B’ A oIk Bl T Ay & ? dddATed
Jeat & SAP TR R AR Sifeu |

yoeT4. foT YR ¢a [9aT goidl & el a1 Adball Lol 3T YBR ‘Tegearel el Bl
TATel aTeT &1 ° A TR 3Tel SUAIRIAT & A BRYT Jolel B [T a1 Pal & ?

Y9l 5. JYHIT AR BIoIU |

G I 1 o3 11 ) OO TATAE & Ugan |
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BITIT HTIT- |

Sdd 3d 331 o foTder 3o Il 2 |

ST T AR gl Bl U ghe A

Rifa & er1, JAdT Bt ema-gie A

SIi-87g @, eH-d9T Bl

BIeT MY -8 B

SATCT3N - Setd ofaT &

gdq sfiaet a8t o fotden Fierr vaer 2|
oTU 19 A, qdarel &1 It AR
o3 qiotesr A feait & Jor JeTme
< 9T Pl Jael W al

3TN BT el 37eR &l
ol Bl ofg Hjd-deT &
sdel Afered Telt S fordem o=t Jorer & 11
qTE T & A el Pl Tt TeTell
30T Bl Bl 39T, A et U2 dATedl
q3el, Tie, dleel, R
G 2 Ulcuer I gAY

al Y Pl WY AT

3del Je2 il fop Fotaa amaeior 2|




(@) ‘Sdo 353 301 b qeT 3a1 97 & ? Ul T 3MerT B-

(@) AT gferen @ @ gfe A e B Aae fergatoiag & A fbay ordt B-
(1) SR FATST HIT A el

(2) Si-uifcT &1 He-a7Ta of et

(3) U 3iTHEe T R T 311 A e |

(

4) 337 B 3MIR G AN & He-HTd o BT |

() fereafortora & 2 fohar A1q &1 Adg 30 i A <Tél & |

1) T JTe A JAAT LM BT
2) ST Bl AT 3761 qell

)
)
)
)
(o1) ‘TW &1 3 IS BT FC AARI * Uy # U T’ 3 AT 8-
)
)
3) S el Bl 9T FaTel
)

(
(
(
(

4 g3t Bl Xt B UTA & Sfrell

(@) Rifaa * 20/ & v B-

BIeATI HTIT-2

g1 o & ayor Feft foreft aw STAHATS Pl el dTel,

I Saa-H2 BHee ¢ | d Sat-3dt Hem !
feparemt Sitaer Eaft-eft 3t ford 3 frer ot € @

S gforT 3 e Sl 2 feset o €, oft AT |
JeT-AdeT ATuf B 2 deTh Rl Dt ame

= gforan & fopora ot Aol FIR Pl HUI-BU & |
RaeTan wel &I &l e Ife gael FAbE [Het ar
EARITT THAT-THA & | FABIIAT AqD AT ST |
focfet ot THBA AR Ife garer Fwe forer ar
fepetel 6~ PR @114 2, Tl A BT TGIh?
gar ofer oft fosu e 2 gifep! 31Ul Fel-auor &
TG ATqe T o 37 | yfafdfea S anead & |
sdldl-ecldl <adl vl

forarept et ofiet amorat & |




(@) Bfd B AR Sitae =1 8 ?
(&) 3MeRT e BT~ ‘EFAT AT THT-TH & I

(o) Rerctar et otrel &1 ST 3 i aoT dEeT dAredT & 2(@) TS # et ower * @
3T FLT PifoTU-(T) FLAT Bl 3T AT BT IUATT [ YBR Bell AT ?

BIST FUS : — (37 AT - 1)
U - 1 (@dR)
Yo, BeR B Silde Bl Aleld URET Id U et Aielad fadwarst w

o
UPI sllefU |

Yo 2. 3 U A 3feld g, ofifd, FAEd AR AU B o w|d g, fohg
PR f&g 3R FAGAE B & aa R FA & ?

Yo 3. BaR forool Ad W & H(d &1 3R Ig U (T 3mal FAL &)
JPR UH Pl 3N Jbd Bl &1 T I & 3Ud far foraw |

Tod 4. “Bid TS S’ Bl Y9 BalT b AHAS ff &7 & ST dE Bl Y9

3ol JATST & Al & ? A& Aled IL BT |
U9 5. AU AT BIOTT |

@) 3 BT AGA A& & UL oo Pie IS & A

s - 2 ()
YoeT1. WX d oilged BT AleWd UG d gU 3o9d! Aleicad [duamsi

UhT9T S1eTC |

goal 2. YT YR AR AT & Mg Bid & - AERD IE BT |
g 3. R aw earafer ¥ F=h &1 @ 3mew F o
Yo 4. YA B K - HIGaT B AU F fodge Bw

g 5. SiGW W el B Yod fober - fper wUT # gfeonar gar F ¢

YT 6. ‘PW B Jollel Dells’ FT Hal Al & ?
Tod 7. o UTRIAT BT BIlcT - AT T DIolU |



2?

@) Jed A B BB AT
g BN oid Sed, wad & Bd da At
@) s s Joma weie, RIReR aR aamafd |
MY UG 3fER Aowll W, R Yeold Ugjerard |
s - 3 (<)
Yoel 1. ‘WAR’ AdA F 6 YBR & YPR B RART AR B 3T Adbd

Fod 2. ABleld AAAT - Bidd b 3NMYR W g Pl BT - AW G Aid

femgoft fora |

yedT 3. Bl @ A AdY A Fabd RN B perar & auia U ol |

Hfou |

27

Yo 4. FUAT Biad H [BA YA P qUS F3T & 7
U9d 5. ‘e @ GOt AS A BT Br G MY & ?

Yo 6. od B IWRI gHRAT 3R AP JAIRY R [HF JoR @ e

[T 7. 3N T BIfoTC |

@) R e o forn &R o &R

(@) T AT AT H ST AT SOl A
() wfed sfen, gt q®, Jm aifEd
e - 4 ()

Ted 1. Aaplciel Bid UGHIB off bl Aeicdd [dvdn aarsu |

goaT 2. ‘3P B IR - IR angla A 3ref F Fwn ffdrear 3w g2 Eo

goel 3. Blcll ® AWM T AR e Id [BA YBR WM & AWR H T

OlaT 29 US & 3MIR TR feiheu |

Yo 4. Bid of Add kG BI [hel - {ha [qAWATST Bt T ATl IHVA



fopar B2
goo 5. Jc ARd IARRT Bifolv |

(G2 LA 11 A Bld & 0|

)BT 12 o A aife &ea ol
Tl |

a6 - 5 ( e Ud)

1 2o S 2 3 ) o e 21 AU gl faaror dfem @ aed

q Bl PA FAST Bl 3N Adbd BT WT & ?
yoel 2. ATATGIG AATIAT Bl Bld B Poual [ dWE SN &g & ?
U9el 3. MU HA DB AN o A B BT R 3MAT 2 ?
U9a 4. Taerarai &1 saT e’ A BiA B F&AT AT B ?
god 5. Uil o oid oicdie A fdfgd A bid &T =T 39T & ?

Yo 6. G D BIC - A Ad B NAARC B [bal - el IuBWN AR
Sifdrerad fepar oram 9

YoeT 7. 3T WL BT |

@) areyo, dud A, 9AHH/RRd 9ad W ek |

@) wfe @@, s & dRUAESt O B §H Boidl B
(@n) g3 3TB T B s 39T eIt ST |
U - 6 (FEedt aa)

Yo 1. FEQd! IAT B ildel Bl URTT <d §U Al IWGN3N Td Brerd
faQroarati W grer ST |

o 2. BR A a9 T e, Bl faear iy & vod 3R dusk
& el TIOdT3n @l Feedt adt o ifhd fhAT & ?

U9 3. UE Biadl AUl Bl AT & olcid Bl A &’ - ST Bl A 3T

Bl db JeAd & ?

10




Go 4. HET b 913y Bl barpt U e - fba gdil & dAegd A &
fopar B 7

Yeel 5. Biadl # ‘3eRal Ja'@ Aded fbaAd U 3R o= T 7

Yeel 6. AUA Bl AT HU H GIcldl B (o0 Pl of [hel Jemel qoi ey
B AHA B Bl Bl & ?

T9el 7. YA R BIoT |

(@) TR FST BT FAME oo ST gEdl §T S|
@) a0 - dRB - AT FMSd GABA oo ®dd 8, fUder ?
UG - 7 (efog 9re)

qoeT 1. TN @t 3ifelgT A A BfA BT R NI 8 ?
god 2. PR A AT UT ST dbBe R cdl B2 JSE DI |

Yo 3. HigdT B MR T IA1SU b B @ ge F aee &1 3y ofiqdt
gE A 3t erae @t B9

[oel 4. 3ideigell @ 3P0 A 3Gl of dH Bl & Ut & Ul & 3ideider’
3 dH D P A Ffa b1 F@r a9

[oel 5. Hcelldl b IEIA & oilal & ?

U9 6. ToldeliolRagd Uldaell &l Hd - ACd I BifoTT |

@) T - T G HIBT .oovvvvvvv 3ME 9AGE & ad dIEe!

(@) @ac e deodT & ad, Hel 3ardciue H e !
(@) 3 oEl 3T, 9 BacT 3N B 3MES 3Tt B!
ulE - 8 (Aee)

Yol 1. ‘Ued B R <M Y BiAaT B MR W ANGe B AT - Acf
T Y1l BieTU |

god 2. Bid AT fbA Bad 22 Bladr o b Bid - JT Bl Jcois b
2? 11




Yo 3. Hiaal & A UPld - FE0 U9 o - Silde Bl 3o @l &
fetrau |

Yo 4. A Hiaar & Fedll d Aled Fw B sifaRad iR fber gedt @
fersror o arem 2 2

goa 5. ded AfEd == G|

@) g TT BT FINT AT e, 3OT-FareT Fafvie ¥R |
(@) & TEA WG T R oo Sl @, d& BId dbiedd |
ue - 9 (diwid aa)

yedT 1. Sidid 9Al B Siide P Al URTT od FU 3B B (A3
TR GBI ST e 3efdh! U WIS Bl ddlceisiel dbifory |

Yo 2. ‘AW RN AT & ?° Ul & forfdd @npw e @ifem |

U9 3. HIY D A A BXAGY BT BT FTqT Bl AT 9T BT Fh

27

yed 4. FRAT B TRGY ygfd A T@U W B U WA TALT TR

g - Bfaar @ gfe & wd gu 3men wid Rfsw

U9 5. I BiIdl H oA YR P aIdiaRvl &I 3IcoiF &, 3 RaAfd &bl @
Bed 2 ? 9 AN 29 o vt Refd @ gem B0

b9 6. fordafaiiad draa-ufdaal & fofed dra-3died W< Hifeu |

(@) DS Bibdl dB TE oo oT o B U]
@) DS ABAT B AB oo dba B Rae o da S|
UG - 10 (gid)

ToeT 1. TA &H WOl B,..... FND &H UAT IRT & A Pid Bl FT 3N
22 3R 3R B a dT ol 3R Bd o8l ald ?

Tod 2. Bid o A BT & UG oSl 3ME B Tl B 2 oldd! 3AS IR
aﬁs?sﬁaﬁarﬁaw%m%,ﬁaﬁaﬁsﬁ?ﬁﬁﬁm%%mﬁsﬂ?ammu
Td BT W B9




yoeT 3. ‘W A AR Figar B AR W gfHA B ooy et W Aferd
feoft faRau |

yoal 4. TRd Fod FEr- BT & Ao U Bl - A faqerr & oy
MR Red ot @l Fad |

Goel 5. HAl Bt 3ME DI dI-IHT B 9 D @l UG UleU PBaEhI bid o Al
& 5 Rafy @ 3w Jda e 29

yed 6. Hld W BT |
@) a2, afea Fgod & 2

() 3R &H 3" F[ A aar off ol el Ud B EH A TH e
gAad 3R W B eIl arl B Ferd |

3feIet (T Bis)

e - 1 (38 B Testd)

YoeT 1. AlEd ABY B oildel 3R AT & [qua & AU & faaw|
U9d 2. 32 B el Uil A @I YT ferdr 2 ?

Yo 3. AIPR Bl gIUG o B Bl dellicis Jardel! 3R Tg-gofoll B
U B FAE B WS Dlel—A BRI § 2

U9 4. S UDHBl # oiWd I badll diadl & ?

Yo 5. ATWRD Yo -
@) T TR oAl O & B o TS B 313 &

* g BI [BABT 7 TH BAA P AAA A TE VAT R BE Wl & ?
aqar feaa! e fadvar & IoR & W B

¢ 3T 3T BHALT P [BA bR IFd & ? Js Ul 3MUH! I U0 T
2?

Goel 6. 3i2 Tl “dedbidl Adia’ Uear anfe et dcul & oroid ot 2 e
A ded D U Feo fBUBT B F1 wl P MU IBl SHIE Bld dl T BW? 3




ue - 2 (@Ser & difder ¥me)

Y91, TIED edlold BAIPR & - A 3McABAT H JIA Ueel Ig Pal
3genfed Biar 8 ?

G9e 2. Doll & Uid 9N Pl olRdl U &I AT ? IWA 3 I dedd
3T 8P

Y9el 3. IATU ABYA o Ue Tefel Bl ABT (A YR qd a2

Yoel 4. TOR-TRIR & PR Il 3R ddie bl & 3MUDI Dle-AT dIahl
Te 8 3R R®A 2

yoel 5. HeAUID Ued -

¢ HITA BT TATH STAAT oo 3ehe 3T I |

(@) 39 ureier # A a9 & O & WM 27 3D IHed F A HA AAT
ST 8 ?

(1) zud AP @I B [AAWAT &1 U geadr &2 @ 3y H I FQivan
g?

yeel 6. el YR AOIR H fobee, Al oI gabrel JordTg ?
Ue - 3 (3maRT Rt

goeT1. ‘3ART FAE UG B MR W oiHd W] UHIG Ud RAE &
BT B TR o |

goaT 2. “fe a9 Ugel BT TET el FB AR YBR BN AT AP of VAT
el ?

[oeT 3. TOUT H 9Rd B R Mip A ? IFb Jef SHH HA A Pd
7

Yo 4. 3W [AY IE A Al Bl Fbal AT Bl AW B §H UgA B
aretrar off AecT P Pl 3R 39T & Abdl &1 oiWd o UAT R bal ? 3D
feR & I & da-da T 329 & Jhd & ?

URel 5. Ui URel -

14



¢ i oy oft BH TE AT o, BIH 3707 o8 TG T |
@) g foua Al qg & ard & E 22 95 AR [ yBR & e ?

(@) gulad ueiyr ¥ ORI B A Fe: Rl & uar actar & 2 s faar
# w7 U AT offdd & JABol & UIdr 8 ?

sfdeidd 3R FeEd (T JAR B Y IRT 4ea)
yoel 1. AR FT g ? Temmd fpforw |

*

Rl

Rl

Rl

YRl

YRl

YRl

YRl

YRl

Rl

Rl

Rl

Rl

Rl

Rl

*

2.

3.

4.

5.

6.

T.

8.

9.

AR fea dct & forr ofd 22

TSGR T 8

IFAR T F 2 Temiva fhfTw |

Bledd I =T HYY 2 ?

Uelbiigal I T dlc & ? 3¢TE0 SHHT AAISU |

TRINIG BT & YA AATR drdd Bl ofld Idsu |

SelAde & dddTel Ydiold U dlo—dbled A & ?

AR # Cofifdotel B YT BT Fg ?

10. Rd # AR UG WAMRG ABb 3R dlctdl fhed B oH FATSC |

11. {9y oRger F T 3Mmey 22

12. Jfed AeId B o e g 2
13, TR & ‘@ A & a2 92
14, TS el w29

15, JUed &1 =T 3rf 2P

ad 3AT g
godl 1. JUled P RAIgial W UbrT Sielv |
U9el 2. SRR B BRI Bl 3coid JT A fBfoTU | 15



[od 3. Scleic HAAH B U Pl TR A JHASMST |

Yo 4. UIBR fbdel YBR B Bld & ? dew # faaw

yeel 5. Aled youmel, FeA qar <o dioe B BRI Bl HAJIC |
god 6. flc ATIA B VAN g ol B [TFAIR A JTSST |
goet 7. foriiciiyid W U 3fqa@s [dau| (@l Uh)

(@) Sexie

(31) FARR oA
(or) Ryetarm
(Er) caftferotet

ToeT 9. BaR T 27 Ub 3B Blad & faouard fofsmw
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Main Najafgarh Road, Vipin Garden, New Delhi-110059
Formative Assessment -I
Class - Xi"

Subject-English

1. Read the passage given below :

1. No student of a foreign language needs to be told that grammer is complex. Bx
changing word sequences and by adding a range of auxiliary verbs and suffixes, we are
able to communicate tiny variations in meaning. We can turn a statement into a question,
state whether an action has taken place or is soon to taken place or is soon to take place,
and perform many other word tricks to convey subtle differences in meaning. Nor is this
complexity inherent to the English language. All languages, even those of so-called
'primitive’ tribes have cleaver grammatical components. The Cherokee pronoun system,
for example, can distinguish between 'you and I', 'several other people and I' and 'vou,
another person and L'. In English, all these meanings are summed up in the one, crude
pronoun we. Gramma is universal and plays a part in every language, no matter how
widespread it is. So the question which has baffled many linguists is- who created
grammar ?

2. At first, it would appear that this question is impossible to answer. To find out how
grammar 1s created, someone needs to be present at the time of a language's creation,
documenting its emergence. Many historical linguists are able to trace modern complex
languages back to earlier languages, but in order to answer the question of how complex
languages are actually formed, the researcher needs to observe how languages are started
from scratch. Amazing], however, this is possible.

3. Some of the most recent languages evolved due to the Atlantic slave trade. At that
time, slaves from a number of different ethnicities were forced to work together under
colonizer's rule. Since they had nu opportunity to learn cach others languages, they
developed a make- shift language called to pidgin. Pidgins are strings of words copied
from the language of the landowner. They have little in the way of grammar, and in many
cases it is difficult for a listener to deduce when an event happened, and who did what to
whom? Speakers need to use circumlocution in order to make their meaning understood.
Interestingly, however, all it takes for a pidgin to become a complex language is for al7
group of children to be exposed to it at the time when they learn their mother tongue.



Slave children did not simply copy the strings of words uttered by their elders, they adapted
their words to create a new, expressive language. Complex grammar systems which emerge
from pidgins are termed Creoles, aid they are invented by children.

4. Further evidence of this can be seen in studying sign languages for the deaf. Sign languages
are not simply a series of gestures; they utilise the same grammatical machinery that is found in
spoken languages. More over, there are many different languages used worldwide. The creation
of one such language was documented quite recently in Nicaragua. Previously, "a deaf people
were isolated from each other but in 1979 anew government introduced schools for the deaf.
Although children were thought speech and lip reading in the classroom, in the playgrounds
they began to event their own sign system, using the gestures that they used at home. It was
basically a pidgin. Each child used the signs differently, and there was no consistent grammar
However, the children who joined the school later, when this inventive sign System was already
around, developed a quite different sign language. Although it was based on the sign of the
older children, the younger children's language was more fluid an compact, and it utilised a
large of grammatical devices to clarify meaning. What is more, all the children used the signs in

the same way. Anew Creole was born.

5. Some linguists believe that many of the world's most established languages were Ireoles at
first. The English past tense-ed ending may have evolved from the verb 'do'. 'It ended' may
once have been 'It end-did". Therefore, it would appear that even the most widespread
languages were party created by children. Children appear to have innate grammatical
machinery in their brains, which springs to life when they are first trying to make sense of the
world around them. Their minds can serve to create logical, complex structures, even when
there is no grammar present for them to copy.

1.1. On the basis of your understanding of the above passage, answer each of the questions
given below by choosing the most appropriate opinion:

(a) In paragraph 1, why does the writer include information about the Cherokee language ?
(i) To show how simple, traditional cultures can have complicated grammar structures.

(ii) To show how English grammar differs from Cherokee grammar.

(ii1) To prove that complex grammar structures were invented by the Cherokees.

(iv) To demonstrate how difficultitis to learn the Cherokee language.

(b) What can be inferred about the slaves' pidgin language ?

(i) It contained complex grammar.

(ii) [t was based on many different languages.
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(iii) It was difficult to understand, even among slaves.



(iv) Jt-was created by the land-owners.

(c) All the following sentences about Nicaraguan sign language are true EXCEPT :
(i) Thelanguage has been created since 1979.

(ii) The language is based on speech and lip readings.

(iii) The language incorporates signs which children used athome.

(iv) The language was perfected by younger children.

(d) Which idea is presented in the final paragraph ?

(i) English was probably oncea creole.

(i) The English past tense system is inaccurate.

(iii) Linguists have proven that English was created by children.

(iv) Children say English past tenses differently from adults.

1.2. Answer the following question briefly :

(a) What is very much common to all the languages ?

(b) How can we trace who has created grammar

(c) What can be attributed as a consequence of the Atlantic slave trade ?
(d) Whatis pidgin ?

(e) Whatare creoles ?

(f) Why does the auther say that even the most widespread languages were party created by
the children?

1.3. Find words from the passage which mean the same as the following:
(a) set (para5)

(6) complicate (para3)

2. Read the given passage carefully:

1. In the democratic countries, intelligence is still free to ask whatever question it chooses.
This freedom, it is almost certain will not survive another war. Educationists should, therefore,
do all they can while there is yet time to built up in the minds of their charges, a habit of
resistance to suggestion. If such resistance is not built up, the men and women of the next] 9
generation will be the mercy of that skillful propagandist who contrives to seize the instruments



of information and persuasion. Resistance to suggestion can be built up in two ways. First,
children can be taught to relay on their own internal resources and not to depend on incessant
stintulation from without. This is doubly important. Reliance on external stimulation is bad
for the character. Moreover, such stimulation is the stuff with which propagandists bait their
books, the jam in which dictators counsel their ideological pills. An individual relies much on
external stimulation there by exposes himself to the full force of whatever propaganda is being
made in his neighborhood. For a majority of people in the west, purposeless reading,
purposeless listening in purposeless listening to radios, purposeless looking at films have
become addiction, psychological, equivalents of alcoholism and morphinism.

2. Things have come to such a pitch that there are many millions of men and women who
suffer real distress if they are cut-off for a few-days or even for few-hours from newspapers, radio
and music or movie pictures. Like a addict to the drug, they have to indulge their vice not
because of their indulgence gives them any real pleasure but because, unless they indulge they
feel painful subnormal and incomplete. Even by intelligent people, it is not taken for granted
that such psychological addictions are inevitable and even desirable, that there is nothing to be
alarmed at in that fact that the majority of civilized men and women are now incapable of living
on their own s spiritual resources, but have become exactly dependent on incessant stimulation
from without.

3. How can the children be taught to rely upon their own Spiritual resources and resist the
temptation to become reading addicts, hearing addicts, seeing addicts? First of all they can be
taught how to entertain themselves, by playing things themselves, by playing musical
instruments, by purposeful study, by scientific observation and by the practice of some art and
so on. But such education of the hand and the intellect is not enough. Psychology has its .
Gresham's law. itis: that bad money that derives out the good. Most people tend to perform the
actions that require least efforts, to think the taught that are easiest to fill, the emotions that are
most vulgarly commonplace, to give rein to the desires that are most nearly animal.

4. And they will tend to do this even if they possess the knowledge and skill to do otherwise.
Along with the necessary knowledge and skill must be given the will to use them even under the
pressure of incessant temptation to take the line of least resistance and become an addict to
psychological drugs. Most people will not wish to resist these temptations unless they have a
coherent philosophy of life, which makes it reasonable and right for them to do so. The other
method of heightening resistance to suggestions is purely intellectual and consists in training
young people to subject the diverse devices of the propagandists to critical analysis. The first
thing that educators must do is to analyze the words currently used in newspapers, on platforms
by preachers and broadcasters. Their critical analysis and constructive criticism should reach
out to the children and the youth, with such clarity that they learn to react to forceful
suggestions to right way at the right time.
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2.1. On the basis your understanding of the above passage, answer the following questions



by choosing the most appropriate option:
(a) The majority of people in the West are becoming an addict due to:
(a) purposeless propaganda (5) use of narcotics and alcohol
(c) external stimulation (d) external persuasion
(d) What should we teach our children ?
(a) never to be apres to propagandists (b) to rely on their own internal resources
(c) to keep away from stimulation (d) to from the habit of self retrospection
12, Answer the following questions briefly :
(a) Whatis 'Resistance to suggestion' ?
(b) Why and when do most of the people come under distress ?
(c) What is Gresham's law ?
(d) What ts the job of an educator
(e) What should we teach to our children in the beginning
(f) Who is an addict ?
2.3. Find words from the passage which mean the same as the following:
(a) continuous (paral)
(b)believe (para 3)
3 Read the following passage carefully:

1. Learning more about yourself is an important first step in creating balance in your life. Itis
easy to get caught up in the fast pace and pressing schedule of our busy lives. We lose sight of
what is important to us, what we want to accomplish. May be you have always been this busy.
Going from school and college to your job or career. Never really taking the time to get to know
who your are, what you like and dislike and what areas you would like to strengthen in your life.
Where you would like te gu next and what new things you would like to learn and experience.
Being clear about who yuu are, will help you to make better choices, choices that will positively
impactvour future. There is a lot of emphasis in popular business books on how to set goals, run
your business, advance vour career. But there doesn't seem to be much emphasis on finding out
who we are, what we really want and why we want it. The experts tell usit's important to have a
business plan to start or grow our busi.ess. It's a tool to see where your business is and how youry |
business is being headed.



2. Listen, look, touch and smell all that the world around you has to offer. Trust that your
feelings are the right guides for you. Notice all the should and have to that come up everyday.
Are these really important to you? Can you change the circumstances that make you feel this
way ? Take a moment, sometime everyday just for you. Just sit or stand quietly and pause. Take
several deep breaths and take a moment to be still. Don't do anything, just !"ke hold of that
moment for yourself and do absolutely nothing.

3. Asyou get to know yourself better and bring your life into balance you will realize that you
are a unique and important person. Your life has a purpose, everything that you say and do
matters. Believe in yourself, be proud of who you are and what you have to offer to others. You
are exactly where you are supposed to be. It is always good to write something. It not _ only
helps you in planning your career but also keeps you updated about yourself. Whatever be the
circumstances, don't be panic and always try to relax. Remember, getting nervous 1s not the
solution. Learn to enjoy your work.

(a) On the basis of your reading of the passage make notes on it using a suitable format. Use

recognisable abbreviations wherever necesary. Give a suitable title to the passage.
(b) On the basis of your reading of the above passage, write a summary in about 80 words.

Q.1 The student's council of your school has organised an excursion to Ajanta. And Ellora
for the students of class XI and XII during winter vocation. As the President of the council,
Write a notice not more than 50 words telling the student about this Excursion and inviting
them for joining if you are Akhilesh /Arpita.

Q.2 The Electricity Board has decided to install the new electronic meters in your society.
Write a public notice in not more than 50 words to inform the resident in this regard. You are
the President of Residents. Welfare Associations Mayur vihar Phase I11.

THE PORTARAIT OF ALAOY

1. Describe the narration's grand mother's life in the village in contrast with kind of the life
sheled in city.

2. Give a character sketch of narrator's grandmother.

3. Would you agree that the author's grandmother was a strong person in Character? If yes
give instances to show this.

4. Describe the narration's grandmother life in the village in contrast with kind of the life she
led to the city.

5. Which moment to the day used to be the grandmother?

6. “We protested but she ignored our protest”. Who protested and why? 22



7. Narrate the why in which the sparrow expressed their sorrow when the author's
grandmother died.

8. How does the author describe his grandmother?

9. Why was the grandmother disturbed with the teaching in the English medium school?
10. “that was the turning point in our relationship” What was the turning point.
"WE'RENOT AFRAID TO DIEITF WE CAN ALLBETOGETHER.
1. List the step taken by the captain.

a. To protest the skip when the rough weather begin.

b.To check floating of the water in the skip.

2.Whatwas the first indication of the disaster?

3. What happened with sue &. What did she do?

4. When/ whet preparations did the narrator make for voyage?

5. What happened on the morning of 3rd January?

6. Describe the boat "Wave Walter".

7.How was the weather on 2nd January?

8. What happened after the ominousssilence?

9. Describe the story we' ra notafraid to Die. It we can all be together?
10. Why did the captain take on two crewmen with them?

The SUMMERS OF BEAUTIFUL WHITE HORSE

1. Write down the character skater of the following;:-

a. Aran b. Mourad c. Uncle khosrow d. John Byre

2. How did Aram justify Mourad's act of stealing?

3. What were the Characteristics of the Garogholanion family?

4. Could Aram learn to ride the horse?

5. Who visited Aram's house the afternoon after Aram rode the horse?

6. Why did Mourad steel the horse and what made him return it to its rightful owner? 23
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1. Read the given passage carefully :

1. We have been brought up to fear insects. We regard them as unnecessary creatures that do
more harm than good. Man continually wages war on them, for they containimate his food,
earry diseases or devour his crops. They sing or bite without provocation. They fly uninvited
into our rooms on summer nights, or beat our lighted windows. We live in dread not only of
unpleasant insects like spiders or wasps, but of quite harmless ones like moths. Reading about |
them increases our understanding without dispelling our fears. Knowing that the industrious
ant lives in a highly organised society does nothing to prevent us from being filled with
revulsion when we find hordes of them crawling over a carefully prepared picnic lunch.

2 No matter how much we like honey, or how much we have read about the uncanny sense
of direction which bees possess, we have a horror of being stung. Most of our fears are
unreasonable but they are difficult to erase. At the same time, however, insects are strangely
fascinating. We enjoy reading about them, especially when we find that like the praying matis,
they lead perfectly horrible lives. We enjoy staring at them entranced as they go about their
business, unaware we hope) of our presence. Who was not stood in awe at the sight of a spider
pouncingon afly. ora column of ants triumphantly bearing home an enormous dead battle.

3. Last summer, I spent days in the garden watching thousands of ants crawling up the trunk
of B ray prized peach tree. The tree has grown against a warm wall on a sheltered side of the
house. I am especially proud of it, not only because it has survived several severe winters, but
because it occasionally produces luscious peaches. During the summer, I noticed that the leaves
of the tree were beginning to wither. Clusters of tiny insects called aphids were to be found on
the underside of the leaves. They were visited by a large colony of ants which, even though it
failed to get rid of the ants, kept me fascinated for twenty-four hours. I bound the base of the
tree with a sticky tape, making it impossible for the ants to reach the aphids. The tape was so
sticky that they did not dare to cross It.

4. For a long time, I watched them scurrying around the base of the tree in bewilderment. I
even went out at midnight with a torch and noted with satisfaction (and surprise) that the ants
were still swarming around the sticky tape without being able to do anything about it. I got up24
early next morning hoping to find that the ants had given up in despair. Instead, I saw that they



had discovered a new route. They were climbing up the wall of the house and then on to the
leaves of the tree. I realized sadly that I had been completely defeated by their ingenuity. The
ants had been quick to find an answer to my thoroughly unscientific methods!

1.1. On the basis of your reading of the above passage answer the following questions from
the given options:

(a) People on carrying a war against the insects because-

(i) These harm us (ii) These disturb our peace
(ii1) These crawl over our food. (iv) These sting us.

(b) Which one isa harmless insect ? -

(i) Spider (i1) ant

(iii) Wasp (iv) moth.

(c) Ananthasaspecific quality :

(i) To live in an organised society (i1) Never to sting without provocation
(111) To follow its workers (iv) To eat, drink and be marry.
(d) The writer formed his peach tree as "prized" because-

(1) It has survived several winters. (i1) It is a store-house of ants
(iii) It gives honey to the ants (iv) It produces luscious fruits.
1.2, Answer the following questions briefly :

(a) Whatis our attitude towards the insects ?

(b) Why do we try to exterminate them ?

(c) Why does the author say that knowing about the insects does not keep a man to change
his attitude to insects ?

(d) What made the ants visit the "prized" peach tree of the writer ?

(e) Why did the ants have to find outa new route ?

(f) Whatis very specificabout the insects ?

1.3. Find words from the passage which mean the same as the following :

(i) making somebody angry (paral) 25

(i1) Skill and cleverness (para2)



2. Read the given passage carefully :

1. All of us do some kind of work to ward off our starvation or to gain sufficient material
wealth with a view to maintaining that standard of living which our physical and intellectual
powers have helped us to reach. But there is another kind of work which is completely divorced
from the burdensome process of our livelihood and which is undertaken for the sake of
amusement or interest or the direction of our surplus stores of energy in some new and useful
channels of refined tastes. This delightful occupation, combining work with pleasure or hobby,
as it is properly termed, calls for the application of our highest faculties and gives proper form to
our healthy instincts, purposeful habits and disciplined behavior. In our carefree and vacant
hours, it allows these faculties to perform their natural functions and to display their instinctive
greatness. We devote our leisure to the pursuit of this pleasant task and derive advantages which
compare favorably with those we obtain from the bread earning routine of our daily life.
Hobbies widen the sphere of our cultural activities, give refinement to our tastes and show us
the path that leads to our systematic mental and moral development. Our tendencies and
inclinations also find in them an outlet for a healthy and progressive expression.

2. A hobby is a favourite subject or occupation that is not one's main business. In this age of
machinery which has taken upon itself most of the laborious duties of physical exertion
formerly performed by man, thus creating for him pleasant intervals of rest and leisure, it
should not be difficult for him to devote sometime to the pursuit of a new interest that can add
some charm, colour or zest to his life. The spare time must not be frittered away in idleness or
spent on such work as overtaxes his mind and body after they have performed their normal
functions for the day. The new interest will be worthwhile only if it provides relaxation and
change from ordinary occupation, banishes the drabness of routine work and produces a
feeling that life is both charming and meaningful. 3. The choice of hobbies like the choice of
books for purposes of reading, is not an easy task. Some hobbies demand a little guidance from
experienced persons. Our sudden attachment to them without the backing of this preliminary
knowledge may result in wasting of our resources of time and money, and in the end compel us
to abandon them. Some hobbies are rather expensive, and therefore beyond the means of
ordinary people who can ill afford to spend large sums of money on them. Not a few are
incompatible with our temperament and taste. We must not, therefore, allow the glamour of
certain hobbies to blind us to their reality, howsoever tempting they may appear to us, nor
should we begin to cherish them thoughtlessly because we find other people so devotedly
attached to them. In the first flush of enthusiasm, many have rushed into unsuitable hobbies
only to find themselves turning away from them in a state of great disillusionment. In a few rare
and exceptional cases, a sudden and instinctive choice of some hobby sometimes proves to be
the right one. We must not, however, forget that tinkering with the hobby is a joyless and
wasteful process, unattended by any appreciable gains. Scattered interests in half a dozen or
more odd hobbies is also nota desirable end. 26

2.1. On the basis of your reading of the above passage, answer the following questions by



making a choice from the given options: :
(a) We remain busy in doing some kind of work in order to:
(1) have material wealth (ii) remove starvation
(iii) have happiness and to pass time (iv) All of these/None of these
(b) A hobby is the best source to:
(i) havean outlet for our hidden expressions
(i1) interact with great personalities .
(iii) remove slackness from our minds
(iv) abandon bad habits
2.2. Answer the following questions briefly :
(a) Whatis a hobby according to the writer ?
(b) Write two best advantages of a hobby ?
(c) Why should one be very careful in selecting a hobby ? .
(d) Under what circumstances do we have to discard a hobby ?
(e) How does a hobby refine our tastes ? .
(f) Why is the choice of books for reading is not an easy task ?
2.3. Find words from the passage which mean the same as the following :
(a) separated (paral)
(b) to giveup (para3)
3. Read the following passage carefully:

There are two problems which cause great worry to our educationists - the problem of
religious and moral instruction in a land of many faiths and the problem arising out of a large

variety of languages.

Taking up the education of children, we see that they should be trained to love one another,
to be kind and helpful to all, to be tender to the lower animals and to observe and think right.
The task of teaching them how to read and write and to count and calculate is important, but it
should not make us lose sight of the primary aim of moulding personality in the right way. For
this, itis necessary to call into aid, culture, tradition and religion. But in our country we have, in?’
the same school, to look after boys and girls born in different faiths and belonging to families



that live diverse ways of life and follow different forms of worship associated with different
denominations of religion. It will not do to tread the easy path of evading the difficulty by
attending solely to physical culture and intellectual education. We have to evolve a suitable
technique and method for serving the spiritual needs of school children professing different
faiths. We would hereby promote an atmosphere of mutual respect, a fuller understanding and
helpful co-operation among the different communities in our' society. Again we must remain
one people and we have therefore to give basic training in our schools to speak and understand
more languages than one and to appreciate and respect the different religions prevailing in
India. It is not right for us in India to be dissuaded from this by considerations as to overtaking
the young mind. What is necesary must be done. And itis not in fact too greata burden.

Any attempt to do away with or steamroll the differences through governmental coercion _
and indirect pressure would be as futile as it would be unwise. Any imposition ofa single way :
of li"find form of worship on all children or neglect of a section of the pupils in this respect or
barren secularization will lead to a conflict between school and home life which is harmful. On
the other hand, if we give due recognition to the different prevailing faiths in the educational
institutions by organizing suitable facilities for religious teaching for boys and girls of all
communities, we are rather broadening their views and influencing them of having great

national values.

(a) On the basis of your reading of the above passage, make notes on it in points only, using
headings and sub-headings. Also use recognizable abbreviations, wherever necessary
(minimum four). Supply a suitable title to it.

(b) Write a summary of the above passage in about 80 words.
SECTION - B : (WRITING SKILLS)

4. You have received an invitation to be the judge for a Literary Competition in St. Ann's
School.  Send a reply in not more than 50 words, confirming your acceptance. You are

Mohan/Mohini.
Or
Draft an invitation on behalf of Mrs. and Mr. Ashok Mittal of 73-L, Model Town, Delhi

which they use to invite their friends and relatives on the occasion of getting their daughter
Miss Muskaan admitted in her M.B.B.S course in Lady Harding Medical College, Delhi.
(words limit 50)

5. Lack of job opportunities in the rural areas is forcing people to migrate to cities. Every big
city thus hasa number of slums in it. Life in these slums is miserable.

Write a letter in 120-150 words to the editor of a national newspaper on how we can
improve the living condition in these slums. You are Ishani/Arman of C/S Lodhi Colony2 g
Apartments, New Delhi.



Or

The drinking water supplied to your locality Anandlok Colony, Kanpur has a dirty colour
and foul smell. As a Secretary of the Residents, Welfare Association write a letter in 120-150
words to the Chief Engineer, Water Authority, Kanpur complaining about the problem and

requesting him to take necessary action at the earliest.

6. The rising prices of essential commodities make life difficult for the common man. AS a
concerned citizen, write an Article in 150-200 words on 'Rising Prices'. Suggest solutions to
solve this problem. You are Amit/Anita.

Or

While watching TV what we generally dislike most are commercial breaks, yet, a number of
advertisements do add to our information. Write an article in 150-200 words on
'Advertisements as a source of information'. You are Karuna/Karan.

7. Smoking and chewing tobacco is a very bad habit. You have seen that even some school
students indulge in it to the detriment of their health. Write a speech to be delivered in the
morning assembly advising the students to keep away from this bad habit. You are Bhushan/

Bhavleen, Head Boy/Girl of your school. (Write in 200 words) -
Or

“The policy of no detention till class VIII is not in the interest of students.' Write a debate in
150-200 words either in favor of or against the motion. You are Lalita/Ramlal of XII studying
in Dev Nagar Public School, Delhi.

Read the following extract and then answer the questions that following:-

1. "Some twenty thirty year later  she'd lough at the snap short. "see Betty and Dolly".
She'd say " and look how they Dressed us for the beach ," The sea holiday was has post , mini is
her laughter. Both way with the laboured ease of lose".

Questions 1.

a. Whydid she laugh?

b. b. Explain laboured ease ofloss.

c. C.Why does the poetess say " the sea holiday was has past, mine is her laughter?

I1. "Now she's been dead nearly as many years as that girl lived. And of this circuenstarces

There is nothing to say atall. Itsilence silencer”.
Questions
1. Who does she refer to?
2. What does the circumstances refer to?
3. Explain its silence silence. 29

Q.3 The laburnum top is silent, quitestill In the afternoon yellow September sunlight, A



few leaves yellowing, all its seeds fallen.

a. why is laburnum look silent?

b. What is the season referred to here?

c. What has happened to the leaves and seeds?

d. What s that which is starting about the gold finch?

Q.4 Answer the following question: -

a. What do you like most about the poem?

b. What is compared to a machine?

c. Describe the sound of the gold finch.

d. What does the gold finch do?

DISCOVERINGTUT

1. Describe the king TUT and his family.

2. What was the results of CT Scan?

3. Who found TUT 's mummy? What problem did he face?

4. How are Carter's investigation was resented why?

5. Why was Zahi How ass worried? How did he get rid of his worry?

6. Who was tha last heir of the powerful dynasty? Describe is brief.

7. Who was hoard carter? What was his contribution?

8. What were the contents of Tut's tomb?

RANGA'S MARRIAGE-

1. How was Rangas's home coming a great went?

2. Who was Ratna? Why did Ranga fall is love with her?

3. Why was the village astrologer roped in by the narrator?

4. What were Ranga's view about marriage?

5. What s so special about the village Hasahalli according to narrator?
6. How was Shyama, The narrator become a match maker?

7. Why do you think Ranga and Ratna named their son after Shyama?
8. What was shastri angry with the narrator?

9. Do you believe in astrology? Is it a hear as represented by the narrator?

10. Do you find a change in Ranga's thinking after he met Ratna?

30
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SECTION'A": READING
Q. 1. Read the passage given below and answer the questions that follow :

20 1. The effects of plastic bags on the environment are really quite devastating. While there
are many objections to the banning of plastic bags based solely on their convenience, the
damage to the environment needs to be controlled.

2. There is no way to strictly limit the effects of plastic bags on the environment because
there is no disposal method that will really help to eliminate the problem. While reusing them is
the first step, most people don't do that. These bags are not durable enough to survive
numerous trips to the store. The best that citizens can do is to reuse them.

3. The biggest problem with this is that once they have been soiled they end up in the trash,
which , then ends up ir the landfill or is burned. Either solution is very poor tor the
environment. Burning emits toxic gases that harm the atmosphere and increase the level of
VOC:s in the air while landfills hold them indefinitely as part of the plastic waste problem
throughout the globe.

4. One of the greatest problems is that an estimated 300 million plastic bays end up in the
Atlantic Ocean alone. These bags are very dangerous for sea life, especially those of the mammal
variety. Any hunting mammal can easily mistake the size, shape and texture of the plastic bag
for ameal and find its airway cut off. Needless deaths from plastic bags are increasing every year.

5. The environmental balance of the waterways is being thrown off by the rate of plastic bags
finding their way into the mouths and intestinal tracts of sea mammals. As one species begins to
die offatan abnormal rate, every other living organism in the waterwavs is impacted.

6. The indefinite period of time that it takes for the average plastic bag to break down can be
literally hundreds of years. Every bag that ends up in the woodlands of the country threatens the
natural progression of wildlife. Because the break down rate is so slow the chances that . the bag
will harmlessly go away are extremely slim. Throughout the world plastic bags are responsible
for deaths by suffocation of woodland animals as well as inhibiting of soil nutrients. The land3 1
litter that is made up of plastic bags has the potential to kill over and over again. It has been



estimated that one bag has the potential to unintentionally kill one animal every three months
due to unintentional digestion or inhalation.

7. While it's a noble thought to place the plastic bags in the recycling bin every week, studies
have proven that there are very few recycling plants that actually recycle them. Most
municipalities either burn them or send them off to the landfill after sorting. This is because it
can be expensive to recycle this type of plastic. It doesn't melt down easily and is often not fit to
be reused in its original form.

8. The premise of recycling these bags is nice. Yet funding for the upgrading of the recycling
units just has not happened and thus less than 1% of all plastic bags are sent to recycling plants
worldwide. Most are left to become a pollution problem in one way or another.

9. There are always alternatives to plastic bags and the search for more alternatives continues.
Paper bags are a possible option but they also take their toll on the environment. The use of trees
to increase the production of paper products will also have a negative environmental effect.

10. Reusable plastic bags are being introduced in regions that want to outlaw the plastic bags
altogether. These are stronger and more durable and can be used for three to five trips to the
store. Of course, the reusable cloth bag is fast becoming a favourite among environmental
supporters. While thus so far no bag is without its issues, still these are the bags that are
currently recommended for use to help protect environmental concerns.

1.1 On the basis of your understanding of the passage, answer the following questions with
the help of the given options:

(i) People object to the banning of plastic bags because they are :

(a) durable

(b) convenient

(c) easily disposable.

(d) useful

(ii) The environmental balance of the waterways is being thrown off because :
(a) theamount of plastic bags is decreasing the water level

(b) the breaking rate of these bags is slow

(c) many species of sea mammals are dying

(d) there are 300 million plastic bags Iving in Atlantic Ocean
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(iii) What do most municipalities do to the plastic bags:



(a) send them off to the landfill

(b) recycle them

(c) clean and send them for reuse

(d) leave them undestroyed

(iv) The best option to replace plastic bags is :

(a) paper bags|

(b) reusable plastic bags

(c) cloth bags

(d) all of the above

(v) What is the first step to solve the problem of plastic waste?

(a) Reuse

(b) Replace

(c) Recycle

(d) All of these

1.2 Answer the following questions briefly :

(1) Why is reusing plastic bags not considered practical ?

(ii) Why is the disposal of plastic bags considered damaging to the environment?
(iif) How do plastic bags endanger the life of animals in te seaand on land ?
(iv) What factors discourage the recycling of plastic bags ? |

(v) How are reusable plastic bags better than ordinary plastic bags ?
(vi) What is the disadvantage of using paper bags ?

1.3 Answer any three of the following questions in 25-30 words:

(I) Why the effects of plastic bags on environment cannot be limited? .
(ii) What is the biggest problem with plastic bags?

(iii) How are plastic bags dangerous for sea life?

(iv) In what ways is land litter of plastic bags harmful?

33



1.4 Find words from the passage which mean the same as the following :
(I) Choking (para 6)

(ii) Costly (para7)

(iii) broughtin (para 10)

Q. 2. Read the passage given below and answer the questions that follow :

Whether work should be placed among the causes of happiness or among the causes of
unhappiness may perhaps be regarded as a doubtful question. There is certainly much work
which is exceedingly irksome, and an excess of work is always very painful. However, work is
not, to most people, more painful than idleness. There are, in work, all grades; from mere relief
of tedium up to the profoundest delights, according to the nature of the work and the abilities
of the worker. Most of the work that most people have to do is not interesting in itself, but even
that work has certain great advantages. To begin with, it fills a good many hours of the day
without the need for deciding what one shall do. Most people, when they are left free to fill their
own time according to their own choice, are ataloss to think of anything sufficiently pleasant to
be worth doing. And whatever they decide on, they are troubled by the feeling that something
else would have been more pleasant here. To be able to fill leisure intelligently is the last product
of civilization and at present very few people have reached this level. Moreover, the exercise of
choice is tiresome in itself. Except, in case of people with unusual initiative, it is positively
agreeable to be told what to do at each hour of the day, provided that the orders are not too
unpleasant. Most of the idle rich suffer from unspeakable boredom. At times, they may find
relief by hunting big game in Africa or by flying around the world, but the number of such
sensations is limited, especially after youth is past. Accordingly, the more intelligent rich men

week nearly as hard as if they were poor.

Work, therefore is desirable, first and foremost as a preventive of boredom, although
uninteresting work is as boring as having nothing to do. With this advantage of work, another
associated advantage is that it makes holidays much more delicious when they come. Provided
thata man does not have to work so hard as to impair his vaguer, he is likely to find far more zest
than an idle man would possibly find.

The second advantage of most paid work and some of the unpaid work is that it gives
chances of success and opportunities for ambition. In most work, success is measured by
income and while our capitalistic society continues, this is inevitable. However, dull work too,
becomes bearable, if it is a means of building up a reputation. Continuity of purpose is one of
the most essential ingredients of happiness and that comes chiefly through work.

2.1 On the basis of your reading of the above Passage, make notes using headings and sub-
headings. Use recognizable abbreviations, wherever necessary. 34



2.2 Write a summary of the Passage in not more than 80 words using the notes made and also
suggest a suitable title.

Q 1. Your school Akash public school Agra need a canteen manger. On behalf of the
principle, Write on advertisement in about 50 words to be published in the classified columns
of a local daily. Mention the educational and professional qualifications, other qualities
required in the manger. Who to apply to and the last date for the receipt of applications.

Q 2.You are the general manger of a leading industrial concern. You need a chartered
Accountant for yours office. Draft an advertisement in not more than 50 words to be published
in National Daily, New Delhi under the classified column.

Q 3. By mistake you forgot your briefcase in on auto rickshaw. It contains some important
document. At the end of the day, you were amazed to find that auto rickshaw drivers had taken
the taken the trouble of returning the briefcase intact at your guest house. Write a letter to the
editor, the statesmen mentioning that house by survives ever in these hard times.

Q 4. A students on anxieties never end . After clearing the board Examination, There is the
uncertainty of getting admission in a college and a course of one's choice. The cut-off
percentage in good colleges reses every year. There are hardly any opening for the average
students. Write a latters to the editor of a national daily stating of the problems. And giving
suggestions regarding job opportunities for students after passing class XII.

(Q) Read the following extract and then answer the questions that following:-

"Eternal I rise impalpable out of the land the bottomless sea, upward to heaven, whence
vaguely formed, altogether changed, and yet the some".

Questions:-

a. Who is "I" is the above lines? b. Explain 'yet the same'. c. From where does ' I rise and
where does it go?

Q. Answer the following Question:-
VOICE OFTHE RAIN

1. What is the phrase 'Strange to till' mean? 2. What will happen if it doesn't rain?3. List the
pain of opposites found in the poem.4. Why are the last two lines put within the brackets?

LANDSCAPE OFTHE SOUL

1. Explain the concept of shenphui 2.What was wu Doozi asked to do?3. What happened
which astonished the Emperor?4. What is the difference between European art and Asian Art?
5.How is Nek Chand's were viewed by the art people the world over?6. The landscape is ang 5

inner one, a spiritual one and conceptual space. 7. Who was Jean Dubufflet ? What was his



contribution to art? 8. How has Nek Chand been hailed? 9. What do you mean by Yang and
Yin? 10. What is the Daoist view of the universe?

ALBERT EINSTEIN AT SCHOOL -

1. How did Mr Brawn treat Albert?

2. Who was Elsa? What advice did she give to Albert?

3. What were MR. Koch's views about Albert Einstein?
4. What were the head teacher's view regarding Albert?

5. What impression do you form about Albert? From the interaction that he had with his
history teacher?

6. What did Albert plan to do after leaving the school?

7.What do you think of young Einstein?

8. In what mood did Albertleave Mvnich?

9. Albert was quite nervous when he met the doctor. What does this Show .

10. Who was Dr. Ernst Weil? How did he help Albert?
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SECTION'A": READING
1. Read the passage carefully :

1. On a hot April morning in 1917, Mahatma Gandhi arrived in Patna by train from
Calcutta. It was his first visit to the city and he had come to fight for the indigo farmers in
Champaran, at the invitation of indigo agriculturist Rajkumar Shukhla. "I must confess that I
did not then know even the name, much less the geographical position of Champaran,” he
wrote in his autobiography. But that did not deter him from working tirelessly in the region for
close to a year, leading his first successful civil disobedience movement in India. This is the
hundredth year of the landmark struggle and there have already been a slew of commemorative
events. The latest will take place today at the India International Centre, and has been
organised a panel discussion and a film on Champaran. Says historian Mridula Mukherjee,
"The Champaran movement is significant because it was the first political action that Gandhi
led in India for a deeply oppressed peasantry in a remote part of the country."

2. The oppression of Champaran's indigo farmers by white planters dated back to the 19th
century,in 1848 a Brititsh civil servant wrote that "not a chest of indigo reached England
without being stained with human blood." By the time Gandhi arrived, the indigo farmers !
were in the grip of the pernicious tinkathia system they were forced to dedicate three out of 20
parts of their land to the cultivation of indigo. Not only did the pleasants get poor
remuneration, they were also subject to almost 40 different kinds of bizarre, illegal cesses called
abwabs. If the planters wanted to buy elephant for shikaar, the tenants had to raise money and
this was called hathiahi. Similar taxes were extorted for purchasing horses or cars (ghorahi,
motorahi). And so on.

3. When Gandhi arrived in Champaran, he introduced a new, different kind of political
activity. He demonstrated the hallmarks of his future political actions for the first time in India,
particularly his ability to effectively mobilise people. Says Dr Mukherjee, "People say that
Gandhi was charismatic, that's why he was able to mobilise millions of people. But the truth is
that he understood people at the grassroots because of the hard work he put in - the number of
people he met every day of his life, the hundreds of people he corresponded with, the Weekly3 7

journal he brought out..... His unerring political instinct was born out of tremendous



experience." In Champaran, he decided that the peasants were so crushed, it would be useless to
go to law courts for a reprieve. "The real relief for them is to be free from fear. We cannotsit still
until we have driven tinkathia out of Bihar," he wrote. With that goal in mind, he swung into
action, Along with a band of trusted associates, mostly local vakils, he toured the region
relentlessly, He travelled third class in trains, walked miles in the scorching sun, sometimes rode
on elephant back buffeted by hot, dusty winds, as he went from village to village. They had
"recorded testimonies of thousands of tenants and become acquianted with almost all the
grievances of Champaran." So Gandhi knew each and every trouble very soon.

4. But from the moment he set foot in Patna on April 10, Gandhi was on the rader of the
British. On April 15, he had arrived in Motihari, only to set off at nine the next morning for J
asaulipatti village where he had heard of the Oppression of a farmer. He was intercepted three
Hours after and delivered an ultimatum by the Commissioner a "danger" to "public
tranquility." Gandhi replied that he would "submit to the order by suffering the penalty of civil
disobedience." By April 18, Gandhi was Preparing to go to jail. The news Of his possible arrest
had spread like wildfire in Motihari and thousands of tenants started assam being in the court
from that morning. Gandhi was told that if he promised to leave and not return, the case -
against him would be withdrawn. He refused. On April 20, a confused, jittery administration,

which had thought that Gandhi would offer defence, withdrew the case.

5. When his arrest had seemed imminent, Gandhi displayed yet another hallmark of his
political action - the practical, organisational aspect. He put together a plan: if he went to jail,
his associates would take over the work. If they were arrested, others would take over. If they
were picked up, Rajendra Prasad, Shambhushataran and Anugrah Narayan Sinha would step
in. And so on. Ultimately the government was compelled to appoint a Commission of Inquiry
and nominated Gandhi as one of its members. The tinkathia system was abolished and the
planters partially refunded the money that they had extorted from the peasants.

6. The success of the first civil disobedience movement is all the more significant because, as
Gandhi said, when he arrived, no one knew him (despite his fame from his South African days)
and the Congress party was practically unknown in those parts. But the rea] significance of
Champaran was, in the words of his biographer DG Tendulkar, the fact that Gandhi "forged a
weapon by which India could be made free."

1.1. On the basis of your reading of the above passage answer the following questions from
the given options:

(a) The main purpose of Mahatma Gandhi to arrive in Patna was
(i) acceding to Rajkumar Shukhla's request
(ii) to fight with the atrocities over the Indians.

(iii) to fight for the Indigo farmers in Champaran .
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(iv) to start for the Indian freedom struggle.

(b) The Champaran movement was very significant because :

(i) it was the launching of national movement.

(ii) it was the first political action of Gandhi

(iii) it was to redress the demands of the peasants

(iv) it was to Supress the white planters.

(c) Inorder tobuy elephants for 'Shikaar' the tenants had to raise:
(i)Motihari (ii) ghorahi

(iii) cropahi (iv) hathiahi

(d) Gandhi set off for Jasaulipatti village with a view to aware himself of :
(1) law and order Situation (ii) oppression of a farmer

(iii) grievances of the locals (iv) transquility of the people.
1.2. Answer the following questions very briefly :

(a) Why did Gandhi lead his first political action in India ?

(b) What were the conditions of the indigo peasants in Champaran ?

(c) Gandhi introduced a different kind of political activity in Champaran. It was
(d) What was decided by Gandhi in Champaran ?

(e) Why was an ultimatum given to Gandhi?

(f) In case Gandhi was sent to jail, which of the action plan would be followed ?
1.3. Find words from the passage which mean the same as the following :
(1) Peace (para4)

(ii) Farmers ~ (para2)

Z0 2. Resd the given passage carefully :

1. While there is no denying that the world loves a winner, it is important that you recognise
the signs of stress in your behavior and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to recognise
your individual limit. For instance, there are some individuals who accept competition in a



'healthy fashion. There are others who collapse into weeping wrecks before an exam or on
comparing mark-sheets and finding that their friends have scored better.

2. Stress is a body reaction to any demands or changes in its internal and external
environment. Whenever, there is a change in the external environment such as temperature,
pollutants, humidity and working conditions, it leads to stress. In these days of competition
when a person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and parcel

of everyday life.

3. Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails an
examination may feel as if everything has been lost and life has no further meaning. In an adult
the loss of his or her companion, job or professional failure may appear as if there is nothing

more to be achieved.

4. Such signs appear in the attitude and behaviour of the individual, as muscle tension in
various parts of the body, palpitation and high blood pressure, indigestion and hyper-acidity.
Ultimately the result is self-destructive behaviour such as eating and drinking too much,
smoking excessively, relying on tranquilisers. There are other signs of stress such as trembling,
shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.

5. The professional under stress behaves as if he is a perfectionist. It leads to depression,
lethargy and weakness. Periodic mood shifts also indicate the stress status of the students,

executives and professionals.

6. Inastudy sponsored by World Health Organisation and carried out by Harvard School of
Public Health, the global burden of diseases and injury indicated that stress diseases and
accidents are going to be the major killers in 2020.

7. The heart disease and depression-both stress diseases-are going to rank first and second in
2020. Road traffic accidents are going to be the third largest killers. These accidents are also an
indicator of psycho-social stress in a fast-moving society. Other stress diseases like ulcers,
hypertensions and sleeplessness have assumed epidemic proportions in modern societies.

8. Aperson under stress reacts in different ways and the common ones are fright, fight and
flee depending upon the nature of the stress and capabilities of the person. The three responses
can be elegantly chosen to cope with the stress so that stress does not damage the system and

become distress.

When a stress crosses the limit, peculiar to an individual, it lowers his performance capacity.
Frequent crossings of the limit may result in chronic fatigue in which a person feels lethargic,
disinterested and is not easily motivated to achieve anything. This may make the persord()

mentally undecided, confused and accident prone as well. Sudden exposure to un-nerving



stress may also result in a loss of memory. Diet, massage, food supplements, herbal medicines,
hobies, relaxation techniques and dance movements are excellent stress busters.

2.1. On the basis of your reading understanding of the passage answer the following
questions by choosing the most appropriate option :

(a) Select a suitable title :

(1) Forms of stress (i) Meaning of stress

(ii1) Stress and its Alied Ailments (iv) Stress

(b) The stress related ailment would be in 2020.

(1) a major killer (i1) saving

(iii) cured (iv) no more trouble Ne wee

2.2. Answer the following questions briefly :

(a) What is most essential for performance ?

(b) Which two factors bring stress ?

(c) Whatare the symbols that a person is under stress ?

(d) In what way does a stressed fellow react ?

(e) Write two diseases caused due to stress.

(f) When the stress crosses the limits, how does a person conduct ?
2.3. Find words from the passage which mean the same as the following :
(a) decent (paral)

(b) dampness (para3)

3. Read the given passage carefully :

1. Inthe democratic countries, intelligence is still free to ask whatever question it chooses.
This : freedom, it is almost certain will not survive another war. Educationists should,
therefore, do all they can while there is yet time to built up in the minds of their charges, a habit
of resistance to suggestion. If such resistance is not built up, the men and women of the next
generation will be at the mercy of that skillful propagandist who contrives to seize the
instruments of information and persuasion. Resistance to suggestion can be built up in two -
ways. First, children can be taught to rely on their own internal resources and not to depend on
incessant stimulation from without. This is doubly important. Reliance on external4l
stimulation is bad for the character. Moreover, such stimulation is the stuff with which



propagandists bait their books, the jam in which dictators counsel their ideological pills. An
individual relies on external stimulation there by exposes himself to the full force of whatever
propaganda is being made in his neighborhood. For a majority of people in the West,
purposeless reading, purposeless listening in, purposeless listening to radios, purposeless
looking at films have become addiction, psychological equivalents of alcoholism and
morphinism.

2. Things have come to such a pitch that there are many millions of men and women who
suffer real distress if they are cut-off for a fewdays or even for few hours from newspapers, radio
and music or movie pictures. Like a addict to the drug, they have to indulge their vice not
because of their indulgence gives them any real pleasure but because, unless they indulge they
feel painful subnormal and incomplete. Evenby intelligent people, it is not taken for granted
that such psychological addictions are inevitable and even desirable, that there is nothing to be
alarmed at in that fact that the majority of civilized men and women are now incapable of living
on their own spiritual resources, but have become exactly dependent on incessant stimulation
from without.

3. How can the children be taught to rely upon their own spiritual resources and resist the
temptation to become reading addicts, hearing addicts, seeing addicts ? First of all they can be
taught how to entertain themselves, by playing things themselves, by playing musical
instruments, by purposeful study, by scientific observation and by the practice of some art and
so on. But such education of the hand and the intellectual is not enough. Psychology has its
Gresham's law, itis: that bad money that derives out the good. Most people tend to perform the
actions that require least efforts, to think the taught that are easiest to fill, the emotions that are

most vulgarly commonplace, to give rein to the desires that are most nearly animal.

4. And they will tend to do this even if they possess the knowledge and skill to do otherwise.
Along with the necessary knowledge and skill must be given the will to use them even under the
pressure of incessant temptation to take the line of least resistance and become an addict to
psychological drugs. Most people will not wish to resist these temptations unless they have a
coherent philosophy of life, which makes it reasonable and right for them to do so. The other
method of heightening resistance to suggestion is purely intellectual and consists in training
young people to subject the diverse devices of the propagandists to critical analysis.

The first thing that educators must do is to analyze the words currently used in newspapers,
on platforms by preachers and broadcasters. Their critical analysis and constructive criticism
should reach out to the children and the youth, with such clarity that they learn to react to
forceful suggestions rightly and at the right time.

(a) On the basis of reading of the above passage make notes on it by using headings and sub-
heading. Make use of suitable abbreviations.

A2

(b) Prepare a summary of the passage about 80 words keeping in view your notes. Als
suggest a suitable title.



Q 1. You are greatly disturbed by loud speakers blowing at high volume, particularly during
festival times. Use of loud speakers is made without caring for the place of local residents. Write
a letter to the superintendent of police of your area requesting him to strictly enforce the low
which prohibits the use of loud speaker beyond 11pm you are Rishi raj Narain, living at R-75
,Sector-14 Rk puram ,New Delhi.

Q 2. Write a letter to the Traffic Manager, Northern Railway, New Delhi, reporting the loss
of your suitcase your journey from Kolkata to Delhi in Rajdhani Express.

Q 3.Your school has opened a new activity wing for the kindergarten student for which you
require play equipment. Write a letter to the manager, Ok Toys 21,Daryaganj , Delhi in about
120-150 words placing on order for educational toys and other play equipment. You are Neera|

Naresh, Manger, DML public school, Delhi.
Q 4.As the sports instructor of APL Public School. Write a letter to your local dealer placing

an order for certain sports goods.

Q 5. The dowry custom is one of the biggest social evils in India. It has given rise to suicide,
Corruption and normal degradation. Write an article in about 150-200 words on the topic

Dowry. A heinous, social Crime.

Q 6 .Incidents of child abuse.Are on the rise, resulting in to increasing number of child

deaths per day. Write an article in about 150-200 words on the topic 'Child Abuse'.
Q7. Read the following extract and then answer the question that follows:-

(1) "And who art thou? Said I to the soft falling shower, Which, strange to tell, gave me an

answer, as here translated; lan the poem of Earth, said the voice of the rain”
Question :-
1. Name the poem and the poet.
2.What was 'strange to tell'?
3. Why does the poet say 'as home translated?

I1. "Eternal I rise in palpable out of the land and the the bottom less sea, Upward to heaven,
when a, vaguely formed, altogether changed, and get the same".

1. Whois'I' in the above lines?

2. From where does 'I' rise and where does it go.
3. Explain 'yet the same'.

Q 8. Answer the question that follows :-

Ailing Planat

1. Why is earth compared to a patient?

2. What do you mean by sustainable development?
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3. When was green movement started? Whatis its aim?

4. Do its problem of overpopulation directly effect our everyday life?

5. What does the notice "The world's most dangerous animal” at a case in the Wsalen
Zambia, Signify?

6. Howare the earth's principal biological system being depleted?

7. Do you believe that "Loves are never respected nor enforced in India?

8. The problem of overpopulation directly affects our everyday life Discuss.

9. Define the concept of sustainable development. How do the Earth's vital reveal a patient

in declining health?
10. The world's forest cover is in pathetic state comment with reference chapter.
Mother's Day
1. Bring out the main idea of the play "Mother's Day".
2. Who are Mrs pearson and Fitzgerald? Compare the Character of the both with each other?
3. If dramaa good medium for conveying a social massage?
4. How drop George Pearson treat feel humiliated?
5. How does its changed Mrs Pearson treat Doris and cyril?
6. Why do the two women exchange their personalities?
7. What do Doris and Cyril conclude about the changed behaviour of Mrs Pearson?

8. What is the value of democratic quality of equality at the family level' in our country?
Why is it that those who preach equality outside fair practise itat home . Discuss this keeping in
view the play ‘Mother's Day'
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Q.1. Recently you attended a seminar on Adult Education organised by the CBSE. The
programme was held at VKT public school Delhi. Write a report 150 -200 words to be
published it. The Indian Express; New Delhi. You are Garv | Gaurika , special correspondent of
"The Indian Express".

Q.2. As a student reporter of your school news-bulletin, Write a report in about 150-200
words on the worker's Day Celebrations in the school.

Q.3 Racism is bad. Anyone and everyone can be exposed to racism. Write a speech in about
150-200 words on the topic 'Racism' to be delivered in the morning assembly.

Q 4. Peer pressure is use for development. If there is no fear pressure at all then there would
be no goal or aim to succeed. Write a speech on the topic. "Is peer pressure more Beneficial than
Not?" To be delivered on aunt of children's Day celebration in your school

Q 5. The policy of reservation of seats for admission to the professional Courses is good for
the deprive reactions. Write a debate in 150-200 words either for or against the motion.

Q 6. You are Nishant/ nisha,a student of class-XII. You are asked to participate in the debate
competition and speak in favour of motion. Joint family is the most appropriate way of life.
Your debits should not exceed 200 words.

Q7. Read the extract given below and answer the questions that follow:-

When did my childhood go? Was it the day I ceased to be eleven. Was it the time I realised
that Hell and Heaven, Could not be found in Geography, And therefore could not be, Was that
the day!

Questions.

1. Name the poem and the poet.

2. Atwhatage does the poet think he lost his childhood?

3. Whatdid the poet realise? Did the poet find on answer to his question?
THE CHILDHOOD

1. How does the poet take the loss of his childhood? 45



2. What differentiates childhood from adulthood?

3. Which do you think are the most poetic lines? Why.

4. What is the attitude of the poet towards the adults?
BROWNING VERSION

1. Who is Frank? What impression to you from about him?

2. Why has Taplow come to see Crocker Harris?

3. Taplow calls Crocker-Harris hardly human? Why?

4. What was funny about Crocker telling a joke.

5. Whatis 'remove'? What does Taplow think aboutit.

6. What do gather about Crocker Harris from the play?
7.Comment on the attitude shown by Taplow to words Crocker Harris?
8. Givea pen portrait of Crocker Harris?

9. Does frank seen to encourage Taplow Comments on Crocker Harris?
ADVENTURE

1. Write down the character sketch of the following;:-

a. Prof. Gaitonde b. Prof. Rajender deshpande.

2. Justify the title of the story.

3. What message did this chapter is given to its readers?

4. Whatattracted Gangadhar's attention at the Azad Maidan?
5. Why were Gangadhar's investigations in complete?

6. What surprised Prof. Gaitonde?

7.In what sense is the story fantasy?

8. What is catastrophic theory. How is it used in the chapter?
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Subject-English

Q.1 You are Simran Gupta. Write an application for the poet of TGT (Maths)in a reputed
public school with a bio-data.

2. Write an application for the post of Assistant professor in English in St. Joseph and Mary
College, New Delhi with a bio-data. You are Singini Roy.
3. Read the following extract and answer the question that following: -

Father and son, We both must live. On the some globe and the some land. He speaks:
cannot understand My self, why after grows from grief. We each put out on empty hand,
Longing for something to forgive.

Question:-

1. Explain on the some globe and the some level.

2. What grows from quiet and why.

3. Who are we? What do they long for?

Answer the following question :-

THETALE OF MELON CITY

Q.1 Narrate The Tale of Melon City in your own words.

Q2.Describe why everyone was happy to se 'o melon' as their king.

Q3. Draw a character sketch of the king as described in "The Tale of Melon City.

Q4. Why did the king order to build as arch?

Q.5 Who was the wisest man? What advice did he give?

Q6. How did the architect clam that he was innocent?

Q7. What are the principal of Laissez-Faire?

Q8. What solution did the king give when he saw that the crowd was getting restless?
SILKROAD-

Q1. Where was the narrator and his party going? 47
Q2. Why did Tsetan stop the care to junb out?



Q3. What was special about the house of Name ds?

Q4.Thearticle has been titled 'Silk Road". Justify it.

Q5. What happened when the author was Leaving Ravu?
Q6.Describe the author's meeting with Norbu?

Q7. Write anote on Tsetan's support to the author during the journey?
Q8, How did the people of Darche live?

THE GHAT OF ONLY WORLD-

Q1. Shahid was truly gregarious person Comment.

Q2. What impression do you from of Agha Shahid Ali asa mean?
Q3. Write a note on the early friendship between Shahid and the writer?
Q4. What was the nightmare that lusted shahid again and again?

Q5 Who was James merrie? How did he influence shahid's poetry?
Q6. How did shahid feel on his trips to India?

Q8. What do you understand of the Indian Diaspora from this piece?
BIRTH-

Q1. What did Andrew think as he sat by the Kitchen fine?

Q2. How did the child show signs of life?

Q3. How did Andrew feel as he come out of the room?

Q4. How did the child Come to life at last?

Q5. How did Andrew save the mother?

Q6. Draw a character sketch of Dr. Andrew.

Q7. Do you know of any incident when someone has been brought back life from the brink
of death through medical help? Discuses medical procedures such as organ transplant and
organ regeneration that as used to save human life.

FATHERTO SUN -

Q1. Why is the father angry?

Q2.Whatdoes the father went?

Q3. What s the problem of the father?

Q4 How is the father's helplessness brought out in the poem?
Q5. What does the line "Silence Surrounds us" stand for.
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TOPIC - SETS AND FUNCTIONS

Q.1 If 5 is the set of all prime number and M = {0,1,2,3,4,5,6,7,8,9}, then evaluate
the following

(1) MU (5NM) (2) (5-M) N (M-5)

Q.2 In a group of 1000 people, there one 750 people who can speak Hindi and 400
who can speak English. How many can speak Hindi only?

Q.3If A={1,234} B={2345}
C=1{1,3,4,5,6,7} verify that
An(BUC) = (ANB) U(ANC)

Q.4 Find the domain and Range of the function

x—1

2_
f=(x)C 1:xER,xil)

1

9—x*

Q.5 Find the domain of fcx) : -

Q.6 Find the domain of real function fcx) define by fcx) = [1=1x1
4—1xl1

Q.7 Find thedomain of fcx) : -

1
Vx+1x1

Q.8 Cot R ={(13), (4,2),(2,4), (23), (3,1), } be a relation on the set = {1,2,3,4}
Examine whether given relation is a function or not by giving reasons .
49
Q.9 Find the domain of fcx) = x-1+v6-x



Q.101If fex) = i—: , then show that +(%) = — fex

Q-lllf fcx=y=ax_b ,then Prove that f(»)=x

cxX—da
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TOPIC - MATHEMATICAL INDUCTION

Q.1 Use the principle of mathematical indiction to prove the following statements for

all nEN

(@) 1X242X343 X4+ +nx(n+1):w
(b) @+ (a+b) + (a+2b) + -—--------mmmmmmooeeeev + [a+(n-1),d] = §[2a+(n—1).d]

(c) 10" +Iisdivisible by 11 for nEn
Q.2 Use the principle of mathematical indiction, prove that 41 - 14" is a multiple of

27 for all natural number n.

Q.3 Use the principle of mathematical indiction to prove that every natural number n.

n+l
1X34+2X3 +3X3 4o rnxy =20 1)4-13 +3

Q.4 Use the principle of mathematical indiction to prove the following statement for

all nEN

n(n+1)(2n+1)

(1) D)+ A+3)+A+3+5) oo, + nterms = ;

(ii) Use the principle of mathematical indiction to prove that every natural number n.

(1+§)(1+§)(1+Z) ....................... (1+2n:r1):(n+1)2
1 4 9 n

(iii)72 (n+1) (2n+1)is divisible by 6.

(iV) Prove that €080,c0820,C08 20, cos2"'9 = S’Zﬂmg , forall nEN
s

51

Q.5 The coefficients of the 5th, 6ht, and 7th term in the expansion of (7+x)"are in A.P



Q.6 Find the middle term in the expansion of (3x X ]7
6

Q.7 Find the 3rd term from the end in the expansion (3_x _ i)g
5 2x

Q.8 Find thevalue of (az _Ja? _1)4

Q.9 Find the expansion of (3x" - 2au +34)’ using binomial theorem.

Q.10 Find n, if the ratio of the fifth term from the beginning to the fifth term from the
J” is\/6:1

end in the expansion of (3 i+

L
33
Q.11 Find the term in dependentof x in the expansion of (\E +, /;7)

Q. 121If p isareal numberand if the middle term in the expansion of
(§+ 2) is1120, find p

Q.13 Ifthe seventh term from the beginning end in the expansion of (3/5 + %) ane

equal, find the value of n.

Q.14 Ifthe coefficients of Second, third and forth term in the expansion of (7+x)” are
in A.P, Show that 27°-9n+7=0

Q.15 If the middle term of (l + xsmx) isequal to 7% , then find the value of x

X
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TOPIC - SEQUENCES AND SERIES
Q.1 Consider the sequence defined by
an = an’ + bn + ¢,
ifa, =3, a4 = 13 and a7 = 113, Show that
3an = 17n2 -87n + 115
Q.2 Write the 5th term of the sequence whose nth term is (@ 3”]

Q.3 Inan A.D, if the mth term id m, show that rth term is 72+7-7
Q.4 Prove thatinany A.P,
am+nam-n=_2am

Q.5 If the Pth, qth and rth term of an A.P

a,b,c respectively prove that

a(q-r)+b(r-p) +c(p-qg) =0

Q.6 Determine K'so that 4k + 8, 2k2+3k+6,3k2 + 4k + 4 are three consultive term of
an A.P

Q.7 The sum of three numbers in A.P is 12 and the sum their cubes is 408. Find the

numbers.
Q.8 Find five numbersin A.P. Whose sum is 25 and the sum of whose square is 135.
Q.9 If5,52,53 are the sums of n, 2n, 3n terms of an A.P, show that 53 =3 (5,-5,)
Q.10 Find the sum of the following series up to n term

P P+2°+3

1 1+3+5

IX224+2%3% ..., 1)? 3n+5
Q.11 Showthat X2 *2X3 tewtnx(ndl) 30t >3
X242 X3+ i +n"x(n+1) 3n+l
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Subject-Maths

TOPIC - TRIGONOMETRIC FUNCTIONS
Q.1 Express 50”37 30” in radians

0 0 0

. 1 1 1
Q.2 Find thevalueof sm 222, cos 22- , tan 22

1° _1° IRY
i 7— us7— and tan| 11 —
Q.3Find 77 us77 ( 4)

Q.4 Prove that :- V5-1 \/1()47\/5

sm18° = J and cos18° =

Q.5 Prove that:- i 10'. fin 30 fin 5. fin 70/, = %
Q.6If fm (b+c-a), fm (c+a-b), fim (a+b-c) are in arithmetic progression, prove that tan

a, tan b, tan care in Arithmetic progression.

Q.7 Prove that cosez\/2+x/2+200549

Q.8 Prove that
1—tan’(45° — 4)
(@) (45° — 4)

=sin2A4

A 3A S5A TA
(b) cos? =+cos® —+cos’ —+cos’ —=2
8 8 8 8
Q.9 Forany real number 0 and X, sin®=sin X, implies 0 =nA +(—1)".2 here nEIl

Q.IO Solve tan® + tan20 +3tan®.tan20 = /3

Q.11 Solve : cosx+cos3x=cos2x

Q.12 Solve : 4 sin’g - 8 cosg+1=0

Q-13 Solve : cos+sin x=cos2 x+sin 2x 54
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Subject-Maths

TOPIC - THE CASTESIAN CO - ORDINATE SYSTEM

Q.1 If the segment soining the points (a,b) and (c,d) subtends an angle Q at the origin,

Prove that _ ac+bd
cos0 =
J(@ +6) (S +d)

Q.2 In what ratio does the point 1,6 divide the line segment soining the points (3,5)
and (-7,9) ? ?

Q.3 The three vertices of a rhombus, taken in order, one (2,-1), (3,4 )and (-2,3) find
the forth vertex.

Q.4 Find the vertices of the triangle the mid - points of whose sides one (3,1), (5,6)and
(—233) .

Q.5 Prove that the co-ordinate of the centroid of a triangle whose vertices ane A(x,y),

B(x,,y,) and C(x,y,) are  x= x°+x§+X3 Cmdy:y,++2+y3

Q.6 Find the area of a triangle whose vertices are A(x,), B(x.,y,) and C(x,y)

Q.7 Show that the equation of the locus of points such that the difference of their

2 2

distances from two fixed point (ze,0) and (-ae,0) is 29, is Xy
) 2, 2 -
a a (e -1

1

Q.8 The points (2,0), (0,b) and (x,y)are collinear. Using slopes, prove that

x=2+2 o

a b
Q.9 Find the locus of the centroid of the triangle, whose vertices are (a cust , asmt), (b
smt, - b cust) and (1,0), where tisa parameter i.

Q.10 Find the area of the triangle the co-ordinate of the mid point of whose sides are
(3,-1), (5,3) and (1,-3) respectively
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Subject-Maths

TOPIC - COMPLEX NUMBERS

. A+i? (1-iY
Q.1 Find the value of =i + (l+i)

2592 | +590 | 588 | 584
U+ +

-582 -580 .578 .576
PR T

Q.2 Find the value of

Q.3 Evaluate (,'41 + L)g

Q.4 Find the value of xandy, if (%x—5]+ Ssiy=+2

Q.5 Prove that /m (z,z,) = Re (z,). Im (z,) + Im (3,) Re (z,)

Q.61If (x+iy)%:a+ib , prove that §+%=4(G2—bz)

Q.7 If xﬂy:dj:s , prove that
Q.8 Find the squarerootof - 15-8:

Q.9 Find the modulesof (x*+»*)* =

a+b’
ct+d?

Q.10 Put (?)2 in the from r(cos®+isin®)

Q.11 Prove thatany pointszlies on theline joiningz, z, ifand only if

z—2z1
or =0
g(z2—zl)

56



2+1i

Q.12 Find the modulesand amplitude of Zir(1i)

Q.13 Evaluate :- (cos18 +isinl8") (cos54" +isin54°) (cos108° +isin108")
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TOPIC - LINEAR INEQUALITIES
Q.1 Find the Region when all the inequalities x+y >,0, 2x + y< 4, x>,0 and y<2hold

good. Find the co-ordinates of the vertices of the region

Q.2 In drilling world’s temperature T in degree Celsius, x km below the surface of
Earth, wasgivenby 7= 30+ 25 (x+3), 3<x< 15

Q.316 ofapersoningiven by formula 18 =C—A/[j x100 where MA is the mental age and
CA is chronological age. If 70 <18 <130 foragroup of 15 year children, find the range of

their mental age.

Q.4 A manufactures has 600 liters of a 12 % solution of acid. Hour many liters of a

30% acid solution must be added to it so that acid content in the resulting mixture cwill
be more than 15% butless that 18% ?

Q.5 Draw the group of the following unequally ties and shaded the solution if any
x+2y>,/6
x+y >, /2
2xty >, /14
x>/0, y>/0

Q.6 A manufacturer has 400 liters of a 12% solution of acid. How many liters of a
30% acid solution must be added to it so that acid content in the resulting mixture ewill
be more than 1% butless than 18% ?

Q.7 Solve the system of in equation graphically x+y>/3, 7x + 6y <42, x < 5, y <4 x
>/0, y>/0
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Subject-Maths

TOPIC - PERMUTATIONS AND COMBINATIONS.
Q.1 How many 2 - digit even numbers can be formed from the digit 3,4, 5,6,and 7, if

(i) repetiotion of digit is not allowed ?

(i1) repetiotion of digit is not allowed ?

1 1
Q2If —+—==
L9 L10 L11

Q.3 Findr, ifp (10,r+1) : p(11,r) =30:11
Q.41f56p,,: 54p,,,=30800: 1, find r.

Q.5 In how many different ways can the letters of the word ‘KURUKSHETRA'’ be
arranged ?

Q.6 In how many distinct permutations of the letters in MISSISSIPPI do the four I's

not come together ?

Q.7 Find the number of arrangement of the letters of the word MATHEMATICS. In

hour many of there valueless occur together?

Q.8 How many word can br formed by arranging the letters of the word
‘UNIVERSITY’ so that the valueless remain together ?

Q.91f n, = n_, determine n, have n°

Q.101fn-1, =n:n+1, =6:9:13 find nand »

Q.11 15, =15,, =11:5find 7.

Q.121fn,, =36, n,=84and n, 6 = 126then rfind value of r

Q.13 A student is to answer 10 out of 13 questions. Hour many choices has he ? How
many, if he must answer the first two questions ? How many, if he must answer at least 3
out of the first questions ?

9
Q.14 How many word can be formed by taking 4 letters at a time from the letters of5



the word “MORADABAD”

Q.15 How many words can be formed by taking 4 letters at a time from the letters of

the words “RING MID WAYS” ?

1 1

1
Q.16IF 4—0’1 =£+a find 7

Q.17 Let Tn denotes the numbers of triangles which can be formed using the vertices
if Tn+1-Tn =21, find the value of 7
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Subject-Maths

TOPIC - BINOMIAL THEOREM
Q.1 Find the number of term in (2x+3y°)’

Q.2 Using binomial theorem, expand each of the following expressions-

1)’ 2 xY
@ (x+) ®) (3-3)
Q.3 Using binomial theorem, find the value of (. a+b) - (a-b)

Q.4 Prove that i 3", =4"
r=0 l
Q.5 Find the 13th term in the expansion of (9x - $)18,x >0
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Subject- Maths

TOPIC - STARLIGHT LINES
Q.1 If the straight line y = mx+c passes through the points (2,4) and (-3,6), find the

values of mandc

Q.2 Find the eq" of the circle passing through the points (1,1) and (2,2) ans whose
radiusis 1

Q.3 Find theeq” of the medians of triangle, whose vertices are (-1,8), (4,-2) and

(‘5 )'3) .
Q.4 Find the eq” of the medians of triangle, the co-ordinate of whose vertices are
("], 6), ("3; "9)) d”d (5, '8);

Q.5 A line of length 2 sides with its ends on two perpendicular lines. Find the locus of

its mid - points.
Q.6 Find the value of xif the points (2x,2x) (3, 2x+1) and (1,0)are collinear .
Q.7 Three points A (x,), B (x2,y2)and collinear

Q.8 If G be the centroid and I be the in center of the triangle with vertices A (-36, 7) B
(20, 7) and c(0,-8) and GI =%,/205 » find the value of r

Q.9 Find the in center of a triangle with vertices (7,1) (-1,5) and (3+2+3), (3+4V3)
Q.10 Find the eq” of the medians of triangle, the co-ordinate of whose vertices are
("]) 6): ('3) "9)) dnd (5’ _8)’

Q.11 If p be the measure of the perpendicular segment from the origin on the line
whose intercepts on the axes are 2 and b, show that Lz - iz + biz
p a

(NN

Q.12 Find the eq” of line for which p=2, smw = o
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Subject- Maths

TOPIC - COMIC SECTION
Q.1 Find the eq" of the circle passes through the center of the circle x* + " + 8x + 10y- 7

= Oand is concentric crith the circle
Q.2 Find theeq’ of the circle through the points (1,1) and (2,2) and whose radius is 1
Q.3 If (x-1)is the directrix of the parabola y" - £x +8 = 0, then show that one of the

valueof % is 4

Q.4 Find the co-ordinate of a point on the parabola y” = 8 x focal distance is 4.

Q.5 Anarch is in the form of a parabola with its axis vertices. The arch is 10m high and

5m wide at the base. Hour wide is it 2m from the vertex the parabola?
Q.6 If the parabola y° = 4 ax passes through (3,2), then find the length of its latus

rectum
Q.7 Find the equation of an ellipse whose focus is the point (3,4), whose directrix is
the line 3x + 4y = 5and whose eccentricity is 2/3.

Q.8 Find the length of the major and the minor axes, the co- ordinate of the foci the

vertices, the eccentricity and the of eq” the directrixes of the ellipses.

2 2
(a) —+2 =1
169 " 25

2 2
225 289

2 2

Xy
E NP
© 100" 25

2 2

X Y
d) —+=—=1
()4 25

I 63

© 75

2
+2 =1
9



RING MIDWAYS SR. SEC. PUBLIC SCHOOL
Main Najafgarh Road, Vipin Garden, New Delhi-110059
Formative Assessment -XIli
Class - Xi"

Subject- Maths

TOPIC - PROBABILITY

Q.1 Out of a total of 600 volts 20% are too large and 10% are too small the reminders

are considered to be suitable If a bolt is picked up at random, find the numbers of
suitable bolts.

Q.2 Ahas3 sharseinalottery wntaining 3 prizes and 6 blanks. What is the probability
of winninga prize by A

Q.3 4 cardsare drown from a will shuffled deck of 52 cards. What is the probability of

obtaining 3 diamonds and one spade ?

Q.4 In a certain lottery 10,000 tickets are sold ten prizes are awarded. what is the
probability of not getting a prize if you buy (a) one ticket (b) two ticket (c) 10 tickets .
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Subject- Maths

TOPIC - CIVITS AND DERIVATIVES

Q.1 Evaluate each of the following limits

Lim Jx* =3

x— =2 l+x+x>+x°

(a)

Lim ax+b
()
x—0 ax+d
Lim 0x’—1
T
xX— =
Lim x’—4
(d)
x—=2  B3x-2-x+2
Lim a™t -1
(C) 1 a3x3 _1
x— =

Q.2 Showthat Lim  (+x0"-1_,

x—0 X

1+sin x dy
= cosx——y=0
Q.3 Y=\{"gn, thenprovethat oY

ldy 1
———=cof x
X /

Q.4If y=xsin xprove that S d

. : P +x+l
Q.5 Differentiate = w.rhx

x“—x+1

d d
Q.6If y=secx + tan xshow that d—i:ysec x, prove that Ey: y(1-y)
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Q.7 Find the derivative of sc¢’ x w. rh tan’x

1 1 d
Q.81f - prove that %+ (cos sec’n)=0
tanx cotx dx

_ 2
Q°9H:y=2 Sxtx ,ﬁndﬂatxz—Z
Tx+8 dx

i d
Q.101f y=——, find =

sin x+cosx dx

Q.111If f(c+y) =f(x) forall x, y cohere + (0) = 3, and f(4) = 2 find {’(4)

Q.12 Find the value of x, at which the first derivative of the function

N zw.r to x is3/4
[+

Q.13 Find the derivative of ( Yo l) ( ¥ — Lz)z W 10 X.

X X
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Subject- Maths

TOPIC - INTRODUCTION TO THREE DIMENTIONAL
GEOVETRY
Q.1 Find the perpendicular distance of the point p(z,6,¢) from the co-ordinate axes.

Q.2 Find the co-ordinate of the point equidistance from the four points (2,0,0),

(0,0,0), (0,0,c) and (0,0,0),
Q.3 Find the co-ordinate of the point which divides the joints of (-2,3,5) and (1,-4,-6)

in the ratio.
(1)2:3 internally (i) 2:3 internally

Q.4 P(-1,-1,-1), Q (1,3,2), R(5,11,8) are three points in a straight line. Find the ratio
inwhich Qdivides PR

Q.5 Show that the three points A(2,3,4), B (-1,2,-3), and C(-4, 1,-10) are collinear and
find the ratio in which Cdivides AB.

Q.6 Show that the four points (1,1,1), (-2,4,1), (-1,5,5) and (2,2,5) are the vertices of

asquare.

Q.7 The mid points of the sides of a triangle ABC are (1,5,-1), (0,4,-2) and (2,3,4)

find the vertices.

Q.8 Find the co-ordinate of the centroid of the triangle whose vertices are (7,5,-2),
(3,2,7) and (-7,-1,4) that

Q.9If the origin is the centroid of a triangle ABChaving vertices A(a,1,3), B (-2,b,-5),
and C(4,7,C) find the values of 4,6,c.
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Subject- Maths

TOPIC - INTRODUCTION TO THREE DIMENTIONAL
GEOVETRY
Q.1 While calculating the mean and variance of 10 readings a student wrongly used

reading 52 for the correct reading 25. He obtained the mean and variance as 45 and 16
respectivly. Find the correct mean and variance.

Q.2 Find the mean, variance and 5-D correct mean and variance.

(1)First znatural numbers

(i1) variance of znatural numbers

Q.3 The mean and variance of 8 observations are 9 and : 25 respectively. If six of the
observationsare 6,7,10,12,12, and 13, find the remaining two observations.

(1)2:3 internally (i) 2:3 internally

Q.4 Find the 5-D from the data
xi | 10| 20 |30 [40 | 50 |60 | total

ti |9 18 |25 |17 | 14 |7 100

Q.5 Calculate the mean deviation about median age for the age distribution of 100

person given below.

Age 16-20 | 21-25 | 26-30 | 31-35 | 36-40 | 41-45 | 46-50 | 51-55

Number 5 6 12 14 26 12 16 9

Q.6 The diameter of circle (in mm) drawn in a design are given below :

D1ameter 33-36 37-40 41-44 45-48 49-52
in mm
circles

Calculate the standard deviation and mean diameter of the circles.
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Q.7 The sum and sum of squares corresponding to length x (in cm and weighty (in
gm) of 50 plant products are given below

50 50 50 50
Y n=212=, n’=902.8, Y y=261, Y yi’=1457.6
i=1 i=1 i=1 i=1
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RING MIDWAYS SR. SEC. PUBLIC SCHOOL
Main Najafgarh Road, Vipin Garden, New Delhi-110059
Formative Assessment -I
Class - XI "

Subject- Political Science

HIT - 1

ey -1 (Al =& 3R B

o1 . JATqeNel BT Ferd Pt T B 9
YoeT2. HIXATT ATGeTel Heal &l U Bal B aAel (oAU |
YoeT3. Aldemer HAT BT TaAl0r Ba gar ? Aiaene & YUl &l Bl Aty ot 2
Y9eT4, AT ATJeTel daT Soc1s B ATdelmel F Yo 37T &1 &
Y9eT5. A @ ATl Bf 3Mcrden & IR foeg faRaw |

3T (2) ARAN Afdemel H SMdR
et 1. Aldenel 3T 3ierBR & dia FaT T & 2 31Uel I@T F T BT |
FoeT2. At 3MEBR T ifd-Teld9lh dedl & 3idT JSMST |
Y9eT3. 3MBR TaT B Qi Tb—gAe A AT & | LT DI |
T4, “3aAT B FeATerdr T2 fergont fera |

yoeT5. Jdenferd SUARS & SHEBR B Jleildad B dTel e AT i Bl 3cciH

HifoTw |

HARI(3) Faltd 3R idfetered

oeT 1. fefeuel JaATa T R 372 3 ?
YeT2. AT ferataet yomett @ fdhegl &l Bt &l auiet difory |
YoeT3. Ig Sl YUIett & Q19 I & |
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Ul 4.

U 5.

AN HB TP AATNBR 3 I 1R 2 |
faermer Avsel & e ytaera afecan &f Jexgdr F2l fecrar I | 37 Rafa &

J4R &g 39 R JIG Ga1 ?

U4l 1.
Ul 2.
U 3.
Ui 4.

U4 5.

U4l 1.
U 2.
U 3.

Ui 4.

BIToTT |

YU 5.

U4l 1.
U 2.
U 3.
Ui 4.

YU 5.

U4l 1.

3TT-4 B Tl

foq & B UTfcTaT febelal UhRR Pl 2 2

*mft qerm 3remft B uiferesr T e 3ref & 2
I Rt utferat &1 @ 3rf 8 9
9Tl UT FEIHAT B TeTTAT il & 2
Jogute @) orferTat a1 gufer HifoTw |
A5 _ [Tt
3IIET 74 BT 30 B, Gl o JALNT QAT YOI bl FoIgg Feiel! & |
AT[eh JTREIIcd P R 37 & ?
R IS B TSl 3R ITD! 221kt BT qulet HifoTU |
PIg U8B Blele TolTel B foTU febeT—Toper razenait 3 Ioree 2, SABT qurd

3 AT foTu ot raeerss @ ?
S -6-_AIUTICTB]
RITIYTICThT BT Y B 1 & ?

A AT & et 3ifEIhR & Bl quld B |

Sd}l. Xqdes IRIUTeTehT bt ST chdl CJ'QJ\I % ?

o

=NR1p Afhardr &1 I areat & ?

STefad Il arold Al b Jardr fobel dibl | Hadt & ?
AEII-7 JAYdIE

3T 1 BT I BIOTT 3R TATIT B 7RT Ueb HEATE & 1 Tl |
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U 2.
U 3.
Ul 4.

U 5.

U4l 1.
U 2.
U 3.

Ul 4.

HIfoTe |

U4 5.

U4l 1.
U 2.
U 3.

Ui 4.

Do Jt deIT AT Jaht BT quiel BIOTC |
NRA 3 3rafdree Ak fbad T B
ATPINGAT TN RIT & ? SABT 1cel B GaHT ?
It @t ferg o B @t et B 9
I8 IR IRIe
O fe1aTa B Bl BT el BT |
TdRId & B b oifd UsdTel BIfoTg |
dotded A FeaT A B a3 317 AT ofrerd @ ?
Tl el e STeld] bl 3iEid Iolalicie 19787 et & | SF aTa bl Altard

FRIT Bl BT 8 2

AT-9 AJITT-Uh ollded e3dTdol

Uh Gilded a2dTdol &l 31 JaTeU |

3ieEe 368 Bl Jcet B |

DHerATeeT HTRAT [ddTe BT AldeTe TR T Jaird UsT ?
42 & dfdener AenersT & faexr & 3T R S @ ?
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Main Najafgarh Road, Vipin Garden, New Delhi-110059
Formative Assessment -I
Class - XI "

Subject- Political Science

HII-2

ARI-1 Acilodldd RTeled & R

Yoo 1. Jciielicid Tegled T & ?

U912, IeTellicl {daiel bl JAd Ird) fosiel fbdAel 3T =l et ?

O\ ON

JoeT3. “ A 3R WBR ASAeiicid RAIGIed BT Y 9 & T Pty |
JoeT4. el do1 Aereh Bl ST & | T Pifory |

AN O

YoeT5. elaiiid fdeilel 3 ¢ ATld JAERY b VeI A 31T =T AAId & ?

EIRI-2  FqdIdl

T9eT 1 . ABRIHD TdId] Bl T STHYTT 2 ?
[9eT2. ATHTTDb Gliaeell bl ITId Sadlal & 3R Dlel—blel A DI Jbd & ?

U3, 3McHBN ‘ Wisd WA BT () & o a1 <or @t 8, 3 ag fober amat
Bl of BT SAH T BT W2 ?

Y4, Sl 33T [1eT & Bifer Riged &l @ it |
Goel5. Fadadl U Y. 3R 2 | 23 Aifad Sifu |

AETI-3 AHATAdI

GooT 1. AHATIAT BT T YT & ?
7912 fofor-deara @RI 2 ? 39T I |
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el 3. JAATAAT 3R IqcAT UH-GAL Bl I ¢ | AAJST D 2



Y9eT4. (AU BIAHTIAT A T MU 2 2
yoeT5. JATEAAT Ui & Rees 2 1

T4 ATAIND =TT
G9eT 1. JSATST DI 31Ul IET H YHTIHT 39 A TS |
U9e12. Silel AcA B [JANEHB =TT B RAegled BT qUiel B |

G9eT3 ATHTTD AT B ol U Adh! JAT JHYT il dMeU | 3Tl 9l & Fee
BHIToTC |

[oel4. 37Tfh T Bt LRI Bl IJYIT BITIU |

[9el5. LI B TaNG =T g ?

3EATT-5 3MTEBR
GooT1. 3MTEPBIT T oiondl & 31Ul 9@l & IYIT Bhifolu |

Y9eT2. 3ITEbR Bidl YaTel Bdl & ?

Y9eT3. T BT 3NUBR T & | TAD Aed T GBI SHery |

YocT4. 3ifBR B AT Alfeid 99T RIT SiieT =T 2

oI5, TT SABR 3RATA Bld & ? 37Usl IR P AHIS # d SMforv |
-6 _ANebdl

911 . TIRehar fbar UTed gidt & 7

Y9612, Jakd 49T RTegTed T &RIT 312 & 2

G973, fpalt AOIR Bl ATTRBdT DA TATT &l Abd! & ?

[oel4. TIEI SIOMchdl oo & ?
YoeT5. U 39l AT & IO &l quie Bitoy |

EI-T UTcdic

T 1. IegATE Pl [dpIA Hd 3R HA garl |

T9a2. AS-TTHI0 A T SATHUTT & 2
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T3, IS 3TR A9g & TR 3R Taraii |

U9 4. AEATE B HIGel [I9g Uehar & A1t 3 TGN UeT BedT & | T T PBITT |
TEIRI-8 _ eTH-TeRUeTdT

Yoel 1. SH-ToRUSTAT R JeH 3 foTRa |

goaT2. ead-feruer darr uer forever & o 3iav & ?

y9er3. enfdes Boewar A = T 2 2

Yool 4. H-ToRUeTdT derT eNfdfes 5T H Pig U 3ia IdmaN |
3TEII-9  Mied

Yeel 1. 9Micd 91& BT e & quiel & |

Y9eA2. Ieg BT B RN BTl

a3, faeq & enfed it orvdt 21

YoeT4. 3Fellicd BT PR HFH A & | T AR P 3(Uel WIGET H Y23 BToTU |
3TeII-10 _fddrRT

U9eT 1. [qeBr 3R dllan & fo1u 8ldn @ 3ifes Afea Jeemsv |

YoeT2. TN YaTd bt gdl Biotu |

O3, HTRd 3 [T SAoT 37Uel JT U | TTEIPTI Y FlaT T2 B2 28 & ?

yoer4. fHfra 3ref @raRen & Ase W U fdra fweft faRaw |
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Main Najafgarh Road, Vipin Garden, New Delhi-110059
Formative Assessment -I
Class - XI "

Subject- History

Pell- 1 11497 &t - 3G 1 : URIHB ASATS TS -1 AT Bl Y301 A

Y1, Blalicisl Bl 3qHd Dal A 31 ? &l Yal SHioiv |
Y912, 3RCAIAMITIGA B o &l I ?

y9er3. Brael 1 4T T 2

U9t 4. 3RCAIANURIe qa 8ot & T 3R adrsy |

Y9eT5. TTQIT BIcT I febel il YaIH TN & qier M & 2

U9el6. Y37k HTeTd AUelT Hiolel {baT UbIE UTd hid ardl ?

Goel7. 3TUATSIS del JIASUT A 3T =T JHId &l ?

a8 3ifderds 3rerar gee fobd a1d &l Ui & ? 3D I ol & ?
g9, eI (Altamira) & [T st & e & 30 @M Serd 2 7
U9l 1 0. AT b AW WS Bl Bl Rerfer &1 3 @ emer fover 2

T9eT1 1. 37Tl BT AT [ Uoiliel Bl & UISHe Bl af faoredrs forfm |
el 1 2. UYUISHS of 37If¢ HATeld & witel o I URddel 31 ?

el 1 3. HILM P b (bl YebIX F3T 2

Y9 14. UZU P 31Td9PR o 37 AT B ofidd H A YbR Bitd ol of ? il
BIToTT |

YT 1 5. 30T DI JoT of AT Sidel P b GHIAT o ?
Y 1 6. 3MMGebleilel HTeld fchel—fcpel qolehl A lotel SerdT T ?

T9el 1 7. B Pt Fol Bl AT oidel 3 oI Faed & JHSNSU |
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YoeT18. gadel & MR W 3fdld TR R dd gU 3MRich- Aed Heol b
faear & faRo |

AT 3R Yo

79aT 1 . f3reBrol- Hared AATST A & it At [918T ISV B & 2
YoeT2. SR & fofalivr & Haqe # AT 3R STeIa 3 b FAT & ?

[oeT3. TR A & et Al Rerm ygv dd B 2

YoeT4. CIApIGA 31 9Md UG SCTdHRT Bl WIS # Serad] dbi Adba! bl TR
FHAT: b YR & 3o o & ?

o C
allclid bl

U9el1. 3Bl & AR UT 3Mc HAed & e Jaae) fordaiciiad el &

qorisy |
(1.) R-T-Ycarel (ARTD!)
(2.) are? Ba (cferor 3rter)
UTe-2 TRl Bbell 31T & Slidet

YT 1. I P ool Fel BN [h JTeNaelel UYARE [ollead U A & oddl B
foro g & ¢

YoeT2. 3Ty UAT R AMEd & (b Y1 HIG Igd BB 6 ol 81 81T ?

Y9el 3. & Siiael Y aldd B qIe bla-2 Al o5 IR 3iRdcd # 31Mg ?
T4, fhet qRIeht walferdt A & FAUCIHAT Bt AT B FoTdb farerclt & 2
Y9eT5. SIE=T Sildel P UIeH D@l §aiT ? T ATl B ANicids R Jargu |

U9eT6. oI5l Bell Bl &I HET & ? H. B ol (eh3T YR B fordm dd & 2

YoeT7. FATUICHHAT 3 febet ilel YR B IRI I folaIom 3T 2

T8 AATTICITITRAT & ol of JAT &I [daTTeTel fbaT b fegarm 2

ToT9 HAUICIHAT B ollal bl enfdles 3mAar & 997 & Farsy | 77

9ol 10 3RIISCTUTS Siel &1 ? 3! YA Juciicga e off ?




YT 1 1. HAUICITAAT B TN [ehoi—Tchel TG3T BT SMATT-TerId Far & 2
Teal 1 2 AV B &7 H HAUCIHAAT DI T o off ?

YTt 3. 91&S ofiael 3 8T fretToteT T T Fg @ ? quiel BT |
qoeT1 4. FAIT & Ao Foarr F qom a1 @ 2

el 1 5. HAUICHHAT B 33 AIR Bl FIT (4T TATC |

HTART PTI-
fdeq & AT W foRaiciiaId efeal Bl gorsu
(&) Toter o1t (1) TR eTat (o) Rig @t (@) ot ofal

3TTT-2 AT

UTe-3 diel FETET & Dell AT

goeT 1. el Jt 3. B Icarnel & Raper b Aferep MRS BT =T YT UST ?
Y9el2. T Fdl B AL H o1 Ao B 3fefiel e AT BT [aeaR JaTgu |
U973, YuTsd UE @ [ & folRau qeim Sarceet SURIeT 9raTsu |

Y914, A ATHTS B AcTeiticids ITETT H Dle—diel A I Racimel & 2
o5, A AHTST B AT Acef 3 I8 Jg &1 31 Fuee HIfoTU |
GoeT6. AT ATHST & Jcd 3 T BT 37 JASU

q9el7. A ATHTST H UIT STl I UebRT & ey & forRaw |

YoeT8. AR YA &I ol T & ?

9. e AT H SR Yofeldl Pl AaLABaT Tl &g ?

T9eT1 0. 319ARIEl AT ATse 9ot @ faea & dey & forfaw | d ey F 6o o
farea & 2

T9eT1 1. A ATHTT H (WRAd] Blet) H eABILMEl Uel.d et ot off 7

JoeT1 2. GE2TAIE BT FIT AU & ? AH AT B TP 3T a9 g9 & HU 3 Aga|
e 1 3oy AR "




U913, UHIeA (Monolith) T 37ef SaTs, JAT AT JXBI B Jca H SABI &=
3ref & 7

T9eT 1 4. SATSHV P! YipaT &7 & 2
YooT1 5. HINT AT 3N e9fcd & &7 & A dTcal Pl RT o & ?

Y9eT 1 6. T{oTIC ANoT P A JATST H AT RITT 8 ?

9T 1 7. el (A9 AN B 4131 3 A aTcll Bl AT ol & ?

el 1 8 AdTe AT B Uadl B YA BRY TARY |

Y911 9. IH ATHT b 3Mfelh faedR Bl quiel Pifolu |

AT 3R Yo

Yoo 1. 3TORCH hid T ? A b IdaTd H IHBT AT AoTerel & 2

Uee2. AA B Q9T Aole FT ATEd o ?

T 3. A B ANBARMEN T YIS BT =T YHTT TST ?

Y9eT4. TRA SIHDB! DI MYt H Pl 3Tl P DIV &AT AT ? FHBI FT YU F3T 2

U9el5. 99T FoIfUd alel & UoaTd 1 $fdhl Pl BIAT Ueic &l T | TE s ?

AT BI-

fgoq & AT & fereaferiRad or orfey

() DS (&) e (o7) BT
(5) <férem (5) Seqg arc (@) 28 are)

UTe-4 S3CTTH Bl 3¢ 3T faedr
(cTaTemar 570-1200%°)

(Origin and Expansion of Islam )
Yool 1. ATl 270 B RIHP GBI H dg3AT P oildel df T [aQredr &ff ?

YoeT2. AR} pifel A 3T BT T dTca 2 ?
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Y9eT3. IR 3R URRIT W GGl BT FAT JaTa ST ?



US4, 3T H BIoft (@mrefer) & =i Frf o ?
Y9eT 5. Yoraa GG of 3MTel 3MUD! FeT Bl A dTed ba Aidd fopam 2 3egial

SITOTTT Bl bie-dbiel At T1d dTg ?
o6 [oT81e U2 Ueb o1 fewolt feriu |
9ol 7. RAthd B AT P Telalior By F3 ?
yeeT8. g didl d U # Jargd |
Yoel9. STCTH P [IbRT & To10 oI Jamd T ard 2

[9eT1 0. 39 JIIT Pl [49d Pl T 3ol & ?

AT 3meniRd gea (Value Based Questions)

et . YordaR HEFHE i (14T BT AT YaTa ST ?
T2, B AT bl F=T AT PHd & ?

goaT3. ThICHt Bidl &7 ? 2 32 ol ITE hid & ?

YoeT4. JWide el fhel AT B BRU BT FIAT? 3H 37A R JoI I3V

Pl AT ?

Ulc—5 dIYIdY HIdTod

T9e1. Talel Hl hlel AT ? 3ADT ATHTSY foper-fopel Hergral & o ?

G9eT2. HINA Dl & ? TTa BT HINell A AT Faoe] T ?

Y9eT3. ATD UIcll il T ? I8 fhAeTu UiTeg §amm ?

U9el 4. FHONE (Tl HTel B) el of T [dMeT UG alfed Al & HY HA LRI
fomaT 2

Y9el5. FHaNCH B o0 RTUR I Aecaqul ai T ?
Y9eT6. HINGT Palcll P A3 A TaT |

Yool 7. IRETRY AT FaR A Pl ARFAT HITTU |
YoeT8. BN Ui ol &Y ? ISl FTel Bl IR YOIl b FH [aQedre aarg | 80




T 9. Talol FTel B Afolh BTN B BRI I |
T9eT 1 0 ToToT Tl bt SITCIBIUIAT B dlel PRV TSy |
Yool 1 1. ¥RA b JcH & FHoNcdl B NP P YAl YT Yeb1oT STieTC |

YoeT12. QI DA AT ? IFD ARA W 3NPAVGI [qa0T <ol gU ford (b 3AD
3BT & =T YHTT TS ?

AT 3R Yo

Yool 1. YRTeTt ST UGl I &t ? Tolet JTel of Picl ~AT BolR oI T ?

YoeT2. T P SABILN T &t P 3Ael FoIT AT A fpeall ?

Y9eT3. SITERT PRI of Talel JTel DI A HU H AT [T ?

A3 FacTd! YFYAY
Ure-6 diel auf
YT 1. B & URIHG ATedt AT B YA T8Tull Bl quiel diog |

Y9eT2. TG U el 9ot a2l qof 31T 31T Uaiel ol §arT ?

YoeT3. HEIDBICIISl ol Bl a1 PBrYl &7 ? Hel & [H8J3T Pl (el [Tl BT UTeTel Bl
UGl o ?

YosT4. BRI & A 3R A B 1A B ofidel Bl AT B Jelell BHorT |
YoeT5. AU #F AHAAE P 3T Bd §g ? AT YT B 0T [AAT |
Jodte. UV derm & or@ A R dreud @ 2

YoeT7 HEIDIcidl Id B IUIdaT a0 a9 o ?

yoer8. odt deT 1 6dTAGl & AL BI AU H INeBIT JoT FoT DBal ST & ?
Y9 ThRA & SHfaTeld gof Bl 320 &l guie b |

Yeel 1 0. AHIAIE B Tdel B T PR & 7

YoeT11. 14 df g b AT BT 3N [RAR B e g a1, AT febet BrRoT A
gar ? 81




ToeT1 2. HR AT AT ? AR Pl R b 79T & F&w & Farsy |
AT 3MeRd ged

qalfgeriel a7el & figiar & foru i o18 swaici¥a gade & forfed el W Ueprer
SIielC |

(A * o v
Ulc—T dccldl §_$$ <lzpldd Y<aUlU

el 1. AeradTarel faaRT T 3Hd JGA Uge! Jarcid Q98! 3 aoi §am ?
YoeT2. ASAATATe! [dar & T Sfaetaror & 2
JoeT3. TICHT JeR MeIciel B 3T 3¢9 R & 2

YoeT4. g3 AR SAIcTel B Y UHIT T gU ?

Y9eT5. HoTeTel i el ATA3N BT Juiel Bl |

YoeT6. ST Joll & UIS qRAdd Yo ded a1 & ?

Yool 7. BIUHTS Bl JAWPRE Dl AT ? JAT & Ugel Bl &5 YA diet AT o 2
YoeI8. YASIORYT A 3U &1 AAIA 8l ? AP YFH BRI ey |

Y9, SRR 3MaIciel A FRIT AU & ? TID 3T 3¢9T &1 J 7

YoeT10. YU B G0N B GICHITT & YeiolloRY & HToreHel A o F3I URddd
33 ?

Yool 1 1. &1 YR SATIcTel # Alica feR B AIGTel Pt AlaTd Tdi HiforU |

yeeT12. [ @RE A alonford WMeiiel SMelfelds Jor B ollel & AcaYol afoam
ferafrs 2

goel1 3. fhel ABeAdTan a1 Hrvn A feraaiciRad amet ufirg 2 2

Ufew, A Uioiell, Thd, e 3, Afdardet, foaiamet @ fdedt,aea o, Arica
TR Jfctferet, @R fordat, gia, Bifer dase |

T 1 4. delTieics pifcierT &ff ? SHPT ol U AT YHTT TSI ?

AT 3NeRa geet 2

GOl 1. SARRIA o R BT ? Sidze bid & 2 & 3d diel AT {318 Tg0 Haelt
4



MU ?

Y2 LU WENforh Bl AR HUT FT 3UBR T & ? A Al 3UBRI Bl It g
IO |

BNd 3meatd god
GEAGRGICIC ST 37T FaTef aTel

(@) 3UYa e B 3R AN B AGT B WHT S I A FJ [daR BT
30T BT |

() FATeTaaTaret Afd B U fadiear &1 IeorA HifoTu |
(7)1 4t @ 1 541 oraTedt F Seelt & N Bl [TALAT3N BT IeTRT BT |
ARSI Bl

gecil B AT UT 14 df 9 B SdTerdt Aol Dl NS |

UG-8 JTPHIAT Bl CehIq

Y9eT 1. Uoled 3R FAUCIHAT B @aT bt AT P Jeael difory |
YoeT2. U Bld A PR &a ot 7 15 df g & FATU Aareil Bl AT et ?
Y9eT3. TIETOT ARG Bf Fot of TN Juferder Bl B ofedt fem 2

YoeT4. JAHIHT 3 A YT B Y BRY Iy |

U915, BT AN B BIY IcUTdel qeIT—arlT & 7
Y9eT6. PBlciad bl araAdt I 3ifere died @t off 2
[9eT7. Wligel 9f6e A &l diead & ?

Y9eT8. 3BT H TN Bl YR B g3TT ? 3Bl JRIAT UT IABI a1 YarTd UsT 2

Y99, HTIAT 9T bt 3MTdT IUctieert oy off 2
Y9eT10. I3 Foll T AARBT U =T YHTT UST ?
GoeT1 1. AP HJAT3N B fIaimel B Srefeprt @ ?

U9eT1 2. TUGTRY Diet o 2 31T (SHT USn) F SHB ABAAT3AT Bl FIRRT HBOTT | ;

3




AT 3R Yo

Yo 1. I A B JeT YO W YBIY STy fofealel 38 Fagst At bt Il b
fore uRa T |

THTIT-4: ST FADIDBT
UTe-9 3MeENfTeh Hifed

goel 1. [SIcel1793 A 1815 AP By J@i # o7 BT SABI foicel B &N TT T
THTT UST ?

G972, &Y 3T 3a7d b ANTB 31T F—a= B 2

Y9eT3. FATSU DI foiced & SHeOIbdvl & WHU U Fad ATGTd! MY Bl a2 JaTTd
RELN

goai4. foea & Raai & firear-Tire quit & oitaed W 3ienfore wifa & o= g

RELN

u9er5. foq & Tarear-faree om & Io1d 31 Ol A d&f & ol Sifdel UT = GHII
qer ?

Y916, SO Bild FGA Ugel (b <o # I &3 ? W H Aoige q91 & ofdel R
SABT RN YATT TST ?

Yool 7. BRI UGHd Bl F3 (AeaTU Iarg |

U9e18 . 3iTeNT3Tes el BT S9c1s B D! U AT YaTTd TST ?

Y919, [ YR A 3N shifed of YoildTe Bl derar fea ?

U9ET1 0. S9018 H Bla aTett 3NeNfTeh Hifer BT HRA U =T UG ST ?
Y91 1. SNENRTBBT B BRYT 3iTedh 18T B SMATRAT DA § ?
yoa 1 2.3MeNfre Bifed & geURTIA TaTse |

Yool 13, PIct AGH B (AR FAATOAIG &RT & ?

T9ET 1 4. BRI Ughad A 3T FIT JASA 2 ?

9ol 1 5. TTST UGHd a1 & ? I T &lfel gg ?
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T9el1 6. forcel & NafoThedvr & #1U B 91fckd BT T Heed a7 ?

o1 7. ‘Rafeiar orelt * N BT SHTILPIR B 3N AT TADT T TN 27 ?
9T 1 8.3MENTIIH Hifd B Focis 3 3RF Blol B Y PRV TAI3N |

¥oeT1 9. f5eet & Pust e 3 wpifed el dTel 3MTaebRT @l fgawer Afev |
Y&A20. B & Salfores shifer sicid el arfer A T g g3 ?

YoeI2 1. AT Fofel 1 SENTID Bifd H N Aeaqy! TRIETe &l & 17 T |
T HTT |

Y9122, SENIBBT B o0 dla-diet A uRRef sreem & ?

Y9eT23. ¢8 Jlere (Irade Unions) ¥ 3T T JASA &1 2 SAB MU 8l B
YHH 35T P AU B |

Y9512 4. BIIAT 3N A&l 3eNoT & Bifd oflel dlel 3MMI9BRT Bl aulel B |

U912 5. foreet @ SNeNforeh il BT MR Bt 31 e W T YaTg UsT ?

YeeT26. focd @ IRBR gRT B Bl G JIRe B [T Pia-Dial A Blefell bed
3o I ?

AT 3R Yo

el 1. TIOT Hefdwe? & Ac Uic Hered & RN 3¢S §U ? 91 39T Iheal alell 3fad
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Assessment -Part -A & B
Class - Xi"

Subject-Ecomomics

Part-A Micro Economics

Chapter : 1 Economics
Multiple choice Questions:
Q1.Which of the following is not concerned with the problems of choice?
(a) Excessive Income (b) Alternative use of Resources
(c) Unlimited Wants (d) Limited (Scarce) Resources
Q2. Economic problem arises due to the fact that:
(a) Resources are scare (b) Human wants are un limited
(c)Resources have alternative uses (d) All of these
Q3. Scarcity of resources exists:
(a) At the micro level (b) At the macro level
(c) Micro as well as macro level (d) none of these

Q4. A statement which does not offer any suggestion is known as:

(a) Positive statement (b) Normative statement
(c)both (a) and (b) (d) None of there
Q5. Consumer is sovereign under:

(a) Controlled economy (b) Free economy

(c) Mixed economy (d) Both (b) and©

Q6.Slpe of production possibility carve is(a) Straight line (b) Convex to the origin (c)

Concave to the origin (d) None of there 29

Q7. The shape of transformation curve in changed by:



(a) Opportunity cost (b) Total cost

(c)Marginal opportunity cost (d)None of these
Q8 When MRT is constant, the PPC will be

(a) Convex curve sloping downward

(b) A horizontal straight line

(c)Astraightline sloping downward intercepting both X and Y Axis
(d) None of these

Short question:

Q1. Explain central problem of an economy

Q2. What s scarcity?

Q3. Whatisan economic problem?

Q4. Why does an economic problem arise?

Q5. Whatis an economy?

Q6. Define production possibility curve?

Q7.Draw a PPC and show the following on it

(a)full utilization of resources

(b) underutilization of resources

(c)Growth of resources

Q8. When does PPC carve shift right words or left words

Hotand application questions

(1) " massive an employment shifts the PPC to the left" defend refute (2)Why should

there be huge unemploymentin India when scare city of resources is a universal fact
Value based question :-

1. If more and more resources are constantly explored and new technics of production
are constantly discovered, Don't you think a day will come when over central problem
will be solved ones for all?

2. For those working under MGNRGEA, the govt. has raised minimum employment
from 100 to150 day's during a year. How put it impact the actual and potential level of

output in the economy
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Subject-Ecomomics

Part-A Micro Economics

Chapter : 2 Consumers equilibrium
Multiple choice question :-

Q.1 In which analysis can utility be measured in definite numbers such as 1,2,3,4 etc.?

(a) cardinal utility analysis (b) ordinal utility analysis
(c) both (a) and (b) (d) none of these
Q2.the condition of consumer equilibrium when only one commodity is consumed
(a) MU=TU (b)MU>TU
(c)MU<TU (d) none of these.
Q3 Consuming two goods, a consumer attains equilibrium when:
1) Mux _ MUY 2) Mux _ MUY
Px PY Px PY
Mux _ MUY Mux _ MUx
3 "px T PY 4 “px T PUY

Q4. A consumer will purchase more of good X than good Y only when:
Smart questions

Q1. Define utility.

Q2. Explain: TU and MU

Q3. Explain the relation between TU and MU through table and diagram.
Q4. Define cardinal utility.

Q5. Define ordinal utility.

Q6. Whatis budget line.



Q7. Write the equation of budget line.

Q8. Whatare budget sets ?

Q9 .Explain indifference curve with the table of diagram .
Q10. What is Marginal Rate of Substitution? Why MRS falls?
Q11. What s the shape of the indifference wave?

Q12. Explain the proportion of indifference curve.

Q13 What in indifference map?

Q14 What is monotonic preferences?

Long Question:-

Q1. Explain the condition of consumer's equilibrium when he consumer a single
commodity .

Q2. Explain the condition of consumer is equilibrium when he consumer two
commodities.

Q3. When does a consumer gets equilibrium though indifference curve analysis.
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Part-A Micro Economics
Chapter : 3 Consumer’s equilibrium, utility Analysis
Multiple Choice Questions:
Q1. In case of normal goods, demand curve shows:-
(a) A negative slope (b) A positive slope
(c) Zero slope (d) None of there

Q2. When at the price of S per unit of a commodity. A's demand is for 11units, B's
demand is for 14 unitsand C's demand is for 8 units, then market demand will be;

(a) 11 units (b) 14 units
(c)17 units (d) 33 units

Q3. As a result of rise in consumer's income , demand curve for coarse grain(inferior

good):
(a) Become a horizontal straightline
(b) Become a vertical straightline

(c)Shifts to the right (d) Shifts to the Left

Q4. Change in quantity demanded of commodity due to change in its own price,
other things remains constant is called:

(a) Cross price effect (b) price effect
(c)income effect (d) Substitution effect
Short Question:-

Q1. Define demand 93



Q2.Explain the determinants of demand

Q3. What is demand Function?

Q4. Explain individual demand schedule.

Q5. Explain market demand schedule.

Q6. Explain individual demand waves.

Q7. Explain market demand waves.

Q8. What are Giffin goods?

Long Question :-

Q1. Explain the low of demand with the help of a table and a diagram

Q2. Distinguish between 'change in demand' and 'change in quantity demanded.
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Part-A Micro Economics
Chapter : 4 (Elasticity of demand)
Multiple Choice Questions:
Ql.gx 20

AP Is the formula of measuring price elasticity demand thorough:

(a) Proportionate method (b) Percentage method

© Geometric method (d)Both (a)and  (b)

Q2. Onall points a rectangular hyperbola demand curve elastic of demand is::
(a) Equal to unitary (b) Zero

(c) Greater then unitary d) Less than unitary

Q3.Ed>/ represents:-

(a) Elastic demand (b) Inelastic demand

(¢) Unitary demand (d) None of there

Q4. In case of Ed=, demand curve s :-

(a) A horizontal straight line (b) Down word sloping curve
(c) Avertical straightline (d) None of there

Q5. For a commodity =(-) 0.2 and elasticity of demand=(-) 0.3, the percentage
change in quantity demanded is:-

(a)6 (b) 40 (©)(-)6 (d) 10
Short Questions:-
Q1. What is meant by price elasticity of demand? 95

Q2. What is meant by perfectly elastic demand?



Q3. What is meant by perfectly realistic demand?
Q4. When is elasticity of demand called unitary?
Q5. When is demand elastic?

Q6. When is demand inelastic?

Numerical of price elasticity of demand

Q1. A consumer spender 100 on a good priced at 4per unit. When price fall by 50 per
cent, the consumer continues to spend 100 on the good. Calculate price elasticity of
demand by percentage method.

Q2. Price elasticity of demand of Good -X is -2 and of Good -Y is -3. Which of the two

good is more price elastic and why?

Q3. At 26 per unit, the demand for a commodity is 30 unit. If the price increases from
26 t030 per unit, the demand decreases to 15 units. Calculate the price elasticity of
demand.

Q4. Price of the commodity increases from 50 to 60 per unit. What should be the
view quantity so that elasticity of demand is established to be unitary?

Q5. Give the formula to find out elasticity of demand by percentage method.
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Part-A Micro Economics
Chapter : 5 (Production Function And Return to a Factor )

Multiple Choice Questions:

Q1. Short run production function is related to

(a)the law of variable proportion (b)return to scale
(c)both Aand B (d)None of these
Q2. When total product is maximum then marginal product
(a) Decrease (b) Increase
(c)is also maximum (d)is zero

Q3. Marginal product curveisa

(a) U-shaped curve (b)inverse U-shaped curve
(c)Rectangular hyperbola (d) none of these

Q4. Per unit production of the variable factor is called:

(a)total product (b) average product
(c)marginal product (d) none of these

Short Questions

Q1. Distinguish between fixed and variable factor?

Q2. Distinguish between short run and long run?
Q3. Explain the following
(a) TP (Total product) (b) MP (Marginal product)



(c)AP (Average product)

Q4. Distinguish between variable proportion and return to scale?
Q5. Explain the relation between TP and MP?

Q6. Explain the relation between MP and AP?

Long Question

Q1. Explain the law of variable proportion with the help of a table and diagram?
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Part-A Micro Economics
Chapter : 6 Price elasticity of Demand

Multiple Choice Questions:
Q1. Which of the following is correct

(a) TC=TFCXTVC (b) TC=TFC/TVC
(cTC=TEC+TVC (d) TC=TFC-TVC

Q2. When production costs zero then fixed cost is:

(a) Zero (b) Negative (c)Positive (d) Equal to variable cost
Q3. Which of the following indicates the fixed cost?

(a) Electricity bill (b) Expenses on raw material
(c) Wages of daily workers (d) Interest on fixed capital
Q4. Average fixed cost (AFC) is indicates by :

(a) Rectangular hyperbola (b) A straightline parallel to x - Axis
(c)A straightline parallel to y - Axis (d) A U-Shaped curve

Q5. Which of the following is correct:

(a) MC=TFCXTVC (b)TC=TFC-TVC

(c MC=TCn-TCn-1 (d) TC=TFC/Q

Short Questions :

Q1. Whatdo you mean by Cost ?

Q2. Distinguish between explicit cost and implicit cost? 99



Q3. Explain the following :

(a) Fixed cost (TFC) (b) Variable cost (TVC) © TC

Q4. Show that TFC, TVC, and TC and a single curve?

Q5. Explain the following:

(a) Average fixed cost (AFC) (b) Average variable cost (AVC) (c) Average cost (AC)

Q6. Explain marginal cost. Why is MC curve 'U’ Shaped?

Q7. Show the area under MC Curve is TVC?

Q8. Explain the relation between MC and AC?

Q9. Explain the relation between ACand AVC?

Q10. Why the distance between AC and AVC keeps on falling when output is

increased?

Q11. Explain the relation between MC, ACand AVC?
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Part-A Micro Economics
Chapter : 6 Revenue
Multiple Choice Questions:

Q1. Revenue

(a)cost -profit (b) cost + profit

(c) costx profit (d) cost/ profit

Q2.fora perfect competitive firm, prise is :

(a) greater than MR (b) equal to AR

(c) Equalto MR (d)both (b)and  (c)
Q3. Average Revenue:

(a) can be negative (b) cannot be negative

(c) isZerowhen TR iszero (d)both (b)and  (c)
Q4. Which of the following equation is incorrect:

(a) AR =PXQ/Q (b)AR=P+Q

(c) AR=P-Q (d)AR=P/Q

Q5. When MR is zero, then:

(a) TR is minimum (b) TR is maximum

(c) TRiszero (d) TRisequal to MR
Short Questions

Q1. Define revenue? 101



Q2. Define Total revenue?

Q3. Define Average Revenue?

Q4. What is meant by marginal revenue?

Q5. Whatis the shape of TR under perfect competition?

Q6. What is the relation between marginal revenue and average revenue under perfect

competition?

Q7. What are the shapes of average revenue and marginal revenue curves under

monopoly and monopolistic competition?

Q8. Why do the marginal revenue and average revenue curves look like under

monopoly and monopolistic competition?

Q9. Complete the following table

Output (units )

Average Revenue3

Total Revenue?

Marginal RevenueZ

1

2
3
4
5

20

ooooooo
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Part-A Micro Economics
Chapter : 7 (Producer's equilibrium)t
Multiple Choice Questions:

Q1. Difference between TR and TC is maximum when:

(a) AR=MR (b) MR=MC (oMR=AC (d) mc=ac
Q2. Normal profit occurs when:

(a) AR>AC (b)AR=AC ()AR<AC (d)TR>TC
Q3. In the context of producer's equilibrium which one is wrong?

(a) Minimum difference between TR and TC

(b) MR=MC

(c)Producer gets maximum profit

(d) In equilibrium situation , producer has no tendency to change his production.
Q4. Atbreak - even point, a firm makes:

(a) normal profit (b) extra normal profit

(c)extra normal losses (d) none of these

Q5. IfTC=25and TR =30 itis case of :

(a) abnormal profit (b) normal profit
(c)abnormal loss (d) break even point
Short questions:

Q1. Who is producer? 103



Q2. Whatis producer's equilibrium?
Q3. Explain MC - MR approach for producer's equilibrium?

Q4. Given below the cost schedule of a product produced by the firm . The market

price per unit of the product at all levels of output is 12.using marginal cost and

marginal revenue approach, find out the level of equilibrium  output give reason for your

answer:
Output (units ) 1 2 3 4 5 6
Average Cost < 12 11 10 10 10.4 11
Long Question:

1. Explain the condition of producer's equilibrium (MR = MC approach) through

the help of table and a diagram
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Part-A Micro Economics
Chapter : 8 Theory of supply

Multiple Choice Questions:

Q1. According to low of supply :

(a) There is positive relation between supply and price.

(b) There is negative relation between supply and price.
(c)There is constant relation between supply and price.

(d) There is no relation between supply and price.

Q2. Thelow of supply does not apply to:

(a) Agricultural products (b) Industrial products
(c)Perishable commodities (d) Both (a)and (c)
Q3. Movementalong the supply curve occurs due to :-

(a) Increase in own price of the commodity

(b) Decrease in own price of the commodity.

© Factors other then own price of the commodity

(d) Both (a) and (b)

Q4. Supply is more elastic in case of:-

(a) Very short period (b) Short period

© Long period (d)Both  (b)and (¢

Q5. Of 18% in price of the commodity causes 27% decrease in its supply , elasticity df05
supply will be:



(2)1.5 (b)0.5 (c)0.67 (d)2.5

Short Question :

Q1. Define supply

Q2. Distinguish between supply and stock.

Q3. Define individual supply schedule.

Q4. Define market supply schedule.

Q5. Define individual supply curve.

Q6.Define market supply curve

Q7. Define supply function .

Q8. Explain the function.

Q9. How will change input price effects the supply of the commodity?
Q10. How will change in technology effects the supply of the commodity?
Q11. Explain the low of supply .

Q12. Distinguish between increase in supply and expansion in supply.
Q13. Distinguish between decrease in demand and contraction in supply .
Q14 Explain different kind of elasticity of supply .

Q15. How does the imposition of GST affect the supply curve of a firm?

Q16. How does an increase in the number of firms in a market affect the market
supply curve ?Q17 . A producer supplier 100 unit of a good ata price of 20 per unit. Price
elasticity of supply is 2. At what price will be supply 50 units? Calculate.

Q18. When price of a good visas from 12 per unit to 15 per unit, the producer
supplier 50 percent more output. What is the price elasticity of supply? Calculate.

Long Question:

Q1. Distinguish between '"Movement along the supply curve' and shift in supply

curve.s
Or
Distinguish between 'Change in quantity supplied' and 'Change in supply’.
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Chapter : 9 -(Forms Of Market)
Multiple Choice Questions:

Q1. In which kind of market, firm is a price taker?

(a) Perfect competition (b) Monopoly

(c)Monopolistic competition (d) Oligopoly.

Q2. 'A firm can sell more only at the lower price' . To which market waved you relate
this statement?

(a) Perfect competition (b) monopoly

(c) Oligopoly (d)duopoly.

Q3. Under monopoly ,affirm has:

(a)Partial control over price (b)Full control over price

(c)No control over price (d) None of ther

Q4. Homogeneous products are sold under:

(a)Collusive oligopoly (b) Non-collusive oligopoly
© Perfect oligopoly (d) Imperfect oligopoly
Short Question:-

Q1. Define market.
Q2. Whatis the price maker firm?
Q3. Why are AR and MR equal under perfect competition? 107

Q4.What s the shape of demand curve under monopolistic competition?



Q5 What s the shape of demand curve under monopoly?

Long Question:

Q1. Define perfect competition market. Explain its features.

Q2. Define monopoly market . Explain its features.

Q3. Define monopolistic competition market. Explain its features.
Q4. Define oligopoly. Explain its features.

Q5.Why is the demand curve under monopolistic competition market more elastic
then under monopoly?
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Chapter : 10 (Market Equilibrium under perfect competition)
Multiple Choice Questions:
Q1. In the situation of market equilibrium
(a) Market demand= Market supply
(b) Market demand > Market supply

(c)Market demand < Market supply

(d) None of these

Q2. If demand for a product falls , Equilibrium price will:

(a) Fall (b) Rise (c) Either of the two (d) maither of the two.
Q3. Market price is related to :

(a) Short period (b) Vary short period

(c) Long period (d) Vary long period.

Q4. At px= 5 demand for good -xis30 unit and supply of good -x is 20 unit, its is a
situation of :

(a) Excess demand (b) Excess supply
© Equilibrium (d) None of these
Question :-

Q1. Whatis equilibrium price? How is it determined?
Q2. What do you mean by excess demand? 109
Q3. What do you mean by excess supply?



Q4 Market for a good is in equilibrium. Its demand increases show it chain of effects

on equilibrium price and quantity.

Q5. The demand of commodity is perfectly elastic, its supply increases, show its chain
of effecys on equilibrium price and Quantity.

Q6. Show the effects on equilibrium price and quantity when there is simultaneous
increases in demand and supply .

Q7. What do oyu mean by ceiling price? Whatare its consequences?

Q8. What do you mean by floor price (minimum support price) What are its
consequences?
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Part-B Stats

Chapter : 1 (Concept of Economics)
Q1. Who is the consumer?

Q2. Define the term producer.
Q3. "Statistics defines in the form of aggregates of numerical facts”. Give example.
Q4. Statistical methods are substitute for common sense. Explain these statement.

Q5. Statistical is that scince witch is related to the analysis os statical date. Explain

with on example.
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Part-B Stats

Chapter-2 (Collection of date)

Q1. Define date. What are the main sources of date?
Q2. Distinguish between primary and secondary source of date.
Q3. Different Ate between primary and secondary date .

Q4. What is meant by questionnaire? What is the difference between questionnaire
and schedule?

Q5. Define the terms
(1) Investigator
(i1) Enumerator, and

(i) Respondent.
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Part-B Stats

Lesson -3 (Census and Sample maths of collection of Date)

Q1. What is meant by censes method? What are the uses?

Q2. What is meant by sample method? What are its use?

Q3. What s the difference between censes method and sampling method?
Q4. Mention four main merits of censes method.

Q5. What are the main merits of random sampling?

Q6. What s the difference between universe and sample?
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Part-B Stats

Chapter -4 (Organisation of data)
Q1. What is meant by classification of data? State its objectives.

Q2. What is Frequency distribution? What are the main points underlying the
construction of a frequency distribution.

Q3. The following data is of the age of 25 students of class XI. Arrange there data is the
form of a frequency distribution

15,16,16,17,18,18,17,15,15,16,16,17,15,16,15,16,16,18,15,17,17,18,10,16,15.
Q4. Convert the following data in a simple frequency distribution:

5 Students obtained less than 3 marks.

12 Students obtained less than 6 marks.

25 Students obtained less than 9 marks.

33Students obtained less than 12 marks.

Q5. An economic survey revealed that 30 families in the town incur following
expenditure in a day(rupees)

11 12 14 16 16 17 18 18 20 20 20 21 21 21 22 22 23 23 24
25 25 26 27 28 28 31 32 32 33 36

(i)Convert these data in the form of a frequency distribution , using the following

class intervals.
10-14, 15-19, 20-24, 25-29, 30- 34 and 35-39.

(i) How many families spend more then 29 rupees a day?
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Chapter -5 (Presentation of data -Textual and tabular presentation)
Q1. Whatis the table.
Q2. Explain the kind of a table with their example.

Q3. Mention the simple rules (any four) to prepare a table.

Q4. In a sample study about the coffee habits in two towns, following data were
observed:

Town X : 52% persons were moles
25% were coffee drunken and
16% were male coffee drinkers
Town'Y : 55% persons were moles
28% were coffee drinkers and
18% were mole coffee drinkers

Represent the above data in a tabular form.
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Chapter -6-7 (Diagrammatic presentation of data)
Q1. Write down the short note on the following :-
(a) Bar diagram (b) Pie -diagram

Q2. Represent the following data by multiple-bar-diagram:-

Department year-2004-2005 2005-2006 2006-2007
Arts 600 550 500
Science 400 500 600
Commerce 200 250 300

Q3. What do you mean by rectangular diagram?
Q4. Define an a give curve.
Q5. Define the term of multiple bars and frequency curve.
Q6. Draw aless than frequency curve from the following data:-
Wealth(in lacs): 0-10 10-20 20-30 30-40 40-50
Noofcompanies: 2 3 7 11 15

50-60 60-70

7 23
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Chapter-8 (Arithmetic Line-Graphs or Time Series Graphs)
Q1. Define a graph. Describe its types.

Q2. Describe the advantages of graphic presentation.

Q3. Plotan annual profits of a firms on a time series graph:

Year: 2012 2013 2014 2015 2016 2017
Profit(000%) 60 72 75 65 80 95
Q4. The following are the sales figures of TVs of Firm A, during 2012-2017:
Year: 2012 2013 2014 2015 2016 2017

Sale: 2,155 2,201 2,250 2,190 2,095 2,170
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Chapter -9 (measures of Central Tending- Arithmetic Mean)

Q1. Define on arithmetic mean.

Q2. The pocket allowances of 6 boys is Rs. 6,12,18,24,30 and 36. Find out arithanetic

mean.
Q3. Write down the formula of weighted mean.
Q4. The following weight in Kg. Of 14 persons are give below:-
20, 28, 34, 39, 42, 53, 59, 68, 72, 74, 78, 79.
Calculate mean by direct method.
Q5. Calculate weighted mean from the following information:
[tems: 96, 102, 104, 124, 148, 164

Weights(in kg) 5, 6, 3, 7, 12, 9
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Chapter 10 (Measures of control Tendency-Median and mode)

Q1. Define the term of median.
Q2. What do you mean by the term of mode?
Q3. What do you understand by quartile?
Q4. Find out median valve from the following data:-
25, 15, 23, 40, 26, 23, 26, 20, 28

Q5. Calculate the median and Q1 and Q3 from the following;:

Wages: 0-10, 10-20, 20-30, 30-40, 40-50, 50-60
Number 5, 7, 8, 12, 28, 22
of workers

60-70 70-80

10 8

Q6. Find out the valve of made from the following data:-
X: 1-10, 11-20, 21-30, 31-40, 41-50
F: 5, 8, 12, 0, 4

Q7. The arithmetic mean 38.2 and median 41.6 of distribution than find out the

value of mode.
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Chapter-11 (Measures of Dispersion)
Q1. Define range
Q2. Define Quartile deviation
Q3. Define coefficient of quartile deviation .

Q4 Find out Range, Semi- quartile deviation and coefficient of quartile deviation

from the following data:
Size :- 1-5, 6-10, 11-15, 16-20, 21-25, 26-30
Frequency:- 5 12 20 25 10 5

Q5. Explain the construction of Lorenz curve taking on imaginary set of data.

Q6. Find out quartile deviation and the coefficient of quartile deviation of the

following series. Wager of view workers in Rupees:-
170, 82, 110, 100, 150, 150, 200, 116, 250
Q7. Find out mean deviation of the following series from mean and median:
Size 4 6 8 10 12 14 16
Frequency: 2 4 5 31 2 1 4
Q8. Find out the standard deviation of the makes recurred by 10 stodats:
S, No- 1 2 3 4 5 6 7 8 9 10
Marks-43 48 65 57 31 60 37 48 78 59 120
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Chapter-12 (Correlation)

Q1. Define correlation . Give its importance.
Q2. What is meant by correlation . Explain its various kinds.

Q3. Calculate the coefficient of correlation b/w the hights of father in inches x and
then sons (y):

X: 65, 66, 57, 67, 68, 069, 70, 72
Y: 67, 56, 65, 68, 72, 72, 69, 71

Q4 Calculate the valve of coefficient of correlation by korl pearson method from the

following data :
X: 10, 12, 11, 13, 12, 14, 9, 12, 14, 13
Y: 7, 9, 12, 9, 13, 8, 10, 12, 7, 13,
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Chapter -13 (Index Number)
Q1. Define the term Index Number

Q2. What s base year? How it is choose? Explain ?

Q3. State the significance of comnadities in the year 2011 and 2016 . Calculate the
price index by price relative method:

Commodities price 2011 price 2016
A 45 55

B 60 70

C 20 30

D 50 75

E 85 90

F 120 130
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Chapter-12

Q.1 Define the term of correlation and mention its measuring method.

Q.2 Explain the merits and demerits of correlation. Any four point.

Q.3 When is rank correlation more precise then simple correlation coefficient?

Q.4 Calculate the coefficient of correlation b/w the heights of father in inches (x) and
then sons (y) :

X 65, 66, 57, 067, 68, 69, 70, 72

y 67, 56, 65, 68, 72, 72, 069, 71.

Q.5 Find out the coefficient of correlation by Rank method from the following in
information :-

X 87, 82, 89, 92, 93, 95 97, 98

y 29, 63, 52, 46, 48, 50, 54, 55.

Q.6 Calculate the value of coefficient of correlation by karl pearson method from the
following data :-

X 10, 12, 11, 13, 12, 14, 9, 12, 14, 13

y i 7, 9 12, 9, 13, 8 10, 12, 7, 13.

Q.8 The following marks are obtained by 10 students in statistics and economics in a
test. Find out coefficient of correlation by rank method :-

Statistics : 84, 51, 91, 60, 68, 62, 86, 58, 35,49.
Economics 78, 36, 98, 25, 75, 82, 92, 62, 65 39.
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Choose the correct option from the followings :-

1. The paasche’s index number is based on :

(a) Base year quantities (d) Currentyear quantities
(c) Average of current & baseyear  (d) None of the above

2. The index is used to measure changes in total money value called :

(a) Price index (b) Quantity Index

(c) Value index (d) None of these
3. A consumer prices index measures changes in :

(a) Retail prices (b) Whole sale prices
(c) Producers prices (d) None of these

4. Define the term of Index number.
5. Whatis base year? How it is choose? explain.
6. State the significant of consumer’s price index number.

7. Following are the prices of commodities in the year 2011 and 2016. Calculate the

price index by price relatives methods.

Commodities Pricein 2011 Price 2016

A 45 55

B 60 70

C 20 30

D 50 75

E 85 90

F 120 130 124
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Subject- Business

UNIT: 1
NATURE AND PURPOSE OF BUSINESS

Q1. Name the trade where import of goods is made before the export of good. (1)

Q2. Haresh produces wheat not for sale but for Personal Consumption. Will it be
a business activity? (1)

Q3. Why do we in sine good? (1)
Q4. Which industry provides services to primary and secondary industry? (1)

Q5. The occupation in which people work for other and get remunerated in
return is known as

(a) Business (b) Employment (c) profession  (d)None of them (1)
QG. Classify the following activities into economic and non -economic activities.
(a)Sonia Cooking food for her family

(b) A person selling cold drinks on the station

(c)A student praying in temple for good marks in test

(d)Doctor treating patients at his clinic (4)
Q7 .Discus the following objectives of business: -

(1) Social Responsibility (i) Productivity profit earning. (4)

Q8. Discuss the meaning of 'Genetic' and Extractive Industries with the help gf5 s
example. (4)
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Subject- Business

UNIT:2
FORMS OF BUSINESS ORGANISATION
Q1. Identify the type of partner highlighted in the following statement:
(i) this partner does not take partin the day -to day activities of the business.
(ii) He gives an impression of his being partner to other by his words or conducct.

(iii) He allows the use of his goodwill to benefit the firm and can be represented as a
partner.

(iv) He is represented as partner and in spite of knowing this, he does note deny such
impression.

(v) His association with the firm is not disclosed to general Public. (5)
Q2. Which from of business organisation is suitable in the following cases:
(1) The business organisation should have stability and continuity.

(ii) There should be minimum expenses in starting the business.

(iii) The business organisation should be suitable from the point of view investors.
(iv) The ancestral property is to be used for doing the business.

(

v) More funds and Professional services are required (5)

Q3.Comment " Kanta is the most active in case of Hindu Undivided family business".

(3)
Q4. What do you understand by a sale proprietorship firm? Explain its meritsand .
(5)

Q5. Discuss the various merits and limitation of Joint stock company. (5)
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UNIT: 3
PRIVATE PUBLIC AND GLOBAL ENTER PRISES
Q1. Identify the form of public sector enterprises in the following cases :
(a) Itis under the control of concerned minister of the department.
(b) Itenjoys maximum autonomy in all managementactivities.
(c)LIC and Air India are the example of this form of enterprises.
(d) Minimum 51% of the paid up capital is held by the government.
(e) This enterprise is most suitable when national security is concerned.
Q2. Why global enterprises are considered superior to other business organisation?
Q3. How did the government play a significant role in development of infrastructure?
Q4. Discuss the various benefits of joint venture?

Q5. "Indian economy may be classified into two sectors "Discuss the two sectors.
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UNIT : 4
BUSINESS SERVICE.

Q1.Which of the following is not a function of insurance?

(a)Risk Sharing (b)Assist in capital formation
(c)Lending of funds (d)None of the above
Q2.Which of the following is not applicable in life Insurance contract?
(a)Conditional contract (b)Unilateral contract
(c)Indemnity contract (d)None of the above

Q3. Whatare services? Explain their distinct characteristics?
Q4.Whatis meant by 'Bank Draft'?

Q5. Briefly discuss the following postal saving schemes

(1) Recurring deposit account (2)National saving certificate
(3) Public Provident fund

Q6. Write short notes on

(i) Speed post (ii)Registered post

(iii) Under postal certificate (iv)Parcel

Q7. Explain principal of insurable instant and mitigation of loss?
Q8. Differentiate between various types of goods and services?

Q9. Explain the nature of Business services?
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UNIT:5

EMERGING MODES OF BUSINESS
Q1. E-Commerce does not include:
(a)A business interaction with its suppliers
(b)A business interaction with its customers
(c)Interaction among the various department within the business.
(d)Interaction among the geographically dispersed the business.
Q2. Itis notan application of E-business
(a) Online bidding (b)Online procurement
(c)Interaction Online trading (d)Contract R &D
Q3. Write short notes on:
(1)B2C Commerce :and (i1) C2C Commerce

Q4. Online transaction is prone to "Transaction Risks' Discuss various type of
transactions risks. How can type be avoided?

Q5.Discuss the various types of E-business transactions.
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Subject- Business

UNIT: 6

Social Responsibilities of Business and Business ethics

Q1. Business has various social responsibilities towards different interest groups.
Identify the relevant interest group in the following cases.

(i)Enterprises should act according to well accepted values of the society.

(ii) Business should provide fair return on their capital investment

(iii) Business should avoid any type of pollution

(iv)Business enterprise must pay taxes regularly and honestly.

(v)Business should supply good quantity goods at reasonable prices.

(vi) There should be proper and safe working conditions.

Q2. Identify whether the following statement are true or false

(i) Profit maximisation by hook or crook should be the main aim of every business.

(ii) Business enterprises should not pay adequate and regular dividend to shareholders
as they cannot demand it.

(iii) Employees will stay with business only is they are satisfied with their working
conditions.(iv)Expenditure on social causes is the drain on business resources

(v)Business should adopt eco-friendly production and marketing processes to ensure
environment protection.

Q3.What do you understand by social responsibilities by business? How is it different
from legal responsibility?

Q4. Briefly explain
(a)Air pollution (b) Water pollution(c) Land pollutions
Q5. Why do you enterprises need to adopt pollution control measures?

Q6. Discuss the various arguments against social responsibility?
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UNIT:7
SOURCES OF BUSINESS FINANCE
Q1. The term 'Redeemable’ is used for
(a)Fixed capital requirement (b) Ploughing back of profits
(c) Working capital requirements (d) lease financing
Q2. Under the lease agreement, the lease gets the rights to
(a)Share profits earned by the lessor
(b) Participate in management of the organisation
(c)Use the asset for a specific period
(d) Sell the assets.
Q3. What s business finance? Why do business need funds? Explain.
Q4. What do you mean by "Business Finance"?

Q5. Give the meaning of public deposit.How can a company raise the money through
public deposit? Can such deposits be used to meet long- term financial of the business?
State its Merits and Demerits?
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UNIT: 8
SMALL BUSINESS
Q1.Identify the type of unit (small scale) in the following cases:

(i)Minimum 50%production is supplied to a parent unit and investment in plant and

machinery does not exceed rupees 25lakhs
(i) Investment in plantand machinery does not exceed rupees 25lakhs
(iii) Investment in plant and machinery does not exceed rupees 10 lakhs
(iv) Investment in plant and machinery does not exceed rupees 1lakhs

Q2.State any one incentive provided by the government for industries in backward
and hilly areas.

Q3.Why do small scale industries have low bargaining power in purchasing row
material?

Q4. Why are small scale industries unable to supply good quality products?
Q5. Why does small business lack managerial skill.

Q6. Discus the various points which highlight the role of small scale business in the
developmentof rural India.

Q7. Small scale sector in India faces let of problem in its day -to day functioning.
Explain five such problems.
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Subject- Business

UNIT:9

INTERNAL TRADE
Q1. Identify the type of fixed shop large retailer in the following cases.
(I) Business transaction are conducted though postal communication.
(ii) Bataand nirula's are the examples of this type of retailor
(iii) Pin to plane are the motto of this retail store.

(iv) This retailor provide various facilities and services to their consumers such as
restaurant, travel and information bureau telephone both, rest room. etc.

(v) This retailing is successful only when education is widespread.
Q2. Discuss the various arguments in favour of and against

Q3. Imagine life without your local market. What difficulties would a consumer face it
there is no retail shop?

Q4.Discuss the various points of difference between retailer and whole seller.
Q5.Explain the role of chambers of commerce and industry in promotion of tread.
Q6. Discuss the various documents used in internal trade.

Q7. Explain the services rendered by retailor to wholesalers and manufactures.
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UNIT: 10
INTERNATIONAL BUSINESS

Q1.which one of the following is not amongst India's major trading partners?

(a)USA (b)UK (c)Germany (d)New Zealand

Q2.Which of the following do not form part of duty drawback scheme?

(a)Refund of excise duty (b)Refund of custom duties

© Refund of export duties (d)Refund of income dock charges at the port of
shipment

Q3.Why is it said licensing is an easier way to expand globally?
Q4.Whatare the major items that are exported from India?

Q5. What do you mean by International Business?

Q6. How International business different from Domestic Business?

Q7. Rekha garments has received an order to export 2000 men's trouser to shift
import Ltd. located in Australia. Discuss the procedure that Rekha garments would need
to go through for executing the exportorder.
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Chapter- 1 and 2 -Introduction of Accounting and Basic terms

Q.1 Mr. Sunrise started a business for buying and selling of stationery with 5,00,000
as an airedale investment. Of which, he paid 1,00,000 for furniture , 2,00,000for
buying stationary items. He employed a sales person and clerk. At the end of the Month
he paid 5,000 as their salaries. Out of the stationery bought, he sold some stationery for
1,50,000 for cash and some other stationery for 1,00,000 on credit basis to Mr. Ravi.
Subsequently. He bought stationery items of 1,50,000 from Mr. Peace in the first week
of the next Month. There was a fire accident and he lost 30,000 worth of stationery. A
part of the furniture, which cost 40,000, was sold for 45,000. From the above , answer the
following:-

I) What is the amount of capital which Mr. Sunrise started business.
ii) Whatare the fixed as sets he brought?
iii) What is the value of the goods purchased.

iv) Who is the creditors and state the amount pay abele to him.

(

(

(ii

(

(v) Whatare the expenses?
(vi) What is the gain he earned ?

(vi1) What is the lass he incurred?

(viii) Who is the debtor? What is the amount receivable from him ?
(

ix) What is the total amount of expenses and lasses incurred?

(x) Determine if the following are assets, liabilities, Sales, Debtors, creditors, sales,
debtors, creditors, salary to manger , discount to debtors, Capital of the owner.

Q.2. Match the item given under 'A' with the correct item under 'B'
(I) Am invested by owner in the- Liability business.

(ii) Amount owed by the business- Capital to out Siders.
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(iii) Excess of total expenses over- Drawings total revenue.
(iv) Assets having physical existence- Loss

(v) Money with drawn from business for personal use- Tangible Assets
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Chapter-3.4,5- Theory Base of Accounting, Bases of Accounting and Accounting
Equation

Q.1. Manish purchased a machinery you 50,000. Manish wants to treat the entire
amount of 50,000 as an expense in the year . Do you think Manish is justified in treating
full cost of the machinery as an expense in the year of the purchase ? Give reason for your
answer.

Q.2. In a financial year, Vinod had total seles of 7,40,000, out of which 5,60,000 eire
received in cash . The total expanses paid by him were 3,80,000, out of which 30,000
belongs to next year and 10,000 are still out standing. Determine Vinod's income for the
year as per-(i) Cash basis of Accounting (ii) Accrual basis of Accounting.

Q.3. Ajeet started a business on 1st April 2016 with the capital of 3,50,000. During
the , he invested 65,000 as capital and withdrew 45,000 for his Personal car. He had
goods amounting to 22,000 purchased on credit for which no payment had been made.
He also look aloan of 15,000 from ICJC]J Bank. Calculate the profit and loss and capital
ason31.3.2017, were 3,50,000.

Q.4. Sunil started the business with a capital of 1,00,000 following transactions took
place during the year-

(I) Deposited 60,000 in bank.
(i1) purchased goods from Shyam 30,000.
(iii) Sold goods costing 20,000 for 25,000 to pradeen out of which 7,000 received in

cash.
(iv) Paid salary 6,000 but salary still unpaed 1,000.
(v) Received commission 3,000 including 500 in cash.
(vi) Sold goods casting 5,000 at a loss of 500 in cash.
(vii) Received 17,400 from Pradeen in full settlement of this account by cheque.
(viii) Returned goods to Shyam 2,000 .

(ix) Issued a cheque of 27,200 to shyam in full settlement of his account. Usk37
accounting equation to give effect to above transactions.
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Chapter-6 and 7 Accounting Procedure. Rules of Debit and Credit and origin of

transactions (voucheres)

Q.1.Classify the following Accounts into personal, Real and Nominal Accounts:-

(I) Interest (i) Accrued Interest (iii) Loan A|C

(iv) Land & Building (v) Purchases Return (vi) Discount Allowed
(vii) Outstandingsalary  (viii) Motor Vehicle (ix) Rent recd. in advance
(x) Shyam (surlier) (X1) free hold premises (X1l) Capital A|C
(X111) Sales A|C (XIV) Ramesh (Debtor) (XV) Bad Debts.

Q.2. Prepare "T" shape A|C of a creditor, Sumit Particulars

(I) Purchased goods from Sumit Z1,00,000

(ii) Paid cash of Sumit 331,000

(iii) Paid cheque to Sumit %45,000

(iv) Returned good s to Sumit 36,000

(v) Discount received from Sumit 3800

(vi) Goods again purchased for cash from Sumit 32,500

(vii) Goods again purchased from sumit on credit 3 45,000
Q.3. Match the items under 'A' with the correct items under 'B'’
(I) Cash Memo- (a) Prepared when cash is paid
ii) Cheque-(b) Prepared by seller at the time of credit sell
i

iv) Invrice - (d) used to deposit cash or cheques in to bank

(

(iii) Debit voucher- (c) Drawn upon specified bank and is payable on demand.
( 138
(

v) Pay- in- slip-(e) Prenared by seller on cash sales.
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Chapter 8 and 9 Journal and Ledger-

q.1. Pass necessary journal entrees for the following transactions of Mohit Traders,

Post them to the ledger (Cash A|C, Purchase A|C, M|S Hema Traders A|C, Sales A|C).

2016 January

1-Started business with cash.

5-Opened Bank A|C

6- purchased furniture

10- Bought goods for cash from M|S Runa Traders
12- Perchesed goods from M|S Hema Traders
15 Sold goods for cash

17- Sold goods to M|S Gupta Traders

18- Rent paid

22-Paid Trade Expenses

25- Received cash from Gupta Traders

26- Goods returned to Hema Traders

27- Cash paid to Hema Traders

30- Bought pastage stumps

31- Paid salary

3
3,00,000
1,20,000
20,000
30,000
42,000
30,000
12,000
4,000
1,000
12,000
2,000
40,000
100
4,000
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Subject- Accountancy

Chapter 10,12 Special Purpose Book(Cash Book), Bank Reconciliation statement.

Q.1. From the following transactions. Prepare a Cash Book . with cash and Bank
columns

2016(Oct) 1. Balance of cash in hand 24,000 and in a Bank%20,000.

Oct.2. Received cash from Rajveer 1,000 and allowed him dis count¥30

Oct.3. Paid in to the Bank¥2,000

Oct.4. Paid to Karan by cheque %320 in full settlement of ther account for ¥350
Oct.5. Received from cash sales, cash¥275 and cheque 3225

Oct.6. Paid the purchases by cheque 3645.

Oct.7. Paid by cheque of SagerX725 in full settlement of ¥ 800

Oct.8. Drew from Bank for office use 900 and X100 for personal use.

Q.2. The cash book of Kishan showed a balance of 312,000 on 31st December 2016.
The figure didn't agree with the pass-book. A comparisen of the two revealed the
following:

(I) The bank has debited Kishan with ¥1,000 the annual premium on his life policy

according his standing instructions and X 100 as bank charges.

(ii) The bank has credited Kishan by X 2,000, the precedes of a bill.
(iii) Kishan paid in cheque totaling ¥ 2,100 on December 26, Of which those for

31560 were collected in December and one for ¥ 150 was returned as dishonor on 31st
December, which Kishan received on 2ndJanuary,2017. The rest were collected and
credited in January 2017.

(iv) The cash collection on 31st December totaling I610 was entered in the cash Book
in Bank column on the same day but it was banked on 2nd January,2017.

(v) Kishan issued cheque totaling ¥ 2,870 of which these of ¥ 850 has not been
presented by 31st December.

Prepare Bank Reconciliation statementas an 31st December 2016.
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Formative Assessment - VI

Class - Xi"

Subject- Accountancy

Chapter-13 and14 (Trial Balance and Depreciation)

Q.1. From the following Balance as on 31stMarch 2017, prepare the Trial Balance.

Particulars 3 Particulars 3
Capital 13,000 Bank Loan 4,200
Drawings 1,200 Carriage 200
Purchases 1 2,000 Debtors 5,500
Sales 24,000 Returns Inward 350
Opening stock 8,000 bank charges 250
Creditors 5,000 Postage 120
B|P 3,400 Printing 370
Furniture 1,200 Discount Allowed 620
Free hold Premises | 6,000 Interest Recd. 60
General expenses | 1,500 bank 500
Wages 6000 cash 50
Salary 3,500 B|R 2,300

Q.2. Star Ltd Parched 10 Trucks at 5,40,000 each. On IstJanuary2014, one of the
truck is involved in an accident and completely destroyed. A sum of < 3,24,000 is

received from the insurance Company in full settlement. On the same date another truck

is purchased by the company for a sum day ¥ 60,000 . The company write off

depreciation @ 20% p.a. on the original cost and closes its book every year on 31st

March. Give the trucks A|C for 3year ending 31st March 2014
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Formative Assessment - Vi
Class - Xi"

Subject- Accountancy

Chapter 15 and 16 ( Provision and Reserve & Accounting for bills of exchange)
Q.1. Distinguish between Reserve and Provisions on the basis of
(1) Basic nature (ii) Effect on taxable profits  (iii) Use for payment of Dividend.

Q.2. Determine the date of Maturity in the following cases-

Date of all bill Tenure Period
a-  IstJan.,2016 3 Months
b-  30thJune, 2016 30 Days
- IstJuly, 2016 60 Days
d- 27 Nov.,2016 3Months
e-  12thJuly,2016 30 day
- 27thOct., 2015 4 Months

Q.3. A sold goods to B for ¥ 20,000 on 1st April ,2016. He drew a bill on B for the
amount due payable after 3Months. B accepted the bill and returned it to A. A
discounted the bill on 4th May with his Bank @ 12% p.a. on the due date the bill was
dishonored and bank paid ¥100 as noting charges. B requested. A to draw a new bill for 3
Months . A Agreed to B's proposal, provided B Pays interest @ 10% p.a. along with
noting charges in cash. On the due date of second bill, B showed his inability to meet the
bill and requested. A to accept I10,000 in cash and drew a third bill for the balance along
with I300 towards interest for 2 Months A agreed . The third bill was met on due date .
Pass necessary Journal Entries in the book of both the parties.
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Formative Assessment - IX
Class - Xi"

Subject- Accountancy

Chapter_17 and 20- Rectitication of errors and Accounts from Incomplate Ricords-
Single Entry system.

Q.1. Rectification the following errors.

(I) Credit purchases from Aryan 39,000 were recorded as 900

(ii) Goods sold to Sumit for 2000 was wrongly passed through the purchases book.
(iii) Sales return of 300 by Surender recorded in returns out word book . as 3000.

(iv) Goods worth 100 were taken by the prohrieltor for his personal use which was not
recorded in the books.

(v) 10,000 spent on the extension of building was debited repairs A|C
(vi) A credit sales of 32000 to Balram was posted to Krishan's A|C
(vii) Machinery sold on credit to Shyam for 2,310 was entered in the sales book.

Q.2. X & Y who keeping their book by single entry give you the following

information.
Particulars 1-1-2016% 31-12-2016%
Stock 18,500 40,000
Debtors 13,000 15,000
Creditors 11,000 2,300
B|R 4,000 3000
Building 10,800 10,800
Bank 4,000 2,000 (Overdraft)

You are given the following information 143



()A Protrusion for 1,000 is required for doubtful debts.
(i) Depreciation @ 5% is to be written off on building
(iii) Salaries out standing X 3,500.

(iv) Insurance is prepaid to the extent of I 250.

(v) Drawing of X During the year were 10,000 Calculate the profit made during the
year using statement of Affairs Method.
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Formative Assessment - X
Class - Xi"

Subject- Accountancy

Chapter-19 -Adjustment in preparing Finzncial statement

Q1. The following are the balances extracted from the book of M|S Hari LaL. Traders
ason 31st December 2016.

Particulars (rs) particulars (rs)
Capital 31,500
Drawings 5,000
Furniture& Fittings 2,600
Bank overdraft 4,200
Creditors 13,300
Business Premises 20,000
Stock (1-1-2016) 22,000
Debtors 18,600
Rent Received 1,000
Purchases 1,10,000
Sales 1,50,000
Statements;-

(1)Stock onhand on 31-12-2016 was 320,000
(i)Rent 300 is still due to be received.
(

iii) Salaries ¥750 are yet unpaid.

(iv) Write of bad debits Y600 Make provision of 5% an debtors for bad and doubtful
debits and a prevision of 2% for discount.

(v) Depreciate business premises by ¥300 and furniture and fitting by I266(vi) Ta%(45



outstanding 700

(vii) The manger is entitled to a commission 10% of Net profit after charging his
commission.

Q.2. Prepare Trading & P|L A|C for the year ending on 31-12-2016 and balance sheet
on that date from the following Trial Balance.

Particulars Am particular Am
Dr. items Drawings 10,000 B|R 7,000
Plant & Machinery 50,000 Discount 1,000
Stock 25,000 Wages & salaries 5,000
Purchases 90,000 Cash 6,000
Return Inward 2,000 bank 12,000
Furniture & feature 10,000 credit items
T-reeght 2,000 Capital 1,00,000
Rent, Rates & taxes 5,000 Return out word 1,000
Printing & stationary 1,000 Provision for

doubtful debts 2,000
Trade expenses 1,200 Creditors 30,000
Bad Debts 1,500 B|P 7,700
Debtors 40,000 Sales 1,28,000
Adjustment:-

(I) The closing stockon 31-12-16 is 40,000

(i1) Provision for doubtful debits is to maintained at 5% on debtors.
(iii) Repriced furniture & fixture and Plant & Machinery @ 10% Pa.
(iv) Machinery costing 320,000 was purchased on 1.10.16.

(v) Allow interest on capital @5% Pa.

(vi) A fire accrued in 23-12-16 and stock of the value of ¥7,000 was destroyed . It was
fully insured and the insurance co. admitted the full claim.
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Answers

Chapter-1and 2

Q.1.(1) Mrsunrisestarted business with a capital of ¥5,00,000.

(ii) He brought furniture of ¥ 1,00,000

(iii) The value of goods purchased is ¥ 3,50,000(2,00,000 to 1,50,000).

(iv) Mr. peace is the creditor and amount payable to him is ¥ 1,50,000.

(v) The amountof expenses < 5,000 paid as salaries.

(vi) The gain earned is ¥5,000 an sale of furniture.

(vii) The low incurred is 30,000 due to goods by fire.

(viii) The debtor is Mr. Ravi and the amount receivable from him is ¥1,00,000.

(ix) The total amount of expenses and lasses I 35,000 ( 5000 salary +30,000 loss by
fire).

(x) sales : Revenue / salary to Manger- expanses.
debtors  :Assets/ Discount to debtors - expanses.
Creditors :liabilities / Capital of the owner- Liabilities.

Q.2. (i)~ (ii)-a; (ii)-d;  (iv)e; (v)c

Chapter 3,4 and 5

Q,1 According to Going concern is assumed that business shall continue for an
indefinite period of time . On the basis of this assumption ,fixed assets are recorded as
their cost and depreciation is charged on the basis of there expected live . So machinery
will be shown as an asset in the balance sheet at the cast price of 50,000 less

depreciation for year.
Q.2. (1) 1,60,000 (i1) <3,80,000
Q.3. lass-%57,000, capital ason 31.3.2017 3,13,000.
Q.4  Cash +Bank +stock =Lia + Capita;
48,000 +50,200 +3,000 =1,500  +1,00,200
Chapter 6and 7

Q.1Personal A|C. II, III, VII, IX, X, XII,
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Real A|C IV, VIII, XI

Nominal A|C I, V, VI XIII, XV

Q.2 Credit Balance of Sumit A|C 61,700.

Q3 i(e); ii(o); iii(@;  iv(b)s v(d)
Chapter8and 9

Q.1 Cash A|C (Dr) 1,22,900, Purchase A|C(Dr ) 72,000,
Q.2 Is Hema traders (Nil), sales A|C (er, 42,000)
Chapter-10,12-

Q.1 Cash Balance = 324,175, Bank Balance ¥19,535
Q.2 credit balance as per pass. Book 312,600
Answers

Chapter-13 and 14.

Q.1 Total of Trial Balance 49,660

Q.2Bal.an31.3.2014 %27,57,000 (i) I21,87,000and

(i1) ¥ 5, 80,000

Chapter15and 16
Q. (a) 4th April 2016 (b) 2nd Auguest 2016
(c) 2nd sep. 2016 (d) 2nd March 2017

(e)14th Aug, 2016

Chapter-17 and 20

Q.1 (i) Purchases A|C Dr
TO Aryan

(ii) Sumits A|C Dr
To purchases A|C
Tosales A|C

(iii) Return inward A|C Dr
Return outward A|C Dr

To surinder

(f) 1st March 2016 (2 olbeis leap year)

8100

8100

4000

2000

2000

300

3000

3300 148



(iv) Drawing A|C Dr 100

To purchases A|C 100
(v) Building A|C Dr 10,000
To Repair A|C 10,000
(vi) Balram Dr 2000
To Krishn 2000
(vii) Sales A|C Dr 2310
To Machinery A|C 2310

Q.2 Staminate of Affair (1.1.16)- capital, ¥39,300 Statement of Affair (31.12.16)-
capital 59,710 Net profit I17,610.

Chapter-19 Q.1 Gross Profit 334,200, Net Profit- 11,947 Balance sheet= ¥59,092.
Q.2 Grass profit ¥52,000,Net profit ¥32,300 Balance sheet ¥1,65,000.
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Main Najafgarh Road, Vipin Garden, New Delhi-110059
Assessment-1
Class - Xi"
Subject- Economics
T - A (@&fe srefom)
Uie - 1

M, C,Q
.1 Tefdt A Blel AT AT Bt FARAT A Hedfoeld oTEl @ :
(1) 3rcaféres 3ma (2) Tmerelt @& deblodes URIaT
(3) 3retedt 3MaLHATY (4) Hfda e
7.2 31 FART B 3cTeel Blel B BRYT 2 :
(1) FArerel! a1 AT Brelm (2) FeIeT @I 3MaLABATT BT AT el
(3) TAeret B dobfouds T (4) IWAFT Jeft

7.3 JATHE! DI GIHAT e Bl & :

(1) @ffed T W (2) Ffde & TR W
(3) @fe IR IARC TR W (4) S A Bl Tl |
.4 UF VAT B oR1# $Ig Jnd o fem arm & -

(1) 3meertcres areformt (2) arzafde arefeme
(3) (1) 3R (2) it & (4) zordt A BIg & |
7.5 U 3USIGT 3q5T BlaT @ -

(1) forifra areferazen & (2) Tadst areferazen 3
(3) fHf¥ra sreferazen 3 (4) (1) 3= (2) qrelt &
7.6 3Gl AT I Bl @leT BdT & -

(1) freft It (2) FareR

(3) Sefelie (4) gotet A P15 el

.7 3cUTCel AT I & 3MHR ufadid Eidr & :
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(1) 31aAT of1aId g (2) et eI g1

(3) AT 3R AT R (4)ztd A B et |

U.8 5@ ReR &l af 3cdIee HHTdeT I

(1) 3eTraR, ot @) 3R Gotar alam (2) 3re1 & FHATTR Ateft Iz Bom
(3)efa B 3% TRt Tet 3, SR are sl B BN gF 1 (4)3AH F B |

U.1 U 37fTaell ol dog 7 AR BT Ul b

¥.2 geterdT 3 T SifauTeT &
.3 3MTfe AHARIT A o= 3HYTT & 2

.4 3 Je= R 3o Eldt & ?
U.5 U rfegazan 3 o= iy & ?

U.6 3cUTcel JFHTT dcb i UiHTdd B |

.7 U 3G AFATTN dp FelTsU 3T 3uH fordet df oIisU -
(1) Frereit o got gaiver

(2) FATE BT 36T AToT

(3) FFATEret T oy

7.8 3cUTeel JHTaeT b arRft 31T 3R arft 3% &a Rezrapor 7

Hot - 2 Application Questions

T.1 “3rcfiIeh RGPIRI3cTed AFHTael b bl arit 3n2 Radepr <ol * &t 1 aretd, JAILU |
Y.2 5IF AATEel B GAoTdl Ub ATNHB HeT g af HRT 3 JASRMRY at TS St & 2

Value Bases Questions

T.1 Jfe Ag-oI5 dobeii bl 3ifIIBR BldT TaT & 3N AU-I0 AATeTll Bl Fol BT ! & af &=
U ot U1 31iom b sreferawen & ors 3nfefe e & aioft 2

7.2 S Ao , H B P2 % &, PR o 395 B Al B AFAT 100 A FgIhe 150 o I
& 2| 3P U i & ardfded 3R JAIG Icuree U =T Yo U ?
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Assessment-1
Class - Xi"

Subject- Economics
T - A (@&fe srefom)

UG - 2 (Ui Adere)

M, C,Q

v.1 fobar faroctour & 3unforar & ferefera J=mmant ; G -1, 2, 3, 4 3nfe & U SAT S ?
(1) aroretraTees Ju=nforar fageteor (2) BeraTas 3unforar faeeieur

(3) @it (1)3R(2) (4) T3t 3 IS T |

¥.2 o {6t aeq &t Bact U $obTS BT FNT foherT AT 2 dY SUSHIGT Terel B -
(1)MU=TU (2) MU>TU

(3) MU<TU (4) 3o & BIE T |

¥.3 & axgsit @ Rafy 3, 3usiad Jgee a9 ura glar & o -

(1)%}?#‘?"—;’ (2) f‘gﬂﬂf_yy

) o = O

U.4 TP Bl 3MBR BaTl 8-

(1) BW B 31T AT aTelt (2) <t @} 3Tk &crer aren

(3) 71t fig & wrdieR (4 &feroT et Y=z

Short Questions

T.1 3UATrar ot ufdamer SfSu |
7.2 TU3R MU & Je75msu |

7.3 TU 31k MU & Jaaet] bl FAIST
.4 e 3UNIOTT T auid B9 |
.5 BAdTID JUNIITAT T auiel &b |
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T.6 Tolc—331 A &7 YT & ?

T.7 ToIC-3HT BT AHBT [oRH |

7.8 doic g (Bodget set) =T 37Ty & 2

.9 3T ac hl Ueb alfetedl 3R sl gRI JeAgU |

.10 HeAid ufq zmue a2’ A o S @ 2 MRS & @it gldt &t & 2
.11 S(IATe ab BT 3MBR BAT &ldT & 3N F T 2

.12 SCAE ap B faer arsit @1 avie B3 |

.13 SIS et F a2 S 2 2

Long Questions :

.1 UG Aged A FAT SHHIR & U g Pl RaAT & Ul SUAGIRIGeS Bl Tl
BT |

7.2 U% 3UHIGAT & a3g3N P1 Y01 HAT & BUAIT RSPV & FeRIar A DA PI
ST BifoT |

7.3 3FelitiaTel 9% faeel o7 g 3udiadl & Agerdl Bl AU |
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Assessment-1
Class - Xi"

Subject- Economics
T - A (@&fe srefom)

UG - 3 (@l @ Rgid)
M, C,Q
.1 AT g3 @ Rl &, Flor ag gorfar @ -
(1) RUTIcHDB ScTTel (2) erelTcHd Gt
(3) et @Mt (4)zee A DI @ |

7.2 o9 {5 a3g Bl & 5YId SPIs PidAd T DI A9 11 FHIGAT , B AT 14 bl aam Bl
9T 8 ShTSAT & dl TSR HAlar aiaft :

(1) 115®= (2)14 PRI

(3) 17 gHIRA (4)33 TR

7.3 UG Bf 3T H ghg A AlC- 3relTe (ieAT ag) Bl AT IF
(1) &fcrsT 3T 9 ST & (2) Jeeater et 3 Tl I &
(2) arg 3R Rerepar 2 (4) a3 317 Rrdgepar 21

U.4 31T dd JAE Bt W, fft ag @t 3roeht dled # uRada & wRur Aol g AT A
URade Bl Fad o :

(1) forenr olea gama (2) BT yaTa

(3) 3T yarma (4) ufcremyer yara
Short Questions :

.1 FHloT B TR ¢ |

.2 Hia1 B GHTfId Bl dTel BRI BT duie B |
.3 AT Bolel A &I 3HTT & 2
V.4 RIS 9T S A T AT B 2 155

7.5 SR Aol 3T A T YT & 2



Y. 6T o1 I A T ST & 2
T.79TeIR AoT % 31t 3 e i 2 2
v.8 forfther aegait & @ afdmmar 2 2

Long Questions :

T.1 AT &b Tora Bl arfetepr 3R ’al gy JAAmsy |
¥.2 ‘Alor & uRddder’ 3iR ‘HAfoft arg A= & ufladd * & 37y TIE B3 |
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Assessment-1
Class - Xi"

Subject- Economics

T - A (@&fe srefom)
UG - 4 (o1 B @)

M,C,Q
Y.1 9T B A DT AU BT I & -

(1) smefurieres fafer grr (2) ufdrera fafer grr
(3) aweil(1) 3R (2) (4)zert 3 I |

.2 U AR 3Miawacy (Rectangular Hyperbola)#ior ag & 3t fagan w #ior & drg
Brdl 8 :

(1) 3B18 B IR (2)gea

(3) SIS 3iferp (4) 3B18 A BA
7.3 Ed 7159 & :

() o gR AT @l () St Hfor B
(518 @i ar alar &1 ()zaet A I3 a2l |
U.4 Ed=8 & Rafg &, sl ag aar 2

(1) X- 3181 & AR (2) T Heft
(3) Y- 3rerp FeiaR (4)zee 3 DI =T8T |
¥.5 fo5dt aog @ form %(—)o.zamaﬁvraﬁaﬁ#—) 0.3 @ieft o1g AP F ylcrerd ufdader 2 :
(1) 6 (2)40

(3) )6 (4) 10

Short Questions :

.1 HIIT P BIA g A T SAIYRT B 2
7.2 QU GEeR HIORT T 1Y 8 7 157



v.3 quicen deiiaer ARy d sy & 2

.4 HI B AKER ¢ SBIS B SIaR * Bd Bldl & 7
.5 ‘Ao B dld’ AR B Bldt & 7

.6 31T B Al deeR da Bl & ?

HIOT B AU ARRATHB U9 -

.1 U YA 4 10 Ul 3B BIAd W TP a2 W 3100 Id Bl 3| 3A aG DI diard
50 TG o U2 T 3uaeT S100 & I dear & | giaera fafdr grr &fer ot dlera o1a B |

Y.2 —a3g DI Aol DI BiAAd A =-2 AR G B A9 Bl DA AT =-3/3AH A Dol A R
Pt FloT B BIAT ol 31feIE e & 3R = |

7.3 326 Ui $HE BiAd W {6 a3 @t Ao 30 FHSAT & | AT IR B Pred I26 F Te
330 &1 Ol & 33 a2 & A 15 THS BH & oIl & | FlT B BIAT g T B |

7.4 Tt aog @t BiAd 50 UTT S8 A Tede 60 U SHIS &1 S & | 3T aeg DY AT T
o1 febetett groft Ife &Afor &t PBlerd cird HbTS 8l |

Y.5 3MTaerd fafr gRI Ao & Bierd cNed 3l1d Bl Bl JA (o7 |
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Assessment-1
Class - Xi"

Subject- Economics
T - A (@&fe srefom)

UG - 5 (3G Beld 3R Uh HRP P Yidha)

M, C,Q

.1 3IcdIeile 3cee Bofel Aafdd & -

(1) uRadt sreurd & fererar A (2)demrer & ufcreer A

(3) a¥et (1) @ (2) (4) Zort A BIF T |

¥.2 5@ §e1 3de (TP) aiferpa# glar & ar MaAid 3 () :

(1) gear @ (2) wean 2

(3) aifraer 2T 3 (4) oo BT B

Y. 331G 3dE (MP) I & 3MHR

(1) U-grar @ (2) U- 1 3ca1 81T 2

(3) SRATAIBR ffude™ aidT & (4) 3o J PIS AN |
T.4 URdd! BRP B Uld Shlg 3cUIce bl Bbal ofldl & :

(1) et 3cuIe (2) 3ra 3are
(3) fera 3eure (4)za1 A DIg 2T |
Short Questions :

¥.1 fRer Arere 3R uldadt Jmerat & 3iaw 39e B |

.2 3769 BleT 3T e Bbief F 37d3 JIT B3 |

.3 foreat &l gy :

(1)eBer 3cure (TP) (2)3fteid 3are (MP)  (3)3ird 3aure (AP)
U.4 ‘ U Al & Glawser’ 3R < YaArel & Yiawa’ F 3id? e B3 |

7.5 JHAd 3G 3R BeT 3ATE H 3R IaTgU |
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U.6 AAd 3T 3N3A 3T H 3idT IasU |

Long Questions:

T.1 URddt 3cardl & forIa ol dfetept 3iR s g1 Jamsu |
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Assessment-1
Class - Xi"

Subject- Economics
T - A (@&fe srefom)

UG - 6 (cerd)
M, C,Q
7.1 fereifoiRad & A Pl A A& 2 2
(1) TC=TFC x TVC (2) TC=TFC +~TVC
(3) TC=TFC + TVC (4) TC=TFC-TVC

¥.2 O 3cTE T 3R e BIaT &, ad G} oTard &l & -

(1) g (2)5ReoTTcH

(3) gatTcH® (4)uRadt o & TRrER

7.3 foret & & PlaT A7 Feft 1T B gortar & 2

(1) foroteft @& faa (2) Fed AT TR I

(3) eferes sifdrapr Bt FOIH (4) varmg Yot W =

.4 3 gt @merg (AFC) yabe 8t 2 -

(1) 3mITd BR 3ifdRae™ gry (2) X - 3187 & THATAR TP IRA AT

(3) Y- 317 & FHAAR UH WA 3 (4) U - 3MBR B I6 R
7. sferaeiioiRaa & F bl AT A & ?

(1) MC=TFC x TVC (2) TC=TFC- TVC
(3) MC=TC, - TC, -1 (4) TC=TFC = TVC
Short Questions :

.1 cord A = g B |

.2 9T &ord 31 foiféa oford &1 3iar e &3 |
.3 forat &1 qule B9 |
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(1) Rer @mrd (TFC)  (2) & @mwra (TC) (3) uRadt @merd (TVC)

¥.4 ot R dId Ger uRad! g 31 el aerd Bf Ueb & 9 TR qeIsu |

7.5 forat &1 quieT & |

(1) 3frraRer eferd (AFC) (2)3ird uRadt @EE(AVC)  (3) 3irad aerd (AC)
U.6 JaAid cord a1 3ref Faee B | MATT T a9 ¢ B IABR BT TN BT 8 |

¥.7 29U % AAiq aord ac & o @1 & © Gt uRad! cmrd g § |

7.8 MC 3T AC & Jdace Bl sl gRT JAS0 |

7.9 AC 3R AVC & Jdace Bl sl gRT JASU |

.10 OrY -ORY 3cUTeet 3 qleg bt ot & 3R & i BT 3 ol Ferdl offal & 2

T.11 3T P Jewed bl il gy AAIST |
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Assessment-1
Class - Xi"

Subject- Economics
T - A (@&fe srefom)

ue - 6 (3Mare)
M, C,Q
.1 3IToTd :-
(1 )cTroTa- @rer (2) cTrord + wre
(3)cTora et (4) cTrora /etmat
7.2 U Ui~ Glifarar aei &, e :
(1) MR ¥ 31 a1t 2 (2) AR &RreR Bt 2
(3) MR @ @@ &) @ (4) @t (2) 30 (3)
7.3 37d 3T
(1) 3RoTTcHeb &Y Febal & (2) TS oAdl & Tl &
(3) e et @ 5@ TR g & (4) arell (2) 32 (3)
.4 S8 A Bldl AT JHIB0 JE 2 ?
(1>AR=PgQ (2) AR=PxQ
(3) AR=P-Q (4) AR=P-+Q
9.5 5@ MR 9 &l al :
(1) TR =Jeia# glar & (2) TR 9= &rar 8
(3) TR 3ifra# it 2 (4) TR=MR & 2
Short Questions :

.1 3mre (i) @t uRemen < |
¥.2 Gl 37T B TR ¢ |
7.3 3id 31ord @ uRarmen & |
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.4 AT 31 F 1 YT 2
¥.5 QUI-GirnfardT AT # et 3T 9 () BT IMBR HAT BT & ?
. 6GUI-GicroTT aTeiR & Ge SMTore 3R A 30T Pl Jeae TS |

.7 UBNIBR 3N UBIEIhRIcHD YTTNTIdT JTefle 3 HIoT I bl 3T AT aldT & |

.8 UBIIBR 3T UBIIBRIHD FiRNIodT dTofz # il I Uh ol &I &ld 2 3T 38 @&

AT S ?

9.9 fereet aTictast bl Q21 &3 | 3G (FbTs) 3Ad 3T (B) Bl 31 () MAed 3moraA ()

1

2

20

13

36

52
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Assessment-1
Class - Xi"

Subject- Economics
T - A (@&fe srefom)

UG - 7 ( 3D BT Adeld)

M, C,Q

T.1 B 31 3R §f a@erd (TR & TC) &1 3faR Siferbae aidm & oid -
(1) AR=MR (2) MR=MC

(3) MR=AC (4) MC=AC

T.2 ATHAY o1 &ldT & od :
(1) AR>AC (2) AR=AC
(3) AR<AC (4) TR>TC

7.3 3UICH AGerd B AeH # Blel AT PHered INeId & ?
1) TR@ TC & std =elder 3iaT ale

(
(2) MR=MCakr

(3) 3cuTecs T 3TfIhe ST UL &lell

(4) Jgee @ Rafd 3 3cTed &1 31Ul 3cied # 2t YR &1 Pig uRdde o dal

v.4 FAfIEe &g w7 qtar & 7

(1) AT TH (2) 3rATHTST cTreT
(3) 3 AT Blfer (4) et A IS A& |
g5 Ife TC=25 3k TR=30, dl g8 Rearfa ¥ :

(1) AT ATH (2) 3rATATERT wTet
(3)3rmenTedT &t (4) wratferesse foig
Short Questions :

.1 3cIe A =1 3ifammr & 2 165



7.2 3T Aerd A T HYR & 7

7.3 3ad1esH Agard ot MC - MR fafey g |

.4 o] U 3cUICH Pl (pAl TG P dellol Bl 0T SGATN & 915 & | 3G Bl YAF 3cuIce g1l
TR g B BIAd 12 Ui 3515 & | MR 3R MC faftr &1 yeiier &2 3cureds &1 Agerdt o e | 37uel

33 BT BRUT off IATST |

I (gpr3)
3a @ R)

1
12

3
11

3
10

4
10

10.4

11

7.1 3R Tl &1 yer v U 3cUTed B A Bl AT Bl qUie B |
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Assessment-1
Class - Xi"
Subject- Economics

T - A (@&fe srefom)

ue - 8 (it @1 Rigre )
M, C,Q
7.1 gid & orIdt & 3R -
(1)aeg @ Prrd 3R g 3 e Jder 2|
(2)aeg @ Blerd 3R gt F TS Ade B |
(3)aeg @ Plerd 3R gfef B dig Rer a2 |
(4)aeg B Brard 3R gfd & g BIg Fder AEf 7
¥.2 Gfef @1 forrat oty <fl &l
(1) o agsit w (2) sitenformazgait w
(3)merarer a3 W (4) er=t (1) 3R (3)
7.3 Ufef g T Farerel S B
(1) Tg B 31Ueh PreAd H g B BRU
(2) Tg B 31TCH BiAT H BHT B BRI
(3)ag Wt 3rUelt BIAd B HfaRad 31 dedl B BRI
(4) ¥t (1) @ (2)
¥.4 Ui 31fires el St 2 -
(1) 31far 3rcudsrer @t Rerfa & (2) srcueTer @ Rarfe 3
(3) Srdaprer Bt Rarfer & (4) grat (1) 3R (3)
.5 TE a3 B BIAd H 18% FIRIGC &t B B gfed & 27 B ol BT & yfel a5t v g
(1) 1.5 (2) 0.5

(3) 0.67 (4) 2.5 167



Short Questions :

9.1 it @t uRemer dfoE |

7.2 it 3R e 3 3iar Fuee H |

¥.3 SATra Yici Se[dl Pl URATRE B9 |
.4 TTOIR it Sl & T S
¥.5 @kord gfet 9 A o i g 9

¥.6 STo1R Q{d a% A AT JTMHUT & ?

9.7 il Wotel 3 R 31ty B 2

7.8 Qi Pl YHITAT Bl dTel BRI BT Juiel Be |

Y.9 3G & ATHel Bf Bierd # uRadet A Yid BA ganfaa et B

.10 ddelics 3 uRade, g & B gemiad dar & |

T.11 9fd & forret &l JAgRT |

.12 gid & gleg 3R gfed 3 fRaR @1 31ef e &3 |

.13 ‘Gic & St 3R Gt 3 Jgael * H AR WeT B |

.14 Qid B d1d B YHRI B qUid B |

Y15 el A [l avq @ Yfd W2 9T UM Ugon ?

.16 Wl @ A3 A qheg &l A [t avg o aroR gfed W R yea gSam ?

.17 U faaar 320 Uid 3618 died W [l aog & 100 SHRAT @t gfed Hm & | 32g b g
P TG 2 & [bA BieAd U2 T8 93g P 50 IHIeAT B Yl PIN ?

v.18 od fosdt v @t BlAd 12 Ul SIS A TG W, F15 Ui B & ol & dl Uh 3AeH
50 Gfdl d¢1 <1 & | [T P DA aTd F1d B2 |

Long Questions :

7.1 ‘gfd 3 uRader 3R ‘gfd @t a1g A A gRade * @1 3R Wee H |
3rerar

“gftt 9% &1 I * 3R Yfd 9% W Totel’ BT 3T WL B |
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Assessment-1
Class - Xi"

Subject- Economics
T - A (@&fe srefom)

UG - 9 (@R @ YHH )

M, C,Q

7.1 f5ur oiR & W PHeAa bR it 2 2

(1) got wiernforar e & (2) THIfErBR &
(3) TaIftrBrIcHs Ufcenforar & (4) areunfirpre 3

7.2 ‘ Uh BH $Had $a DA W B ag B 3HEE AN 9T Abd! & I 3T 3T B Bl [bA
ISR A AdTed Bt

(1) got ufernfare (2) UepITErPR

(3) srcurfererR (4)ggTiemR

U.3 USBIMIBR B 3idoid Bal o :
(1) P TR 3nifdres feriaror Bt & (2)@YFa Tz ot fereisror grar @
(3)eBYerd TR I foriaror Brar (4) o F BIS =l |

.4 JFHU TIGY I A & -

(1) oredierer 3reaTieeR & (2) 3 SredeEreT SreUTiEdER #

(3) gut sreuTiEreR & (4) 3qut sreuTiErBR &

Shorts Questions :

T.1 IR I =7 AU B 2

.2 Pd TolReb A T AHUTT & 2

7.3 quf GicrRNforT Ao & 3R araR &I 2 2

T.4 UBIRIBRICHD TN 3 Bt Pl Aol acb BT Bl & ?

.5 UBIMRIGR arofk & B &l Hol ap SAT BT & ? 169



Long Questions:

7.1 qul URcrNRraTaTeR 3 R ST @ ? Sa! [Aearst a1 quie e |

7.2 UHIEBR ok 3 T ifmmer & 23aas! fasieanatt & avie & |

.3 UBIEIPRIcEHD UiNRTaarsyR 3 o= 3THUT & ? Sddb! [d9I9dTal &l auiel B |
.4 3CUTIBRATOR A I i & 2 S3a! faerednatt & aulel & |

7.5 UBIEPRIEAD FINPIAEeR # Hiol a6, UBIEdER Ao & ARl a6 & gorl # 3id
ArIeR a2l BT & ?
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Assessment-1
Class - Xi"

Subject- Economics

T - A (@&fe srefom)
UG - 10 (YOl YiRNRIAT Aok 3 Agetel Hletd BT [ererzo)

M,C,Q

Y.1 ISR Agetel P e &

(1) ISR FioT = TSR Yl (2)aTSR AT > AR et

(3) TSR AT < AR et (3) 31t A B et

v.2 Ife foeft avg @t o1 A Blclt & A Aderd DA H

(1) Beaft glaft (2) qfeg eraft

(3) Paft derm gfeg crait 2ot (4) et 3 P oft T Blam

¥.3 TOIR dlerd Adred &

(1) srcudsret A (2) 3ifer 3rcuee A

(3) Siefeprer (4) aifer Shefeprer A

7.4 Px= 350, &g - X & foTU0 AT 30 THISAT & a0 ag - X &l Y 20 TR &, Ig Rafd
R

(1) aifere et Bt (2) sifaRad gid &t

(3) wiger @ (4) 5t 3 P |

Questions:

T.1 AT HAd A R AHIRT 2 ? I8 B forerilRa adt 2 7
.2 3Tciee HioT A T YT & ?
¥.3 3t i A Fm sfdm g 0

.4 U 3fEIaRe & aoiR Agerd & & | 3F DI AT 96 ol & | T Piad 3R AT & Usa
aTel eTral &t $39eT IdTsv | 171

7.5 5l avg @t Fior QUiaan AaeR 81 3 aRg @ Y{d 96 Sd & | I el B BRI RRgdiAd




3T} AT # Usd dTel YHTdT Bl ST IaTsu |

.6 1T 3R il Qe 3 U A1 gfeg T A1 BidAd U FT GHTG TSN 2
.7 I DA [eior 3 o 3T & 2 T T URUIH BidT & ?
7.8 USHl T YAde HiaAd (el RURY TR ITHUTT 8 ? ST 1 RO BlaT & 2
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Formative Assessment -ll
Class - XI "

Subject- 31T

PART - B (JiT=ra)

T - 1
Y.1 3YSIGT Bief & ?
¥.2 3cGH DIt &
¥.3 3Miies feriiorer & AR BT T FEed & ? RRT BT |
U.4 JETE0T @ ASRIAT A “ATAEHD” qeT IYONHB’ MBS 3 HeG DI |
¥.53C didl YBR B Bld & ~o A o de FR@! | T Bl B SRRT Bifory |
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RING MIDWAYS SR. SEC. PUBLIC SCHOOL
Main Najafgarh Road, Vipin Garden, New Delhi-110059
Formative Assessment -ll
Class - XI "

Subject- 31T

PART - B (JiT=ra)

I - 2
.1 YcaeT AR SFeAeTeT I TT MU & 7B IV T 39T fAw |
.2 Wraiferd 3ifdsT 3R g1 3ifbel A 3T &I AHIA 2 ? Qe 3 Pl JT 98 & ?
7.3 feraaiiaiaa @t ufdarmen difore |
(1) 3redevrcar
(2) oruretTeBIR
(3) 3dETar
T.4 Tl 3iicest & Uor & Jag 3 3ol oflel dTei! Ardenterat T guiel e |

U.5 R $ S0 3R B YBRE AR Rufct & U # ywilia gl ardl Aecaqel 3iids
BleT-dbiel A & ?
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RING MIDWAYS SR. SEC. PUBLIC SCHOOL
Main Najafgarh Road, Vipin Garden, New Delhi-110059
Formative Assessment -ll
Class - XI "

Subject- 31T

PART - B (JiT=ra)

T - 3
v.1 yfcieel gomelt A 30 R FAwFd B 2 FE yomet B Rerfey #F 3ifdre Suga A B o
¥.2 Seferrer 3R ufaesf fafdr # afaw faRae 2
v.3 fearefierar. A1 3R cmord. @ Feef 3 Srrororer den uliee faféret 3 goten aifow |
v.4 Seraroran faftr 3 el wderor 3 foser Ffeat @t Hemaen @t deder @t o AT & 2

9.5 I1GEd Uiceel qarm Iamed faeel @ s wid gU a3 3idR il | 24l BT U 3TTE0
difeto |
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Main Najafgarh Road, Vipin Garden, New Delhi-110059
Formative Assessment -ll
Class - XI "

Subject- 31T

PART - B (JiT=ra)

T - 4
.1 Fdd S3er A 1 A B 2
7.2 g PR el sime B 2 e e 2 7
v.3 Ul afeaat @1 oferds 3 BAgk B-15, 20, 35, 40, 55, 8| AR @18 2
7.4 U Gt 3 25 faenffat o foafaRad aie ura feu 2 -
23 28 30 32 35 36 40 A1 43

44 45 48 49 52 53 54 56 58

61 62 65 68 35 56

(1) 37 3mepet @I 3Mqfd faaer & U & fer=iorFd qoliedk & 3R BHAG iU | :
20-29 30-39 40-49 50-59 60-69

(2) FHerft mafer farewor gaTgw |

7.5 foraiciRad 3Mids! A U M [avr JoIgC | 3RAfeaArcTd [afr &1 gier &< | Ugel dof 5-10
&1 T |

12 36 40 30 28 20 19 10 10

19 27 15 26 10 19 7 45 33

26 37 5 20 11 17 37 20 20
U.6 3o 3AeRUN3I &l quie e |
(1) qorteaz (2) cferRaTa S=sre

] frazor
(3) amgia et (4) arrgfer 176



RING MIDWAYS SR. SEC. PUBLIC SCHOOL
Main Najafgarh Road, Vipin Garden, New Delhi-110059
Formative Assessment -ll
Class - XI "

Subject- 31T

PART - B (JiT=ra)

T - 6 3T 7
.1 TereaifeilRag g Aféra femoft foRaw |

(1)eve 3meRs (2) gefter amers

g.2 foraaiiciia el BT Tga[Ull U8 3Mersd Jgd Bioty |

GEICIE 2004-2005 2005-2006 2006-2007
el 600 500 500
EEICE 400 500 600
aQifvTee 200 250 300
7.3 3R 3 & SR 2 9

7.4 Jerlt 3mgfd 3P M quieT HifoC |

Y.5 3qid SgHeT daT g I B AT SIfeTu |
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RING MIDWAYS SR. SEC. PUBLIC SCHOOL
Main Najafgarh Road, Vipin Garden, New Delhi-110059
Formative Assessment -ll
Class - XI "

Subject- 31T

PART - B (JiT=ra)

T - 8
.1 3MIate F @ 3 g
7.2 3iioisel (@Ron) &t ufdemen Sifew |
7.3 Ferht 3mgfd 3 @1 quiaT HifoT |
U.4 3Mgfa IgaTST qer 3mafd ag @t uRemen 4o |
0.5 A F’ Aerft anmafer g% B fereataiRaa smgfer fawer &t Jerrar & gamgv|

JH (@A FH) 0-10 10-20 20-30 30-40
BRI Y TR : 2 3 7 1
40-50 50-60 60-70
11 57 23
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Main Najafgarh Road, Vipin Garden, New Delhi-110059
Formative Assessment -ll
Class - XI "

Subject- 31T

PART - B (JiT=ra)

AETT - 9 3 10
g.1 fereet amelt & foeft afg @ 150 Jal # AE B yler SR Year & a1g B | 3fed Bt B

TSR AT ATERIBT del dgeid slld Eﬁlif‘ritzl

3died BAe (@R . am) Jar B Tz
50-53 3
53-56 8
56-59 14
59-62 30
62-65 36
65-68 28
68-T1 16

71 =74 10

T4 =T7 5

¥.2 fofdet 3iihsl A AL AT qaT TgeTb F1d DIoTU :

3 0-10 10-20 20-30 30-40 40-50  50-60
foenfera & J==m 5 7 15 25 20 8
7.3 50 faenfrt o wdten & | ur e @1 ulone 3 UeR 2 |

3 4 5 6 7 8 9

BT Bl HFAT : 8 10 9 6 4 3

179
Iie Foft ety ot 37d 5.16 2 a BT B Bl A IATST |



T.4 15 JSII3NT bl AT 12 & a7 31T 45 FSAT3N BT AT 14 &1 Joft 60 J03tt b A1
hT AT STd B3 |

¥.5 foraet 3ife! A ALBT B AT S BT |
25 15 23 40 27 26 23 26 20 28

U.6 U [daR0T &l ATATed? AT 38.2 T FLBI 41.6 & H[ISH Bl AT A AT BifoTU |
Y.7 AIS B W [ARAT |
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RING MIDWAYS SR. SEC. PUBLIC SCHOOL
Main Najafgarh Road, Vipin Garden, New Delhi-110059
Formative Assessment -ll
Class - XI "

Subject- 31T

PART - B (JiT=ra)

T - 11
9.1 ferafoiaa siiwel & aqele fdacte dem agee faact Iumes ad i |
ot HHAIRT BT daa (S H) -
170, 82, 110, 100, 150, 150, 200, 116, 250
¥.2 HIRIBT BT YT B §U AT {Aacteraan A faactel o o aiforv |

Qe : 0-10 10-20 20-30  30-40 40-50 50-60
3mgic : 15 19 14 20 18 14
7.3 fordet 3ricel & AT B JeRIAT A AT {qaeret S1d Hiow |

ST BT 3B 3-4 4-5 5-6 6-7 7-8 8-9

3Mqict 3 7 22 60 85 32

.4 Terel dTfcTep! &1 ATeles Tadetel SITd b |

10, 12, 14, 16, 18, 22, 24, 26, 28
¥.5 10 faenfelert & e farete sia SIfew |

BHID : 1 2 3 4 5 6 7 8 9 10
37 43 48 65 57 31 60 37 48 78 59
U.6 100 feenfafat @ udtenm & ure febU 1w 3iehl @1 AT fdacter od HifoTT |
37 10-20 20-30 30-40 40-50 50-60 60-70 70-80
80-90
forentet @t 3 : 19 3 2 49 24 2 0
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RING MIDWAYS SR. SEC. PUBLIC SCHOOL
Main Najafgarh Road, Vipin Garden, New Delhi-110059
Formative Assessment -ll
Class - XI "

Subject- 31T

PART - B (JiT=ra)

3T - 12
U1 x AN B y ferafeiierd av el 3 U Ui 30 TelgU qell URuNa o ferafaet Hifom -
X: 4 5 6 7 8 9 10 11 12 13 14 15
y: 78 72 66 60 54 48 42 36 30 24 18 12
.2 Blet UerRe faftr &1 geier dd gU ufd 3R Ul @t 31 &1 Ae-Jde o HifoT -
ufd (3mI): 23 27 28 29 30 31 33 35 36

Ul (3Mg): 18 20 22 27 29 27 29 28 29

.3 U odl giciforar & a1 fororieret o 12 i @t foreet difear yaret @ | el foorierdl 3
fepdt &< O FEaAld TS Sl & ? IOl AS-Jde YN BioTC |

temf: A B C D E F G H I J K L

fofad x: 1 2 3 4 5 6 7 8 9 10 11 12

for®y:12 96 10 3 5 4 7 8 2 11 1

v.4 fererfeilRaa aiws 900 fenffa o fafdreer sy aorf 3 eter a5t SRt & ar 3 2 RE—ddy
IUTIH BT |

3 @t : 15-16 16-117 17-18 18-19 19-20 20-21
BT B JAST : 250 200 150 120 100 80
foraferd Raemst : 200 150 90 48 30 12
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Main Najafgarh Road, Vipin Garden, New Delhi-110059
Formative Assessment - X
Class - XI "

Subject- 31T

Chapter-13
3ntfes ATR=IH!

U.1 2004 Bl AR T Hleld U ;2005 3R 2009 B JTHIH ST BT |
qu: 2004

B (B) 10 14 16 20 22 24

y.2 Foraifciia 3ids! & Pied FERIe a1 & & [0 (1) e Hed 3Heuid (2) 3iFa Ao
31quTa fafer gRT Yadich dIR BITSTT -

12

=0 A B C D E F

2009 A BHAID) 20 30 10 25 40 50

2005 2006 2007 2008 2009

2014 A BHAID) 25 30 15 35 45 55

7.3 fereaiiciiad 3fidbsl & Fe—Idl A 2004 Pl LR T Al §U foidelicnidd I & IR W
BB T BT :

(1) omedter fafér (2) ured fafer (3) Tper fafer

ay C
PAd | AW | PAD | AP | BlAEd PlAd

2004 24 8 9 3 16 10

2014 30 10 10 4 20 9

U.4 foreat 3iisl ¥ Siiaet ferdig cord Jadich A B |
G Pl R
CIFY 241 10
Teret 150 4
Far 200 2
aret 170 2
aa 125 2




U.5 & JABIB BI IMATBAT FT Bl & ?

.6 BIAd JABIG qell A Ydbid H a7 a8 ?




